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�6545=<5 

 

�>FG4?L=>EFL < =4GG=4O 7=4G<<>EFL =4EF>OM57> <EE?54>64=<O 74>?NG45FEO 

6 F><, GF> =4 D>=5 =55?47>?D<OF=OE 6=5L=5M>>=><<G5E><E D4>F>D>6, 

6>7<>6=OE L>>>6OE 6>745=EF6<=, GEG4L5=<O M>>?>7<G5E>>= E<FG4F<<, =4G4?>< 

6>5==>= >?5D4F<< =4 '>D4<=5 < >4> E?54EF6<5 66545=<5 =>6OE >7D4=<G5=<= < 

E4=>F<= ?D>F<6 $>EE<=E>>= $545D4F<< >E>5GN 7=4G<<>EFL 6 >5?4EF< 

>55E?5G5=<O 557>?4E=>EF< ?D<>5D5F45F D476<F<5 >>=>GD5=F>E?>E>5=>EF< 

?D54?D<OF<=.  

�>E?54=OO ?D4>F<G5E>< >F>645EF6?O5FEO E MDD5>F<6=>EFLN ?D><76>4EF64. 

�4 D>=5 G>474==OE ?>E?54EF6<= 6 =4L5= EFD4=5 =4<5>?55 ?>EFD4446L5= O6?O5FEO 

=5DF5747>64O >FD4E?L, F4> >4> =4 DO4 >DG?=5=L<E >D74=<74F<= $>EE<< 5O? 

=4?>65= DO4 >7D4=<G5=<=. � E6O7< E G5< <7GG5=<O < D47D45>F>4 ?>?>65=<= ?> 

?>6OL5=<N >>=>GD5=F>E?>E>5=>EF< =5DF5747>6>= >FD4E?< O6?O5FEO >4=>= <7 

654GM<E 7444G �D46<F5?LEF64 $$. 

�5N5>F <EE?54>64=<O: =5DF5747>6O5 >D74=<74F<< $>EE<=E>>= $545D4F<<: 

�� «%<5=5DF5747», �� «$>E?4= �=F5D=5L=?» < ��� «%565D=5DF5747?D><». 

�D54<5F <EE?54>64=<O: >F5=>4 >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= >4> 

D4>F>D4 >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<.  

&5?L <EE?54>64=<O: D47D45>F>4 <5F>4<G5E><E ?>?>65=<= ?> 

E>65DL5=EF6>64=<N >>=>GD5=F>E?>E>5=>EF< =5DF5747>6>= >FD4E?< 6 F5?OE 

>55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF< >D74=<74F<=. 

�<?>F574 <EE?54>64=<O E>EF><F 6 F><, GF> 4?O ?>6OL5=<O GD>6=O 

M>>=><<G5E>>= 557>?4E=>EF< >D74=<74F<=, =5>5E>4<<>:  

3 ?>6OL4FL GD>65=L >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= 74 EG5F 

<==>64F<>==>= 45OF5?L=>EF<; 

3 GE<?<FL ><55D557>?4E=>EFL >D74=<74F<= =4 D>=5 

6=5L=5M>>=><<G5E><E ?D>5?5<. 
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�?O 4>EF<65=<O ?>EF46?5==>= F5?< =5>5E>4<<> D5L<FL E?54GNM<5 

7444G<: 

3 <7GG<FL F5>D5F<G5E><5 4E?5>FO >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O 

>4> GE?>6<O M>>=><<G5E>>= 557>?4E=>EF<; 

3 6OO6<FL GE?>6<O >55E?5G5=<O >>=>GD5=F>E?>E>5=>EF< 6 >4G5EF65 

D4>F>D4 M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<O; 

3 ?D>65EF< >F5=>G GE?>6<= D>D<<D>64=<O >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6OE >D74=<74F<= >4> <5E4=<7<4 >55E?5G5=<O M>>=><<G5E>>= 

557>?4E=>EF<; 

3 ?D>65EF< M>E?5DF=GN >F5=>G >>=>GD5=F>E?>E>5=>EF< >D74=<74F<=; 

3 D47D45>F4FL <5F>4<G5E><5 ?>?>65=<O ?> E>65DL5=EF6>64=<N 

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6>= >FD4E?< 6 F5?OE >55E?5G5=<O 

M>>=><<G5E>>= 557>?4E=>EF< >D74=<74F<=; 

3 ?D>65EF< >F5=>G M>>=><<G5E>>= MDD5>F<6=>EF< ?D54?>65==OE 

<5D>?D<OF<= ?> E>65DL5=EF6>64=<N >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6>= >FD4E?< 6 F5?OE >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF< 

>D74=<74F<=. 

&5>D5F<>>-<5F>4>?>7<G5E>GN >E=>6G <EE?54>64=<O E>EF46<?<: 

=>D<4F<6=>-?D46>6O5 4>FO �D46<F5?LEF64 $$, FDG4O 654GM<E GG5=OE-

M>>=><<EF>6 6 6>?D>E5 >55E?5G5=<O >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= >4> 

D4>F>D4 >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<. 

�47>6O<< 4?O =4EF>OM57> <EE?54>64=<O O6<?<EL F4>65: =4GG=O5 

?G5?<>4F<<, =>D<4F<6=O5 4>>G<5=FO ?> F5<5 4<EE5DF4F<>==>7> <EE?54>64=<O. 

�5F>4O <EE?54>64=<O: ED46=<F5?L=O= < 4=4?<F<G5E><= <5F>4O, <5F>4 

454G>F<<, E<=F574 < 4=4?<74. 

�?OF=>-M>E?5D<<5=F4?L=4O 5474 ?D54EF46?5=4 D57G?LF4F4<< 45OF5?L=>EF< 

�� «%<5=5DF5747», �� «$>E?4= �=F5D=5L=?» < ��� «%565D=5DF5747?D><». 
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�4GG=4O =>6<7=4 <EE?54>64=<O 74>?NG45FEO 6: 

2 D47D45>F>5 46F>DE>>7> ?>=OF<O >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

>D74=<74F<= E GG5F>< E?5F<D<>< 45OF5?L=>EF<; 

2 D47D45>F>5 EFD4F57<< >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE >D74=<74F<= 

E F5?LN >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<; 

2 D47D45>F>5 EFD4F57<G5E>>= >4DFO >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

>D74=<74F<= E F5?LN >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<. 

&5>D5F<G5E>4O 7=4G<<>EFL <EE?54>64=<O 74>?NG45FEO 6: 

2 E>65DL5=EF6>64=<< GD>6=O >>=>GD5=F>E?>E>5=>EF< >D74=<74F<=; 

2 E>65DL5=EF6>64=<O >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= E GG5F>< 

?>?<F<>< <<?>DF 74<5M5=<O; 

2 GE<?5=<< 45OF5?L=>EF< ����$ =5DF5747>6>= >FD4E?<. 

�D4>F<G5E>4O 7=4G<<>EFL <EE?54>64=<O 74>?NG45FEO 6 F><, GF> 

?D54?>65==O5 46F>D>< D47D45>F>< <>7GF 5OFL <E?>?L7>64=O 6 45OF5?L=>EF< 

654GM<E >D74=<74F<= =5DF5747>6>= >FD4E?<. 

�>EF>65D=>EFL < >5>E=>64==>EFL D57G?LF4F>6 <EE?54>64=<O 

>55E?5G<64?<EL: 

2 5GE74?F5DE>>= >FG5F=>EFLN >D74=<74F<=; 

2 =>D<4F<6=>-?D46>6O<< 4>F4<< $>EE<=E>>= $545D4F<<; 

2 7>4>6O<< >FG5F4<< >D74=<74F<=. 

�<G=>5 GG4EF<5 46F>D4 6 >D74=<74F<< < ?D>6545=<< <EE?54>64=<O E>EF><F 

6 ?>EF4=>6>5 7444G < ?D>6545=<< <EE?54>64=<=, D4EGUF>6 < >5>5M5=<< 

?>?GG5==OE D57G?LF4F>6, D47D45>F>5 <>45?5= < 4?7>D<F<>6 D54?<74F<< 

?>6OL5=<O >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= >4> D4>F>D4 >55E?5G5=<O 

M>>=><<G5E>>= 557>?4E=>EF< =5DF5747>6>= >FD4E?<. 

�?D>54F<O < 6=54D5=<5 D57G?LF4F>6 D45>FO 65?<EL 6 F5G5=<< 6E57> 

<EE?54>64=<O. �7> D57G?LF4FO 4>>?44O64?<EL =4 =4GG=>= >>=D5D5=F<<: 

«�>?>456L. �4G>4. �5M5EF6>». 
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�4 74M<FG 6O=>EOFEO: 

3 46F>DE>>5 ?>=OF<5 >>=>GD5=F>E?>E>5=>EF< =5DF5747>6>= >FD4E?<; 

3 D47D45>F4==4O EFD4F57<O >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

>D74=<74F<= E F5?LN >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<; 

3 D47D45>F4==4O EFD4F57<G5E>4O >4DF4 >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6OE >D74=<74F<= E F5?LN >55E?5G5=<O M>>=><<G5E>>= 

557>?4E=>EF<. 

3 <5E4=<7< >5N54<=5=<O >>=>GD5=F=OE GE<?<= >D74=<74F<= 

=5DF5747>6>= >FD4E?<. 

$45>F4 E>EF><F <7 66545=<O, 3 7?46, 74>?NG5=<O, E>45D6<F 18 D<EG=>>6, 17 

F45?<F, E?<E>> <E?>?L7G5<>= ?<F5D4FGDO (46 <EF>G=<>>6), 1 ?D<?>65=<O. 

�E=>6=>= F5>EF D45>FO <7?>65= =4 90 EFD4=<F4E. 
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1 &5>D5F<G5E><5 4E?5>FO >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O >4> 

GE?>6<O M>>=><<G5E>>= 557>?4E=>EF< 

 

1.1 �>=OF<5 < D4>F>DO >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O 

 

�4 E>6D5<5==>< MF4?5 6 GE?>6<OE 6OE>>>= >>=>GD5=F<<, >464>5 

?D54?D<OF<5 EF4?><645FEO E DO4>< G7D>7 < D<E>>6. � E6O7< E G5<, >55E?5G5=<5 

>>=>GD5=F>E?>E>5=>EF< >D74=<74F<= O6?O5FEO 646=O< 4E?5>F>< GE?5L=>EF< 

E<EF5<O M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<=. �>=>GD5=F>E?>E>5=>EFL 3 

MF> 646=O= ?4D4<5FD G65?<G5=<O ?>FD55<F5?LE>>= 4>?< < EF4=>6?5=<O 

4><<=<D>64=<O ?D54?D<OF<O 6 >FD4E?<, >>F>DO= ?D54?>?4745F E>5>= 

6>7<>6=>EFL >><?4=<< ?D>F<6>45=EF6>64FL 4DG7<< <7D>>4< =4 DO=>5, 

74<=F5D5E>6O64FL < G45D6<64FL ?>>G?4F5?5= ?D< ?>445D6>5 <5=LL57> G<E?4 

D5EGDE>6 [23].  

�OE>><= ?>>474F5?L >>=>GD5=F>E?>E>5=>EF< ?>76>?O5F ?D54?D<OF<N 

E>744FL E<?L=5=L<= < >>=>GD5=F>E?>E>5=O= 5D5=4, 4>EF<GL >>?>EE4?L=OE 

GE?5E>6 6 E6>5= >5?4EF< < ?D>4>?64FL E>65DL5=EF6>64=<5 6 <75D4==>< 

=4?D46?5=<< 45OF5?L=>EF<. $4EE<>FD<< >E=>6=O5 64D<4=FO >?D545?5=<O 

>>=>GD5=F>E?>E>5=>EF< >D74=<74F<< 6 <7GG5==>= ?<F5D4FGD5 ?> 44==>= 

F5<4F<>5 6 E>>F65FEF6<< E F45?<F5= 1. 

%?54G5F ?>4G5D>=GFL, GF> ?D<6545==O5 45D<=<F<< >F?<G4NFEO 6 

746<E<<>EF< >F F>7>, > >4>>= ED5D5 G?D46?5=<O <45F D5GL. &4>65 ?D4>F<G5E>< 6E5 

>?D545?5=<O ?>=OF<O «>>=>GD5=F>E?>E>5=>EFL» 74FD47<64NF F4>>= D4>F>D, >4> 

?D<6?5>4F5?L=>EFL ?D>4G>F<< ?D< ?>?=>< >FEGFEF6<< <=F5D5E4 > >EF4?L=O< 

D4>F>D4< >>=>GD5=F>E?>E>5=>EF<, ?>4D47G<564NM<< <=O5 4>E>4O 

(D<=4=E>6O= 4E?5>F) < >5M5= MDD5>F<6=>EF< >><?4=<<, 6=5 746<E<<>EF< >F 

=5?>ED54EF65==>7> ?D><76>4EF64 F>64D>6 <?< GE?G7. 
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&45?<F4 1 3 �E=>6=O5 >?D545?5=<O >>=>GD5=F>E?>E>5=>EF< 6 FDG44E D47=OE 
46F>D>6 

 

�6F>D �?D545?5=<5 

�5D57>6 �. �. G<5=<5 D>D<<D>64FL ?D56>EE>4EF6> =44 >>=>GD<DGNM<<< 
>><?4=<O<< < F4><< >5D47>< 4>EF<74FL =4<5G5==>= F5?< [14] 

�?4=> �.�.  
>>=>GD5=F=O5 >F=>L5=<O <564G E>7O=EF65==O<< 54<=<F4<<, 
EFD5<OM<<<EO 4>EF<GL >4=>= F5?< E >7D4=<G5==O<< D5EGDE4<< [15] 

�>74?>64 �.$. 
=4?<G<5 >4G5EF6, D>D<<DGNM<E DO4 ?D5<<GM5EF6 ?5D54 4DG7<<< 
>><?4=<O<< 6 GE?>6<OE >>=>GD5=F<< [17] 

�47><54>6 ,.,. <<5NM<5EO < ?>F5=F<4?L=O5 6>7<>6=>EF< >D74=<74F<< 6 
?D>5>F<D>64=<<, ?D><76>4EF65 < E5OF5 6 E?>6<6L5=EO 
M>>=><<G5E>>= E<FG4F<< ?D>4G>F<<, F5=>6O5 < =5F5=>6O5 >4G5EF64 
>>F>D>= O6?ONFEO ?D<6?5>4F5?L=55 ?> ED46=5=<N E ?D>4G>F<5= 
>>=>GD<DGNM<E >><?4=<= [24] 

�?>F><= �.�. >4G5EF6> >F=>E<F5?L=>7> E4D4>F5D4, G>47O64NM55 =4 >F?<G<5 
D476<F<O 44==>7> ?D54?D<OF<O >F >>=>GD<DGNM<E >><?4=<= 6 
>F=>L5=<< G4>6?5F6>D5=<O ?>FD55=>EF5= ?>>G?4F5?5= E6><< F>64D>< 
?<5> GE?G74<< [28] 

�5<GD4 �.�. G<5=<5 MDD5>F<6=> >EGM5EF6?OFL 45OF5?L=>EFL 6 D4<>4E 
>?D545?5==>7> DO=>4 6 GEF4=>6?5==O= ?D><56GF>> 6D5<5=<, 
?D><76>4O < D54?<7GO F>64D [19] 

'5D=>64 �.�.  E>>F65FEF6<5 ?D>4G>F<<, <77>F46?<645<>= ?D54?D<OF<5<, 
FD55>64=<O< DO=>4 < ?>FD55<F5?O 6 G4EF< >4G5EF64, M>>=><<G5E><E, 
F5E=<G5E><E < MEF5F<G5E><E E6>=EF6, 4 F4>65 >><<5DG5E><E < <=OE 
GE?>6<= 55 E5OF4. � G4EF=>EF<, 6 MF< GE?>6<O 6E>4OF EF><<>EFL, ED>> 
?>EF46><, ?D>46<65=<5 F>64D4, >4=4?O E5OF4 < GD>65=L E5D6<E4 [31] 

.44=>6 �. .. EF5?5=L 4>65D<O < 74<=F5D5E>64==>EF< 6 GE?G74E >D74=<74F<< E> 
EF>D>=O DO=>4 FDG44, 4 F4>65 D<=4=E>6>7> < D>=4>6>7> DO=>4. 
�?46=O5 D4>F>DO 6 44==>< E?GG45 3 EF><<>EFL >><?4=<<, 
F5E=<G5E>4O EF>D>=4 ?D<<5=O5<>= >>=F5?F<< <5=546<5=F4, 
G5?>65G5E><5 D5EGDEO, <=65EF<F<>==4O ?>?<F<>4, 4 F4>65 
>E>55==>EF< EFD4F57<G5E>>7> <4D>5F<=74 >E=>6=OE D4>F>D>6 MF>= 
<5DO 6OEFG?4NF [33] 

,4D4DGF4<=>6 $. �. E?>E>5=>EFL > >>=>GD5=F<< E >EF4?L=O<< >D74=<74F<O<<, 
?D<EGFEF6GNM<<< =4 DO=>5 6 44==>5 6D5<O [32] 

.?LG5=>> �.%. G<5=<5 >><?4=<< ?>?L7>64FLEO E6><<< >>=>GD5=F=O<< 
?D5<<GM5EF64<<, GF>5O ?D>F<6>EF>OFL E>?5D=<>4< < 4>EF<74FL, 
F4><< >5D47><, E6>5= F5?< [34] 

 
�O E>7?4E=O E 45D<=<F<5=, >>F>DGN ?D<6>4<F '5D=>64 �.� [31]. �> 55 

<=5=<N, >>=>GD5=F>E?>E>5=>EFL 6>?NG45F 6 E55O 6 ?5D6GN >G5D54L 

>>=>GD5=F=O5 6>7<>6=>EF< >><?4=<<.  
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�>=>GD5=F<O ?D54EF46?O5F E>5>= >4<= <7 >E=>6=OE ?D<=F<?>6 

M>>=><<G5E><E >F=>L5=<=. �5 <>6=> D4EE<4FD<64FL >4> 6<4 >5>N4=>7> 

E>?5D=<G5EF64 GG4EF=<>>6 <4D>5F<=7>6>= E<EF5<O, 4 F4>65 <5E4=<7< 

D57?4<5=F4F<< D54?<7G5<>7> ?D><76>4EF64. $<EG=>> 1 >FD4645F 6<4O 

>>=>GD5=F<<. 

 

 

 

 

 

 

 

$<EG=>> 1 3 �<4O >>=>GD5=F<< 

 
�?O F>7> GF>5O 55 >55E?5G<FL, =5>5E>4<<> >?F<<<7<D>64FL =4 

?D54?D<OF<< G?D46?5=G5E><5 ?D>F5EEO 6 >F=>L5=<< >464>= E>EF46?ONM5= 

>>=>GD5=F>E?>E>5=>EF<. -F> E?>E>5EF6G5F >5D47>64=<N >>=>GD5=F=OE 

?D5<<GM5EF6, F.5. D4>F>D>6, ?>76>?ONM<E >><?4=<< MDD5>F<6=> ?D5>4>?564FL 

446?5=<5 E> EF>D>=O E>?5D=<>>6 [16]. �D< MF>< �. �. �O>>6 7>6>D<F > F><, GF> 

44==>5 ?>=OF<5 O6?O5FEO >F=>E<F5?L=O<.  %F>G>< 7D5=<O 5<7=5E-EFD4F57<< 

F5D<<= «>>=>GD5=F>E?>E>5=O=» ?D<<5=O5FEO >4> D4>F>D GE?5E4 >><?4=<< =4 

DO=>5 < 55 5?47>?>?GG=>= 45OF5?L=>EF<.   &4>65 >>=>GD5=F>E?>E>5=>EFL <>65F 

?D<<5=OFLEO >4> ?>>474F5?L >EGM5EF6?5=<O EFD4F57<G5E>>= F5?< >><?4=<<. 

�D4<>F=4O D54?<74F<< EFD4F57<< ?>76>?O5F ?>6OE<FL >>=>GD5=F>E?>E>5=>EFL 

>><?4=<<.  

�4?<G<5 >L<5>> < =5G44G, 6 E6>N >G5D54L, 5G4GF E?>E>5EF6>64FL 

G<5=LL5=<N >>=>GD5=F>E?>E>5=>EF<. %?54G5F <<5FL 6 6<4G, GF> 

�<4O >>=>GD5=F<< 
 

&5=>64O  

�5F5=>64O  

�=GFD<>FD4E?564O  %>65DL5==4O 

�5E>65DL5==4O �56>FD4E?564O 
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>>=>GD5=F>E?>E>5=>EFL 45<>=EFD<DG5F, >4> D45>F45F >?D545?5==>5 

>>=>GD5=F=>5 ?D5<<GM5EF6>, ?D< E>744=<< >>F>D>7> ?D<<5=O5FEO D5EGDE=O= 

?>F5=F<4? >><?4=<<. �> 57> <=5=<N, >=4 746<E<F >F D4>F>D>6 6=GFD5==57> 

?>DO4>4 < >F E>6>>G?=>7> <<<464 >><?4=<< 6 D47=OE EF>D>=4E 

?D54?D<=<<4F5?LEF64 [22]. � E6O7< E MF<< 465 ?D<6545==O5 45D<=<F<< <>7GF 

<E?>?L7>64FLEO >4> DG=44<5=F 4?O ?>E?54GNM57> <7GG5=<O G?D46?5=<O 

>>=>GD5=F>E?>E>5=>EFLN >><?4=<<. 

�F5=<64O >>=>GD5=F>E?>E>5=>EFL, =5>5E>4<<> ?>?L7>64FLEO >4> 

>4G5EF65==O<<, F4> < >>?<G5EF65==O<< ?>>474F5?O<< >5N5>F4, 4 7=4G<F, 55 

>D<F5D<5< 6OEFG?4NF >>?<G5EF65==O5 < >4G5EF65==O5 E6>=EF64 >F5=<645<>7> 

>5N5>F4.  �4G5EF65==O5 ?>>474F5?< >>=>GD5=F>E?>E>5=>EF< >FD465=O =4 

D<EG=>5 2. &4>65 G<E?5==>EFL E6>=EF6 <>65F EGM5EF65==> D47=<FLEO. �>MF><G 

?4D4<5FDO >>=>GD5=F>E?>E>5=>EF< <>7GF 5OFL >5>5M5==O<<, 7DG??>6O<<, 

>><??5>E=O<<, 54<=<G=O<< < ?D. [28]. �4 >><?4=<N 6>745=EF6GNF, 6 F>< G<E?5, 

D4>F>DO >>=>GD5=F>E?>E>5=>EF<. �=< ?><>74NF D54?<7>64FL 6E5 6>7<>6=>EF< 

>><?4=<<, >5GE?46?<64NF <=EFDG<5=FO < <5F>4O ?D<<5=5=<O D575D64 

>>=>GD5=F>E?>E>5=>EF< [11]. 

 

 

 

 

 

 

 

 

$<EG=>> 2 3 �D<F5D<< >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O 

 

�?4EE<D<>4F<>==O5: =47=4G5=<5, >5?4EFL ?D<<5=5=<O, 
GE?>6<O <E?>?L7>64=<O 

�F5=>G=O5: DG=>F<>=4?L=O5 (MEF5F<G5E><5, 
>D7>=><<G5E><5, =4456=>EF<), D57?4<5=F<DGNM<5 
(M>>?>7<G5E><5, 557>?4E=>EF<, 674<<>74<5=O5<>EF<, 
E>6<5EF<<>EF< 

�4G5EF65==O5 >D<F5D<< >>=>GD5=F>E?>E>5=>EF< 
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 $4EE<>FD<< 7DG??<D>6>G D4>F>D>6 >>=>GD5=F>E?>E>5=>EF<, ?D<6545==GN 

=4 D<EG=>5 3.  

 

 

 

 

 

 

 

 

 
 

 
 

  

$<EG=>> 3 3 �=5L=<5 < 6=GFD5==<5 D4>F>DO >>=>GD5=F>E?>E>5=>EF<  

 
�> <=5=<N �. �>DF5D4, MDD5>F<6=>EFL >>=>GD5=F=>= EFD4F57<< 746<E<F >F 

F>7>, E>45D64FEO ?< 6 =5= E?54GNM<5 11 >><?>=5=F>6 (F45?<F4 2) [35]. 

 
&45?<F4 2 3 �E=>6=O5 >?D545?5=<O MDD5>F<6=>EFL >>=>GD5=F=>= EFD4F57<< 
 

�><?>=5=FO ?> �. �>DF5DG �?D545?5=<5 

%?5F<4?<74F<O >><?4=<< D45>F4 E >>=>D5F=O<< F>64D=O<< ?<=<O<<, >>=>D5F=O< 
>DG7>< ?>>G?4F5?5= < =4 >?D545?5==>= F5DD<F>D<< 

�5OF5?L=>EFL, =4?D46?5==4O =4 F>, 
GF>5O G65?<G<FL <765EF=>EFL < 
G7=4645<>EFL >><?4=<<. 

?D< >EGM5EF6?5=<< 44==>= 45OF5?L=>EF< >><?4=<O 
D54?<7G5F ?D>4G>F<N, ?5D5445F <=D>D<4F<N ?D< 
?><>M< ED54EF6 >><<G=<>4F<<, ?D>6>4<F 
<4D>5F<=7>6O5 <5D>?D<OF<O < ?D. 

$>D<<D>64=<5 E<EF5<O E5OF4 
F>64D4 

>><?4=<O D>D<<DG5F ?DO<>= E5OF ?D><76>4<<>7> 
F>64D4 <?< 74=<<45FEO 4<?5DE><< D4E?D>EFD4=5=<5< 
>?F>6>= <?< D>7=<G=>= ?D>4G>F<< 

�=5L=<5 

�5DO 7>EG44DEF65==>7> 
6>745=EF6<O  

�=GFD5==<5 

�4D>5F<=7>6O5 E?G65O 

�44D>6O=, D<=4=E>6>-
M>>=><<G5E><= ?>F5=F<4? 

�E=>6=O5 E4D4>F5D<EF<>< 
DO=>4, >E>55==>EF< 
45OF5?L=>EF< ?D54?D<OF<O 

�=5L=<5 < 6=GFD5==<5 D4>F>DO >>=>GD5=F>E?>E>5=>EF< 

�4F5D<4?L=>-F5E=<G5E>>5 
>5E?G6<64=<5 



  
 

12 

�D>4>?65=<5 F45?<FO 2 
  

�><?>=5=FO �. �>DF5DG �?D545?5=<5 

$>D<<D>64=<5 ?>?<F<>< 
D4E?D>EFD4=5=<O F>64D4 ?> 
>?F>6O< ?<5> D>7=<G=O< 
>4=4?4< 

>E=>64=<O 4?O 6O5>D4 ?GF< E5OF4, <E >FD4E?56>5 
?D54=47=4G5=<5, ?>DO4>> D54?<74F<< ?D>4G>F4 

$>D<<D>64=<5 ?>?<F<><, 
=4?D46?5==>= =4 >4G5EF6> F>64D4 

GE?>6<O <77>F>6?5=<O ?D>4G>F4, 6O5>D EODLO, 
FD55>64=<O > E?5F<D<>5 F>64D4 < 4>>G<5=F4<, 4 F4>65 
GG5F <=F5D5E4 ?>FD55<F5?O 

&5E=>?>7<G5E>>5 D476<F<5, 
<>45D=<74F<O ?D54?D<OF<O 

E>744=<5 =>6>7> F5E=<G5E>>7> >E=4M5=<O, 57> 
GE>65DL5=EF6>64=<5 

$>D<<D>64=<5 ?>?<F<>< ?> 
<<=<<<74F<< D4EE>4>6. 
$>D<<D>64=<5 ?>?<F<>< 
E>>F=>L5=<O ?>EF>O==OE < 
D4>G?LF4F<6=OE D4EE>4>6 

E>>D4M5=<5 74FD4F =4 E5OF <?< ?D><76>4EF6>  
 

�4?<G<5 6E5E MF4?>6 
?D><76>4EF64 ?D>4G>F<< 6 D4<>4E 
>4=>7> ?D54?D<OF<O. $47D45>F>4 
?>?<F<>< 6 >5?4EF< E5D6<E4 

>><?4=<O ?D54?4745F 4>?>?=<F5?L=O5 GE?G7< > 
>E=>6=><G F>64DG, ?D54>EF46?O5F 6>7<>6=>EFL ?D>446< 
F>64D4 6 >D54<F, >55E?5G<645F F5E=<G5E>>5 
>5E?G6<64=<5, E>7445F E6>N E?G65G ?> D45>F5 E 
?>FD55<F5?O<< 

$47D45>F>4 F5=>6>= ?>?<F<>< 
>><?4=<< 

>><?4=<O >?D545?O5F F5=>6GN ?>7<F<N =4 DO=>5 ?> 
>F=>L5=<N > >>=>GD<DGNM<< >><?4=<O< 

 
�>=>GD5=F=O5 «EFD4F57<< >D74=<74F<= EF4=>6OFEO GE?5L=O<< 6 F>< 

E?GG45, >>744 EFD>OFEO =4 ?D5<<GM5EF64E ?D54?D<OF<O. -F><G E?>E>5EF6GNF 

F4><5 D4>F>DO:  

ý F5>GM<5 D4EE>4O ?D54?D<OF<O =<65, G5< G 57> E>?5D=<>>6;  

ý 6OE>>>5 >4G5EF6> ?D><76545==>7> ?D>4G>F4;  

ý L<D>><= 6O5>D F>64D4 4?O ?>>G?4F5?O;  

ý 6OE>><= GD>65=L >5E?G6<64=<O» [22].  

�>=>GD5=F=4O EFD4F57<O D476<F<O >D74=<74F<< ?>4D47G<5645F 6=54D5=<5 

>4=>= >FD4E?< 6 4DG7GN, >>F>D>5 ?>76>?O5F GE<?<FL ?>7<F<< ?D54?D<OF<O. 

�=4?<7 >>=>GD5=F=OE EFD4F57<= 7>6>D<F > F><, GF> >464>5 ?D54?D<OF<5 4>?6=> 

>?D545?<FL 4?O E55O, 6 >4>>= ED5D5 5<G =5>5E>4<<> ?>?GG<FL ?D5<<GM5EF6>, < 

>4> MF> <>65F 5OFL 4>EF<7=GF>.  �5>5E>4<<> ?>4G5D>=GFL, GF> ?>>474F5?< 
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>>=>GD5=F>E?>E>5=>EF< =5>5E>4<<> <E?>?L7>64FL, 4465 5E?< O6=O5 >>=>GD5=FO 

G >><?4=<< >FEGFEF6GNF. �4?<G<5 E>?5D=<>>6 =5 <7D45F D5L4NM5= D>?<: =4 

E57>4=OL=<= 45=L 6 >4G5EF65 >>=>GD5=F>6 <>7GF 6OEFG?4FL 4>F<6=> <5=ONM<5EO 

6=5L=<5 GE?>6<O, >5GE?46?<64NM<5 ?>6545=<5 ?>>G?4F5?O < 57> <=F5D5EO 6 

>?D545?5==O= 6D5<5==>= ?D><56GF>>. 

&4><< >5D47><, >>=>GD5=F>E?>E>5=>EFL ?D54?D<OF<O O6?O5FEO >4=<< <7 

>?NG56OE D4>F>D>6 >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<=, 

?>76>?ONM<E >55E?5G<64FL M>>=><<G5E>GN MDD5>F<6=>EFL ?D54?D<OF<= < 

D476<F<5 <==>64F<>==>-<=65EF<F<>==>7> >?<<4F4 ?D54?D<OF<=.  

 

1.2 �F5=>4 >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE ?D54?D<OF<= 

 

�4=>= <7 >>=>GD5=F=OE EFD4F57<= D476<F<O >D74=<74F<< <>65F 6OEFG?4FL 

>E6>5=<5 <564G=4D>4=OE DO=>>6. &4>4O 45OF5?L=>EFL ?>76>?O5F G65?<G<FL 

D47<5D ?D><76>4EF64 F>64D>6, <<=<<<7<D>64FL D4EE>4O < <E?>?L7>64FL D5EGDEO 

4DG7<E EFD4=. &4><5 EFD4F57<< <<5NF >7D><=>5 7=4G5=<5 4?O D>D<<D>64=<O 

>E=>6=OE >>=>GD5=F=OE EFD4F57<= =4 >F5G5EF65==OE DO=>4E.  �564G=4D>4=O= 

DO=>> GEF4=46?<645F 6OE>><5 FD55>64=<O > ?D54?D<OF<O<, >>F>DO5 6 =5< 

GG4EF6GNF. �O5>D F4>F<G5E><E 45=EF6<= GE?>6=O5FEO D47=<F5= 6 >G?LFGD4E < 

FD44<F<OE, 64?NF5, =4?>7>>5?>65=<<, 6>E?D<OF<< ?D>4G>F4 <=>EFD4=F4<<. 

�EE>4O <7 MF>7>, >>=>GD5=F=O5 EFD4F57<< EFD>OFEO =4 6O6545=<< =4 DO=>> =>6OE 

<7>5D5F5=<= < ?><E>5 E?>=E<D>64=<O.  �4 GD>6=5 <<D>6>7> DO=>4 <E?>?L7GNFEO 

F4><5 >>=>GD5=F=O5 EFD4F57<< [22]:  

ý 7?>54?L=>5 <E?>?L7>64=<5 <<=<<<74F<< D4EE>4>6 ?D< ?D><76>4EF65 

?D>4G>F4;  

ý ?>445D6>4 >F5G5EF65==>7> ?D><76>4<F5?O ?GF5< ?D54>EF46?5=<O << 

>4=4?>6 E5OF4;  

ý ?>EF46>4 F>64D4 6 D47?<G=O5 EFD4=O E F5?LN D5>?4<<D>64=<O F>D7>6>= 
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<4D>< < >5D5F5=<O 5N EF4FGE4 5D5=44;  

ý 6O5>D >?D545?5==>7> 7>EG44DEF64 4?O >E6>5=<O 57> DO=>4;  

ý ?5D544G4 ?D><76>4EF65==OE ?D46 <=>EFD4==O< ?D54?D<OF<O< =4 

>E=>64=<< ?4DF=5DEF64;  

ý <E?>?L7>64=<5 >DL>D4, >><<5DG5E>>= >>=F5EE<< ?<5> ?5D544G< G4EF< 

E>5EF65==OE DG=>F<= ?D54?D<OF<O.  

&4><< >5D47><, F5>D<O ?D<<5=5=<O >>=>GD5=F=OE EFD4F57<= ?D54EF46?O5F 

L<D>><= 4<4?47>= 4?O >55E?5G5=<O E?>E>5=>EF< >D74=<74F<< E>74464FL 

?D56>EE>4EF6> =44 >>=>GD5=F4<< 4?O 4>EF<65=<O ?>EF46?5==OE F5?5=. �5F 

G=<65DE4?L=>= >>=>GD5=F=>= EFD4F57<<. 'E?5E <>6=> >5D5EF< F>?L>> ?GF5< 

>5N54<=5=<O GE?>6<= >FD4E?< E ?D5<<GM5EF6>< ?D54?D<OF<O < <<5NM<<<EO 

ED54EF64<<. � E>6D5<5==>< <<D5 4?O ?D54?D<OF<= EGM5EF6G5F 5>?LL>= 6O5>D 

EFD4F57<=. �=< <>7GF ?>76>?<FL ?D5>4>?5FL 6E5 FDG4=>EF< < E?>E>5EF6>64FL 

D476<F<N >><?4=<<.  $4EE<>FD<< ?>MF4?=>, <7 G57> E>EF><F < >4> D4EEG<FO645FEO 

>F5=>4 >>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< (GE?G7) 6 F45?<F5 3 [11].  

 

&45?<F4 3 3 -F4?O >F5=>< >>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< (GE?G7) 
 

-F4?O �5D>?D<OF<O 
-F4? 1 <7GG45FEO DO=>>, 57> >E>55==>EF< < 5<>>EFL. �5O74F5?L=> =G6=> GG<FO64FL 

E>F<4?L=>-75>7D4D<G5E><5 < ?>?<F<G5E><5 4E?5>FO 

-F4? 2 ?D>6>4<FEO 4=4?<7 >E=>6=OE >>=>GD5=F>6. $4EE<4FD<645FEO F>, >4> F>D7>6O5 
<4D>< ?D>44NF E6>= F>64D, <7 G57> < >4> 57> ?D><76>4OF, >4> >EGM5EF6?O5FEO 
?D>46<65=<5 < EF<<G?OF<O E5OF4 

-F4? 3 ?D><EE>4<F >><??5>E=>5 <EE?54>64=<5 ?>FD55=>EF5= ?>>G?4F5?5=. 
'G<FO645FEO E57<5=F4F<O DO=>4, E?>E>5O <E?>?L7>64=<O ?>>G?4F5?5< 
?D>4G>F<< (GE?G7), GF> <E ?>5G6445F 57> ?D<>5D5EF<. �4 >E=>65 MF>7> 
6OO6?ONFEO ?D<G<=O, ?> >>F>DO< G >?<5=F>6 D>D<<DGNFEO ?D54?>GF5=<O < 
?>FD55=>EF<, >>F>DO5 =4<<5=55 G4>6?5F6>D5=O 

-F4? 4 >?D545?ONFEO F5E=<G5E><5 < MD7>=><<G5E><5 E6>=EF64 ?D>4G>F<< (GE?G7), 
>>F>DO5 6 44?L=5=L5< 5G4GF >F5=<64FLEO 

-F4? 5 E>5D4==4O <=D>D<4F<O EFDG>FGD<DG5FEO 6 E<EF5<G D4>F>D>6, 6?<ONM<E =4 
E?>E>5=>EFL ?D>4G>F<< (GE?G7) 5OFL >>=>GD5=F=O< 
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�D>4>?65=<5 F45?<FO 3 
 

-F4?O �5D>?D<OF<O 

-F4? 6 =4 ?>E?54=5< MF4?5 =47=4G4NFEO E?>E>5O, 6O5<D45FEO <5F>4<>4 ?D>46<65=<O 
<745?<=. �D><EE>4<F >>?<G5EF65==O= >57>D < E>?>EF46?5=<5 
>>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< (GE?G7) 

 

�> 4?O F>7>, GF>5O >F5=>4 5O?4 GE?5L=>=, 4 D57G?LF4FO 5O?< 5O 

?D<<5=<<O =4 ?D4>F<>5 =5>5E>4<<> 6O5D4FL ?>4E>4OM<= <5F>4.  

%GM5EF6GNM<5 <5F>4O >F5=>< - <=F57D4?L=O5, 7D4D<G5E><5 < 4=4?<F<G5E><5. 

 $4EE<>FD<< <=F57D4?L=O5 <5F>4O, 6 >>F>DOE ?D<<5=ONFEO >>E65==O5 

>5>5M5==O5 ?>>474F5?< ?D54?D<OF<O (F45?<F4 4). 

�> L>4?5, «D47D45>F4==>= �. �=E>DD><, >?D545?<< GD>65=L 

>>=>GD5=F>E?>E>5=>EF< EG5N5>F4 DO=>4: 

2   0 f �>? f0 ,40 2 =5G4>6?5F6>D<F5?L=O= GD>65=L >>=>GD5=F>E?>E>5=>EF<;  

2   0,41f �>? f 0,7 2 G4>6?5F6>D<F5?L=O= GD>65=L >>=>GD5=F>E?>E>5=>EF<;  

2  0,71 f �>? f 0,80 2 E>D>L<= GD>65=L >>=>GD5=F>E?>E>5=>EF<; 

2  0,81 f �>? f 1 2 6OE>><= GD>65=L >>=>GD5=F>E?>E>5=>EF<» [29]. 

 
&45?<F4 4 2 �=F57D4?L=O5 <5F>4O >F5=>< >>=>GD5=F>E?>E>5=>EF< 
 

�4764=<5 
(46F>D) 

<5F>4<>< 

$>D<G?4 4?O D4EG5F4 
>>=>GD5=F>E?>E>5=>EF< 

'E?>6=O5 >5>7=4G5=<O 

�5F>4<>4 
65?4F5?L=>EF< 

� = (41+ 42+ 43+ 44) Ve1Aa1 E 
*52�42 E *53?43 E 54?44 
�E?< 41= 42= 43= 44 , F> 
D>D<G?4 ?D5>5D47G5FEO: 
� = 5V 51 E 52 E 53 E 54 

41, 42, 43, 44 2 >>MDD<F<5=FO 65E><>EF< 
?>>474F5?5= MDD5>F<6=>EF<; 
51, 52, 53, 54 2 G4EF=O5 ?>>474F5?< 
MDD5>F<6=>EF< 45OF5?L=>EF< 
?D54?D<OF<O 

&5?<>>64 �.�. Rij = VA12 + �22 + . . .+  Aij2 
 

Rij 2 GD>65=L >>=>GD5=F>E?>E>5=>EF< 
?D>4G>F<< D4EE<4FD<645<>7> EG5N5>F4 
DO=>4 < 4DG7<E i2OE >>=>GD5=F>6; A1, 
A2, Aij 2 54<=<G=O5 ?>>474F5?< >F5=>< 
>>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< 
D4EE<4FD<645<>7> EG5N5>F4 DO=>4 < 
4DG7<E 4=4?<7<DG5<OE j 2E >>=>GD5=F>6 
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�D>4>?65=<5 F45?<FO 4 
 

�4764=<5 
(46F>D) 

<5F>4<>< 

$>D<G?4 4?O D4EG5F4 
     >>=>GD5=F>E?>E>5=>EF< 

'E?>6=O5 >5>7=4G5=<O 

�5F>4<>4 4$ �>D7 = $1 + $2 + $3 + $4 $1 2 ED.54?L=4O >F5=>4 M>E?5DF>6 
?>>474F5?O Produkt (F>64D); $2 2 54?L=4O 
>F5=>4 M>E?5DF>6 ?>>474F5?O Price 
(F5=4), $3 2 ED.54?L=4O >F5=>4 M>E?5DF>6 
?>>474F5?O Place (D57<>= < >4=4?O 
E5OF4), $4 2 ED. 54?L=4O >F5=>4 
M>E?5DF>6 ?>>474F5?O (?D>46<65=<5 =4 
DO=>5) 

 

�D>4=4?<7<DG5< ?D5<<GM5EF64 < =54>EF4F>< <=F57D4?L=OE <5F>4>6 

D4EG5F4 >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O (F45?<F4 5) [16]. 

 

&45?<F4 5 2 �D5<<GM5EF64 < =54>EF4F>< <=F57D4?L=OE <5F>4>6 >F5=>< 
 

�4764=<5  
<5F>4<>< 

�D5<<GM5EF64 �54>EF4F>< 

�5F>4<>4 
65?4F5?L=>EF< 

5OEFD>F4 D4EG5F>6 E?>6=>EFL D4EG5F4 
>>MDD<F<5=F>6  

�5F>4<>4 
MDD5>F<6=>= 
>>=>GD5=F<< 

>><??5>E=O= 4=4?<7 45OF5?L=>EF< ?D54?D<OF<O 
?> =5E>>?L><< =4?D46?5=<O< 
 

<=>65EF6> D4EG5F>6 

�5F>4<>4 4$ <E?>?L7>64=<5 ?57>>4>EFG?=>= <=D>D<4F<< 6 D4EG5F4E =5 
>F5=<645FEO 
D<=4=E>6>5 
E>EF>O=<5  

&5?<>>64 �.�. >F5=>4 >>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< 
?D54?D<OF<O  

5OEFD>F4 D4EG5F>6 

 

$4EE<>FD<< 7D4D<G5E><5 <5F>4O >F5=>< >>=>GD5=F>E?>E>5=>EF<. 

�4<5>?55 G4EF> <E?>?L7G5<O<< ED54< =<E 6 =4EF>OM55 6D5<O O6?ONFEO 

«<=>7>G7>?L=<> >>=>GD5=F>E?>E>5=>EF<» < «D444D >>=>GD5=F>E?>E>5=>EF<» 

(F45?<F4 6) [28]. 
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&45?<F4 6 2 �D4D<G5E><5 <5F>4O >F5=>< >>=>GD5=F>E?>E>5=>EF< 
 

�4764=<5 �?<E4=<5 <5F>44 �D5<<GM5EF64 
�=>7>G7>?L=<> 
>>=>GD5=F>E?>E>
5=>EF< 

D4EGUF ?> D>D<G?4<: I= Sp/S, K=I0/I���, 745 
I 2 >D<F5D<= 
>>=>GD5=F>E?>E>5=>EF<;  
Sp 2 ??>M44L D444D4, <<2, E>>F65FEF6GNM57> 
>?D545?5==>= F>64D=>= <4D>5;  
S 2 >5M4O ??>M44L >F5=>G=>7> >DG74, D46=4O 
S=3,14r2;  
� 2 GD>65=L 
>>=>GD5=F>E?>E>5=>EF<;  
I0 3 >D<F5D<= >>=>GD5=F>E?>E>5=>EF< 
>F5=<645<>7> ?D54?D<OF<O;  
I��� 2 >D<F5D<= 
>>=>GD5=F>E?>E>5=>EF< 

<<=<<4?L=>EFL 74FD4F, 
?>76>?O5F ?D><76>4<FL 
>F5=>G 6 4<=4<<>5, 
>FEGFEF6<5 
EG5N5>F<6=>7> ?>4E>44, 
GF> ?>76>?O5F GEFD4=<FL 
?>7D5L=>EF< ?D< 
D4EG5F4E 
 

$444D 
>>=>GD5=F>E?>E>
5=>EF< 

7D4D<G5E><= <5F>4 ?>EFD>5=<O >4DFO 
>>=>GD5=F>E?>E>5=>EF<, ?>76>?ONM<= 
>?D545?<FL >5>5M5==O= ?>>474F5?L 
>>=>GD5=F>E?>E>5=>EF< >464>7> ?D>4G>F4 ?> 
ED46=5=<N E MF4?>=><, D4EEG<F46 >F=>L5=<5 
??>M44< E>>F65FEF6GNM57> 5<G 
<=>7>G7>?L=<>4 > ??>M44< >F5=>G=>7> >DG74 

?D< <E?>?L7>64=<< 
44==>7> <5F>44 =5F 
EG5N5>F<6=>7> ?>4E>44, 
GF> 6 E6>N >G5D54L 
?>76>?O5F GEFD4=<FL 
?>7D5L=>EF< ?D< 
>EGM5EF6?5=<< D4EG5F>6 

 

«�54>EF4F>4<< 44==OE <5F>4<> O6?O5FEO >FEGFEF6<5 ?D>7=>7=>= 

<=D>D<4F<< >F=>E<F5?L=> F>7>, 6 >4>>= <5D5 F4 <?< <=4O D<D<4->>=>GD5=F 6 

E>EF>O=<< G?GGL<FL E6>N 45OF5?L=>EFL» [21]. 

«$4EE<4FD<64O 4=4?<F<G5E><5 <5F>4O, <>6=> 6O45?<FL <5F>4 D5=F<=7>6>= 

>F5=><, >F5=>G =4 >E=>65 4>?< DO=>4 < >F5=>G =4 >E=>65 ?>FD55<F5?LE>>= 

EF><<>EF< (F45?<F4 7)» [23]. 

 
&45?<F4 7 2 �=4?<F<G5E><5 <5F>4O >F5=>< >>=>GD5=F>E?>E>5=>EF< 
 

�4764=<5 <5F>4<>< $>D<G?4 4?O 
D4EG5F4 'E?>6=O5 >5>7=4G5=<O 

$5=F<=7>64O >F5=>4 &� = Zi(Mi * Bi) &� 2 <F>7>6O= 54??;  
Mi 2 54?? ?D54?D<OF<O ?> i2<G ?>>474F5?N;  
Bi 2 65E i2ro ?>>474F5?O;  
Zi (Mi * Bi) 2 EG<<4 ?D><76545=<= 54??>6 
>F45?L=OE ?>>474F5?5= D5=F<=7>6>= 
>F5=>< < <E 65E>6 
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�D>4>?65=<5 F45?<FO 7 
 

�4764=<5 <5F>4<>< 
$>D<G?4 4?O 

D4EG5F4 
'E?>6=O5 >5>7=4G5=<O 

�F5=>4 =4 >E=>65 4>?< 
DO=>4 

MS = RC/TC MS2DO=>G=4O 4>?O ?D54?D<OF<O;  
RC 2 D>7=<G=O= F>64D>>5>D>F;  
TC 2 >5M<= F>64D>>5>D>F =4 DO=>5 

 

�5F>4 «D5=F<=7>6>= >F5=>< <E?>?L7G5FEO ?D< F5?56>< ED46=5=<< 

?D54?D<OF<=. �D< E>EF46?5=<< D5=F<=74 ?D54?D<OF<O <E?>?L7G5FEO E?>E>5 

?4D4<5FD<G5E>>7> 4=4?<74, >4=4>> 6O6>4O 45?4NFEO =4 5475 <E >>?<G5EF65==>7> 

ED46=5=<O, F.5. =4 >E=>65 6O5D4==OE >>MDD<F<5=F>6 < <E 65E>6, D4EEF46?O5FEO 

E>6>>G?=4O 54??L=4O >F5=>4 ?D54?D<OF<O, O6?ONM4OEO 547>= 4?O >?D545?5=<O 

<F>7>6>7> <5EF4 ?D54?D<OF<O 6 D5=F<=75.  �54>EF4F>>< 44==>7> <5F>44 O6?O5FEO 

<E?>?L7>64=<5 F>?L>> M>E?5DF=OE >F5=>>, GF> =5 ?>76>?O5F ?>?GG<FL 

>5N5>F<6=GN >F5=>G» [19]. 

�5F>4 >F5=>< =4 >E=>65 4>?< DO=>4 6OO6?O5F >><?4=<<, >>F>DO5 O6?ONFEO 

4GFE4=45D4<<, <<5NF E?45GN DO=>G=GN ?>7<F<N, <<5NF E<?L=GN DO=>G=GN 

?>7<F<N < F.4., 4 <5F>4 4<=4<<>< DO=>G=>= 4>?< 6OO6?O5F >><?4=<<, GLO 

DO=>G=4O ?>7<F<O D4EF5F 5OEFD>, GLO DO=>G=4O ?>7<F<O D4EF5F <54?5==> < F.4. 

�5D5>D5EF=4O >?4EE<D<>4F<O >><?4=<= ?> 4>?5 DO=>4 < 4<=4<<>5 4>?< DO=>4 

E>7445F >4DFG >>=>GD5=F<< =4 DO=>5. %GM5EF65==O5 =54>EF4F>< 4=4?<F<G5E><E 

<5F>4>6 >F5=>< >D74=<74F<>==>= >>=>GD5=F>E?>E>5=>EF< >7=4G4NF, GF> E4<< ?> 

E555 MF< <5F>4O =5 ?>4E>4OF 4?O >4G5EF65==>= >F5=><.  $5>><5=4G5FEO 

<E?>?L7>64FL <E 6 4>?>?=5=<5 > <=F57D<D>64==O< <?< 7D4D<G5E><< <5F>44<. 

� 74>?NG5=<5 <>6=> E>474FL, GF> >>=>GD5=F>E?>E>5=>EFL >D74=<74F<< 2 

MF> E?>E>5=>EFL ?D>45<>=EFD<D>64FL G=<>4?L=>5 ?D5<<GM5EF6> 6 E6>5= 

?D>4G>F<< ?> ED46=5=<N E 4DG7<<< >D74=<74F<O<< 6 >?D545?5==>= >5?4EF<.  

�OE>>4O >>=>GD5=F>E?>E>5=>EFL ?>445D6<645FEO 74 EG5F <E?>?L7>64=<O 

<4D>5F<=7>6OE GE?G7, E>D>L57> >4G5EF64, D47G<=OE F5= < >><?5F5=F=OE 
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E>FDG4=<>>6.  �OE>><= GD>65=L >>=>GD5=F>E?>E>5=>EF< >D74=<74F<< 

E6<45F5?LEF6G5F > 55 GEF>=G<6>EF< < E?>E>5=>EF< MDD5>F<6=> <E?>?L7>64FL E6>= 

?>F5=F<4?. 

 

1.3 $>D<<D>64=<5 GE?>6<= >55E?5G5=<O >>=>GD5=F>E?>E>5=>EF< 6 

>4G5EF65 D4>F>D4 M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<O 

 

�>=>GD5=F>E?>E>5=>EFL, «D<E>< < M>>=><<G5E>4O 557>?4E=>EFL =4E>4OFEO 

4DG7 E 4DG7>< 6 E?54GNM<E 674<<>E6O7OE:  

ý >?D545?ONM5= E>EF46?ONM5= M>>=><<G5E>>= 557>?4E=>EF< O6?O5FEO 

>>=>GD5=F>E?>E>5=>EFL ?D54?D<OF<O.  

ý D<E>< >5N5>F<6=> <<<4=5=F=> ?D<EGM< M>>=><<>5, ?D5645 6E57>, 

?D54?D<=<<4F5?LE>>= 45OF5?L=>EF<;  

ý 445>64F=>5 G?D46?5=<5 D<E>4<< E?G6<F ED54EF6>< >55E?5G5=<O 

M>>=><<G5E>>= 557>?4E=>EF<;  

ý GFD4F4 >>=>GD5=F>E?>E>5=>EF< < >>=>GD5=F=OE ?D5<<GM5EF6 

=5<7556=> ?D<6>4<F > =4DGL5=<N M>>=><<G5E>>= 557>?4E=>EF< 

?D54?D<OF<O;  

ý >>=>GD5=F>E?>E>5=>EFL < M>>=><<G5E>4O 557>?4E=>EFL =4 <4>D>- < 

<<>D>GD>6=OE =4E>4OFEO 6 =5?>ED54EF65==>= 674<<>E6O7<: 

>>=>GD5=F>E?>E>5=>EFL 46F><4F<G5E>< >55E?5G<645F M>>=><<G5E>GN 

557>?4E=>EFL» [26].  

�74<<>E6O7< «>>=>GD5=F>E?>E>5=>EF< < M>>=><<G5E>>= 557>?4E=>EF< 

<??NEFD<DGNFEO EE5<>= (D<EG=>> 4). �4> ?>>47O645F 44==4O EE5<4 4?O 

4>EF<65=<O E6>5= M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<5, ?D5645 6E57>, 

4>?6=> =4D4M<64FL E6>< >>=>GD5=F=O5 ?D5<<GM5EF64 ?D< ?>?=>= 

=5=FD4?<74F<< 6>7<>6=OE D<E>>6» [25]. 



  
 

20 

�>EG44DEF65==>5 «D57G?<D>64=<5 >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= 3 

E<EF5<4 <5D 74>>=>44F5?L=>7>, <E?>?=<F5?L=>7> < >>=FD>?<DGNM57> E4D4>F5D4, 

>EGM5EF6?O5<OE ?D46><>G=O<< 7>EG44DEF65==O<< GGD5645=<O<< < 

>5M5EF65==O<< >D74=<74F<O<< 6 F5?OE, >?D545?5==OE 7>EG44DEF65==>= 

?>?<F<>>=. � M>>=><<>5 D<E>< ?> E6>5= EGM=>EF< ?D54EF46?ONF E>5>= 

>5N5>F<6=GN >4F57>D<N < E4D4>F5D<7GNFEO 65D>OF=>EFLN <E ?D>O6?5=<O 6 6<45 

D<E>>6OE E>5OF<= (E?GG456). � ?>6E54=56=>= ?D><76>4EF65==>-M>>=><<G5E>>= 

45OF5?L=>EF< 3 5?47>44DO G?D46?5=<N 3 65?<G<=4 65D>OF=>EF5= D<E>>6 

=4E>4<FEO =4 4>?GEF<<>< GD>6=5» [22].  

 

 
$<EG=>> 4 2 %E5<4 674<<>E6O7< >>=>GD5=F>E?>E>5=>EF< < M>>=><<G5E>>= 

557>?4E=>EF< ?D54?D<OF<O 
 

->>=><<>4 

�>=>GD5=F=4O ED544 

�D54?D<OF<5 

�>=>GD5=F=O5 
?D5<<GM5EF64 

�>=>GD5=F>E?>E>5=>EFL 

->>=><<G5E>4O 
557>?4E=>EFL 

%5OF �>E>4 

-DD5>F<6=>EFL 
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�D56OL5=<5 «G>474==>7> GD>6=O D<E>< FD4=ED>D<<DGNFEO 6 >?4E=>EF< 

<?< G7D>7O =>D<4?L=><G DG=>F<>=<D>64=<N 44==>= E<EF5<5. �>=>GD5=F<O 6 

M>>=><<>5 <7D45F ?>?>6<F5?L=GN D>?L: E?>E>5EF6G5F 6OD45>F>5 >?F<<4?L=OE 

G?D46?5=G5E><E D5L5=<=, EF<<G?<DG5F <==>64F<>==GN 4>F<6=>EFL 

?D54?D<OF<=» [20]. 

�<5==> «?>MF><G 7>EG44DEF6> ?>445D6<645F M>>=><<>G 6 >>=>GD5=F=>< 

E>EF>O=<<, <E?>?L7GO 4=F<<>=>?>?L=>5 74>>=>44F5?LEF6>. �D>5?5<4 

74>?NG45FEO 6 445>64F=>< <E?>?L7>64=<< >>=>GD5=F<<. �OD45>F>4 

G?D46?5=G5E><E D5L5=<= 6 ?D><76>4EF65==>-M>>=><<G5E>>= 45OF5?L=>EF< 

FD55G5F ?>EF>O==>7> >FE?56<64=<O >>=>GD5=F=>= ED54O. �<47=>EF<>4 

>>=>GD5=F<< O6?O5FEO G4EFLN <5=546<5=F4 6 E<EF5<5 M>>=><<G5E>>= 

557>?4E=>EF<. �4=>6D5<5==> E?54G5F >F5=<64FL 45OF5?L=>EFL >E=>6=OE 

>>=>GD5=F>6: 6OO6?OFL <E E?45O5 EF>D>=O < =5D4F<>=4?L=O5 D5L5=<O, 

GG<FO64FL <E >L<5>< < ?D><4E<, 4=4?<7<D>64FL 4>EF<65=<O < GE?5E<» [21].  

->>=><<G5E>4O 557>?4E=>EFL «?>445D6<645FEO =4 FD55G5<>< GD>6=5 

5?47>44DO 7D4<>F=><G <5=546<5=FG, >>F>DO= 4>?65= 6>?NG4FL 65EL =4GG=O= 

4??4D4F M>>=><<>< < >D74=<74F<< ?D><76>4EF64, >E>5>5 6=<<4=<5 E?54G5F 

G45?OFL D<E>-<5=546<5=FG.  �E5 F5>D5F<G5E><5 < ?D<>?44=O5 =4GG=O5 

<EE?54>64=<O ?> M>>=><<>5 EF46OF E6>5= F5?LN ?>?GG5=<5 MDD5>F<6=OE 

D57G?LF4F>6 4?O >>=>GD5=F>E?>E>5=>EF<, 4 6<5EF5 E MF<< < 4?O >55E?5G5=<O 

M>>=><<G5E>>= 557>?4E=>EF<» [18].  � «=5>>F>DO< F4><< D57G?LF4F4< E?54G5F 

>F=5EF<:  

3 D4F<>=4?L=>5 <E?>?L7>64=<5 < M>>=><<O D5EGDE>6 3 FDG4>6OE < 

<4F5D<4?L=OE;  

3 GE>>D5=<5 ?>7DG7>G=>-D477DG7>G=OE D45>F E F5?LN M>>=><<< 

EF>O=>G=>7> 6D5<5=< FD4=E?>DF=OE ED54EF6;  

3 ?>6OL5=<5 >?5D4F<6=>EF< ?D<=OF<O G?D46?5=G5E><E D5L5=<= E 

?><>MLN F<DD>6OE F5E=>?>7<=;  
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3 D4F<>=4?<74F<O E>7O=EF65==OE E6O75= <564G ?D54?D<OF<O<<;  

3 <<=<<<74F<O <?< =5=FD4?<74F<O ?D54?D<=<<4F5?LE><E D<E>>6 < 

M>>=><<G5E><E >?4E=>EF5=;  

3 D4EL<D5=<5 =><5=>?4FGDO E>?GFEF6GNM<E GE?G7 ?D< ?>EF46>4E 

?D>4G>F<<;  

3 E>65DL5=EF6>64=<5 >D74=<74F<< FDG44 < ?D><76>4EF64;  

3 ?>?=>5 <E?>?L7>64=<5 < E>65DL5=EF6>64=<5 >><?LNF5D=OE 

F5E=>?>7<= 6 >5M5= E<EF5<5 F<DD>6<74F<< M>>=><<><;  

3 D476<F<5 6=5L=5M>>=><<G5E>>= 45OF5?L=>EF< < <564G=4D>4=>7> 

D4745?5=<O FDG44;  

3 <>=<F>D<=7 6<7=5==OE F<>?>6 6E5E E>EF46?ONM<E ?D><76>4EF65==>-

>><<5DG5E>>= 45OF5?L=>EF< E F5?LN E6>56D5<5==>7> 6=54D5=<O 

<==>64F<>==OE <5D>?D<OF<=» [14].  

�4=4>> «E?54G5F =5 F>?L>> >55E?5G<64FL >>=>GD5=F>E?>E>5=>EFL 

?D54?D<OF<O, => < MDD5>F<6=> 74M<M4FL 746>564==O5 DO=>G=O5 ?>7<F<<. � 

>E=>6=O< E?>E>54< 74M<FO DO=>G=>= ?>7<F<< 5<7=5E4 >F=>EOFEO: 6=54D5=<5 

=>6OE <4D>5F<=7>6OE ?D>7D4<<, D476<F<5 >>=>GD5=F=OE ?D5<<GM5EF6, 74M<F4 

5D5=44.  &4><< >5D47><, >>=>GD5=F>E?>E>5=>EFL 6OEFG?45F >4=<< <7 

?D<>D<F5F=OE D4>F>D>6, 6?<ONM<E =4 M>>=><<G5E>GN 557>?4E=>EFL 

?D54?D<OF<O. �46=> G<5FL <E?>?L7>64FL <<5NM<=EO 4DE5=4? DG=>F<>=4?L=OE 

E>EF46?ONM<E D45>FO ?D54?D<OF<O.  �D< MF>< >55E?5G5=<5 6OE>>>7> GD>6=O 

>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O 4>?6=> >EGM5EF6?OFLEO 6> 6E5E ED5D4E < 

4E?5>F4E 57> 45OF5?L=>EF< E GG5F>< >5M5= =4?D46?5==>EF< =4 4>EF<65=<5 <E 

<4>E<<4?L=>= 557>?4E=>EF<» [32]. 

�EE>4O <7 ?D54<5F4 <EE?54>64=<O <47<EF5DE>>= 4<EE5DF4F<<, ?>7<G=> 

D4EE<>FD5FL >>=>GD5=F>E?>E>5=>EFL, 4?O ?>6OL5=<O >>F>D>= <E?>?L7GNFEO 

E>6D5<5==O5 <5F>4O, ?>4D47G<564NM<5 <E?>?L7>64=<5 <==>64F<>==OE 
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EFD4F57<=. �>4 <==>64F<>==>= EFD4F57<5=, 6 E6>N >G5D54L, E?54G5F ?>=<<4FL 

6O5D4==O5 =4?D46?5=<O >5=>6?5=<O F>64D4, F5E=>?>7<<, D>D<O < ED54EF6 

G?D46?5=<O, >>F>DO5 ?>76>?ONF ?>445D6<64FL >>=>GD5=F>E?>E>5=>EFL =4 DO=>5 

[36]. �==>64F<>==O5 EFD4F57<< 6>?NG4NF 6 E55O <==>64F<>==GN 45OF5?L=>EFL 

?D54?D<OF<O, =4?D46?5==GN =4 F>, GF>5O ?>?GG<FL =>6GN ?D>4G>F<N, 

F5E=>?>7<< < GE?G7<; <E?>?L7>64=<5 E>6D5<5==OE <5F>4<> 6 ����$, 

?D><76>4EF65==>< ?D>F5EE5, ED5D4E <4D>5F<=74 < G?D46?5=<O; ?5D5E>4 =4 

E>6D5<5==O5 >D74=<74F<>==O5 EFDG>FGDO; <E?>?L7>64=<5 E>6D5<5==OE 6<4>6 

D5EGDE>6, 4 F4>65 =>6O5 ?>4E>4O > ?>?L7>64=<N FD44<F<>==O<< D5EGDE4<<. 

� =4GG=OE <EF>G=<>4E [20-25] ?D<6>4<FEO E?54GNM4O 45D<=<F<O 

<==>64F<>==OE EFD4F57<=. �=< D>D<<DGNF =4<5>?55 E?>6=O5 GE?>6<O, 

>55E?5G<64NM<5 >>D?>D4F<6=>5 < ?D>5>F=>5 G?D46?5=<5. -F< GE?>6<O 

74>?NG4NFEO 6 E?54GNM5< (D<EG=>> 5). 

 
 

 

 

 

 

 

 

 

 

 

 
$<EG=>> 5 3 'E?>6<O, >55E?5G<64NM<5 >>D?>D4F<6=>5 < ?D>5>F=>5 G?D46?5=<5 

 
�D< MF>< E?54G5F E>G5F4FL <7<5=5=<O EFD4F57<G5E>>7> E4D4>F5D4 < 

EF45<?L=O5 F5>GM<5 ?D>F5EEO ?D><76>4EF64. &4>65 =5>5E>4<<> E>G5F4FL 

'E?>6<O, >55E?5G<64NM<5 >>D?>D4F<6=>5, 
D<D<5==>5 < ?D>5>F=>5 G?D46?5=<5 

G65?<G<645FEO 
EF5?5=L 

=5>?D545?5==>EF< 
D57G?LF4F4 

6>7D4EF4NF 
<=65EF<F<>==O5 D<E>< 

?D>5>F>6 

=4 ?D54?D<OF<< 
?D>6>4<FEO 

<==>64F<>==4O 
D5EFDG>FGD<74F<O, 74 EG5F 

G57> 4>F<6<7<DG5FEO 
?>F>> <7<5=5=<= 

 

�5D<=<F<O <==>64F<>==OE EFD4F57<= 
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<=F5D5EO < E>7?4E>6O64FL D5L5=<O 6E5E ED5D <5=546<5=F4, 6>?NG4O 

<4D>5F<=7>6O=, ?D><76>4EF65==O=, D<=4=E>6O=, =4GG=>-F5E=<G5E><= < 

EFD4F57<G5E><= <5=546<5=F. 

�4EFG?4F5?L=>= <==>64F<>==>= EFD4F57<< E6>=EF65=5= ?>6OL5==O= 

GD>65=L D<E>4 < 5>?LL4O MDD5>F<6=>EFL. �5 F5?L E>EF><F 6 F><, GF>5O 

6OD45>F4FL 4>FG4?L=O5 F5E=>?>7<G5E><5 D5L5=<O < 6>??>F<FL EFD4F57<N D>EF4 6 

6<45 4<65DE<D<>4F<< < <=F5=E<D<>4F<< DO=>4. �4EFG?4F5?L=4O EFD4F57<O 

?>4D47G<5645F =5>5E>4<<>EFL >D<5=F<D>64FLEO =4 <EE?54>64=<O, 6 F>< G<E?5 

DG=44<5=F4?L=O5 <EE?54>64F5?LE><5 D47D45>F><, < ?D< MF>< <E?>?L7>64FL 

<==>64F<>==O5 F5E=>?>7<<. �?O D54?<74F<< 44==>= EFD4F57<< =5>5E>4<<>, 

GF>5O =>6L5EF64 D47D454FO64?<EL 6OE>>>>64?<D<F<D>64==O<< E?5F<4?<EF4<<, 

>>F>DO5 E?>E>5=O >?5D4F<6=> <E D54?<7>64FL < ?D< MF>< ?D>7=>7<D>64FL 

?>FD55=>EF< DO=>4. �4==GN EFD4F57<N <E?>?L7GNF >DG?=O5 >D74=<74F<< < 

>><?4=<< 6 E?GG45, 5E?< =4 DO=>5 ?<4<DG5F =5E>>?L>> >D74=<74F<= < ?D< MF>< 

<<55FEO E?45O= ?<45D. �4=4>> MFG EFD4F57<N <>7GF 6>??>F<FL < =5>DG?=O5 

>D74=<74F<<, 7?46=O< >5D47>< <==>64F<>==O5, 5E?< >=< =4?D46?ONF E6>< 

GE<?<O =4 D54?<74F<N >4=>7>-46GE <==>64F<>==OE ?D>5>F4E [15]. 

�4M<F=>=, <?< >5>D>=<F5?L=>=, EFD4F57<< E6>=EF65=5= =55>?LL>= 

GD>65=L D<E>4 < 4>6>?L=> 6OE>><= GD>65=L F5E=<G5E><E D47D45>F>> (?D>5>F=>-

>>=EFDG>F>DE>>7> < F5E=>?>7<G5E>>7> E4D4>F5D4), 4 F4>65 <<5NM4OEO 

746>564==4O 4>?O =4 DO=>5. �4==4O EFD4F57<O =4?D46?5=4 =4 F>, GF>5O >><?4=<O 

E>ED4=<?4 E6>< ?>7<F<< =4 DO=>5 < ?D54?4745F =5E>>?L>> EFD4F57<G5E><E 

4?LF5D=4F<6. �D5645 6E57>, MF> ?D<<5=5=<5 F5E=>?>7<G5E><E D5L5=<=, 

?>76>?ONM<E ?>445D6<64FL 6<7=5==O= F<>? ?D><76>4<<>7> F>64D4, 4 F4>65 

GEF4=>6?5=<5 F5E=>?>7<< >EGM5EF6?5=<O >>=>GD5=F=>= 5>DL5O. �4==GN 

EFD4F57<N ?D<<5=ONF >D74=<74F<<, >>F>DO5 E?>E>5=O <76?5>4FL ?D<5O?L, 

=567<D4O =4 ?>6OL5==GN >>=>GD5=F<N. �?O F>7> GF>5O >5D5EF< F4>GN 

E?>E>5=>EFL, >=< 4>?6=O 746>564FL EGM5EF65==GN 4>?N =4 DO=>5 < 
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?>445D6<64FL >?D545?5==O= =>D<4F<6 ?D<5O?<, E>>D4M4O ?D><76>4EF65==O5 

74FD4FO, 5E?< >>=>GD5=FO >>47O64NF 446?5=<5 =4 EF><<>EFL ?D><76>4<<>= 

?D>4G>F<<. �>4>5=4O EFD4F57<O <>65F <E?>?L7>64FLEO >D74=<74F<O<<, >>F>DO5 

5>?55 E<?L=O 6 F4><E 6>?D>E4E, >4> ?D><76>4EF6> < <4D>5F<=7, =565?< ����$ 

[20]. 

%FD4F57<< D54?<74F<< ����$ ?>4D47G<564NF, GF> >D74=<74F<O 

74=<<45FEO <EE?54>64=<O<< < D47D45>F>4<<. �=< >5GE?46?<64NF E?5F<D<>G 

74<<EF6>64=<O <45=, >4?<F4?>6?>65=<= ����$, <E E6O7< E G65 <<5NM<<<EO 

D47=>6<4=>EFO<< F>64D4 < ?D><76>4EF65==O<< ?D>F5EE4<<. %N44 6E>4OF, 6 

G4EF=>EF<, ?<F5=7<>==4O EFD4F57<O, EFD4F57<O <EE?54>64F5?LE>>7> ?<45DEF64 (55 

F5?L 3 >55E?5G<F 4?<F5?L=>5 =4E>645=<5 >D74=<74F<< =4 ?<4<DGNM<E ?>7<F<OE 

6 ED5D5 >>=>D5F=OE ����$). �> 4?O MF>= EFD4F57<< FD55GNFEO D57G?OD=O5 

>4?<F4?>6?>65=<O, GF> >>47O645FEO =56>7<>6=O< 4?O 5>?LL<=EF64 

>F5G5EF65==OE >D74=<74F<= =4 E57>4=OL=<= 45=L, >>744 D<=4=E>6OE ED54EF6 

>4F4EFD>D<G5E>< =5 E64F45F. &4>65 EN44 6E>4<F EFD4F57<O E>5?N45=<O 

6<7=5==>7> F<>?4 (F> 5EFL ����$ =5D47DO6=> E6O74=O E F<>?>< 6<7=< 

?D><76>4<<>7> F>64D4 < ?D>F5EE>6, <E?>?L7G5<OE >D74=<74F<5=). �4==4O 

EFD4F57<O 445F 6>7<>6=>EFL =4>>??5=<O D57G?LF4F>6 ����$, >>F>DO5 <>7GF 

?>76>?<FL 74<5M4FL 6O5O64NM<5 F>64DO < ?D>F5EEO. %N44 >F=>E<FEO < 

EFD4F57<O >4=>6D5<5==>= D47D45>F><, >>F>D4O ?>4D47G<5645F, GF> >><?4=<O 

4>?6=4 ?D<>5D5EF< F5E=>?>7<G5E>GN ?<F5=7<N =4 7>F>6O5 F>64DO <?< 

?D>F5EEO. -F4 45OF5?L=>EFL =4?D46?5=4 =4 <E D>DE<D>64==>5 >?OF=>5 >E6>5=<5 

< ?D>6545=<5 E 57> GG5F>< E6><E D47D45>F>> [20]. 

�D<<5=5=<5 ?>7?>M4NM5= EFD4F57<<, <?< ?<F5=7<D>64=<O, 

?>4D47G<5645F, GF> >><?4=<O ?D<<5=O5F <==>64F<>==O5 D47D45>F><, 

D54?<7>64==O5 4DG7<<< >><?4=<O<<. �>?LL<=EF6>< D<D< <==>64F<>==4O 

?>?<F<>4 D54?<7G5FEO >4> =4 >E=>65 6=54D5=<O =>6L5EF6, ?>?GG5==OE <<< 

E4<>EF>OF5?L=>, F4> < =>6L5EF6, >>F>DO5 D47D45>F4?< 4DG7<5 >D74=<74F<<. 
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�D< <<<F4F<>==>= EFD4F57<< >><?4=<< ?>?L7GNFEO 6O?GM5==O<< =4 

DO=>> <==>64F<O<< (G?D46?5=G5E><<<, F5E=>?>7<G5E><<<, ?D>4G>F>6O<<) 

>EF4?L=OE >><?4=<= E =55>?LL>= 4>D45>F>>= < GE>65DL5=EF6>64=<5<. &4><< 

>D74=<74F<O< E6>=EF65==4 5>?LL4O ?D><76>4EF65==4O >G?LFGD4, G =<E <<55FEO 

>7D><=O= >D74=<74F<>==>-F5E=>?>7<G5E><= ?>F5=F<4?, >=< 7=4>><O E 

FD55>64=<O<< DO=>4, 4 =5D54>> 74=<<4NF =4 =5< 4>6>?L=> ?D>G=GN ?>7<F<N. 

$475>==<GLN EFD4F57<N E?54G5F ?D<<5=OFL 6 E<FG4F<OE, 5E?< ?D<=F<?<4?L=O5 

<==>64F<< 6>745=EF6GNF =4 F5E=<>>-M>E??G4F4F<>==O5 ?>>474F5?< ?D>4G>F<< (> 

?D<<5DG, G65?<G<645FEO ED>> 7>4=>EF<, =4456=>EFL < ?D.), ?D><76>4<<>= 4> 

MF>7>. �> <5D5 F>7>, >4> ?D<=F<?<4?L=O5 <==>64F<< D4E?D>EFD4=ONFEO, <E 

DO=>> ?>EF5?5==> E>>D4M45FEO. �4==4O EFD4F57<O ?>4E>4<F 4?O =55>?LL<E 

<==>64F<>==OE >><?4=<= <7 4DG7<E ED5D, => E =>6O<< F5E=>?>7<O<< < 

?D<=F<?<4?L=> =>6O<< F5E=<G5E><<< D5L5=<O<< 6 ED5D5 <77>F>6?5=<O G65 

?D><76>4<<OE F>64D>6. -F4 EFD4F57<O <>65F 5OFL <E?>?L7>64=4 >D74=<74F<O<< 

<7 MF>= 65 ED5DO E =5EF45<?L=>= ?>7<F<5= =4 DO=>5, 5E?< =4 >?D545?5==>= 

EF44<< << G445FEO ?D<<5=OFL F5E=>?>7<< ?D>DO64. -DD5>F4 >F D475>==<GL5= 

EFD4F57<< <>6=> 4>5<FLEO F>?L>> =4 ?5D6OE EF44<OE D4E?D>EFD4=5=<O < 

6>??>M5=<O <==>64F<=. 

%FD4F57<< 66545=<O < 444?F4F<< =>6L5EF6 6>?NG4NFEO 6 E<EF5<G 

>5=>6?5=<O ?D><76>4EF64, 6O6545=<O F>64D4 =4 DO=>>, ?>?L7>64=<O 

F5E=>?>7<G5E><<< ?D5<<GM5EF64<<. �EE?54>64==O5 =4<< <EF>G=<>< [20-25] 

E6<45F5?LEF6GNF > F><, GF> >>=>GD5=F>E?>E>5=>EFL <>65F 5OFL ?>6OL5=4, 6 F>< 

G<E?5, ?D< ?><>M< <4D>5F<=7>6OE EFD4F57<=, EFD4F57<= <5=546<5=F4 < 

<=D>D<4F<>==>->><<G=<>4F<>==OE F5E=>?>7<=. 

%?54G5F E>474FL, GF>, D45>F4O 6 GE?>6<OE ?5D5<5==>= DO=>G=>= ED54O, 

=5DF5747>6O5 >><?4=<< EFD5<OFEO 4>EF<GL >?D545?5==OE F5?5= < 7444G 74 EG5F 

?>EF>O==>7> D476<F<O, >55E?5G<64O F5< E4<O< =44?564M<= GD>65=L D>EF4. 

�4=4>>, GE?>6<O DO=>G=>= >>=NN=>FGDO, ?>?<F<>4 >>=>GD5=F>6, 74EF46?ONF 
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EG5N5>F>6 45OF5?L=>EF< G5F>> >?D545?OFL E>5EF65==O5 6>7<>6=>EF<, 

D>D<<D>64FL EFD4F57<G5E><5 =4?D46?5=<O D476<F<O, ?>EF>O==> >>DD5>F<D>64FL 

<4D>5F<=7>6GN EFD4F57<N < <=EFDG<5=FO <4D>5F<=74 E F5?LN E>ED4=5=<5 

E>5EF65==>7> ?>?>65=<O =4 DO=>5.  

�4 =4L 677?O4, 65E><O< D4>F>D>< 6?<O=<O =4 M>>=><<G5E>GN 

557>?4E=>EFL EG5N5>F4 E>7O=EF6>64=<O O6?O5FEO =44?564M<= GD>65=L 

>>=>GD5=F=>= ED54O, GF> ?>5G6445F <E ?>6OL4FL F5E=<G5E><= GD>65=L 

?D><76>4EF64 < >4G5EF6> ?D>4G>F<<, =4EOM4FL =><5=>?4FGD=O5 7DG??O.  

�D><5 F>7>, 4?O >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<, ?D54?D<OF<O< 

=5>5E>4<<> <7GG4FL >>=>GD5=F=GN EFD4F57<N, >>F>D4O >?D545?O5F, >4> 

?D54?D<OF<5 =4<5D5=> >>=>GD<D>64FL 6 >?D545?5==>= >5?4EF<, ?>76>?O5F 

?D>4=4?<7<D>64FL, >4><< >5D47>< >=> E>7445F E555 ?D<6?5>4F5?L=>5 ?>?>65=<5 

=4 DO=>5, 4>EF<745F ?D<65D65==>EF< ?>FD55<F5?5= > ?D>4G>F<< < F.4. &> 5EFL 

>>=>GD5=F=4O EFD4F57<O D>D<<DG5FEO 6 746<E<<>EF< >F >>=>GD5=F=>= ?>7<F<<, 

>>F>DGN ?D54?D<OF<5 74=<<45F =4 DO=>5.  �=4 547<DG5FEO =4 G5F><E 

>>=>GD5=F=OE ?D5<<GM5EF64E, ED54< >>F>DOE, ?> =4L5<G <=5=<N, E?54G5F 

6O45?<FL: >4G5EF6> ?D>4G>F<<, F5=G, L<D>FG 4EE>DF<<5=F4, 4>?N DO=>4, 

D5>?4<=O= 5N465F, E<EF5<G ?>445D6>< E5OF4 < F.4. %D54< 7444G >>=>GD5=F=>= 

EFD4F57<< G<5EF=> 6O45?<FL: ?>6OL5=<5 GD>6=O >>=>GD5=F>E?>E>5=>EF<, 

D4EL<D5=<5 >DG74 >>=>GD5=F=OE ?D5<<GM5EF6, D>D<<D>64=<5 ?D<=F<?>6 

<5E4=<7<4 ?D>F<6>45=EF6<O 6=5L=<< G7D>74<, >5N54<=5=<5 GE<?<= 

EFDG>FGD=OE ?>4D4745?5=<= D44< 54<=>= EFD4F57<G5E>>= F5?<.  

&4>, ?> E?>64< �.�. %5<5=>64, <>7GF <E?>?L7>64FLEO < E?5F<4?L=O5 

<=EFDG<5=FO, >>F>DO5 ?><>7GF ?>6OE<FL >>=>GD5=F>E?>E>5=>EFL >><?4=<<. � 

G4EF=>EF<, MF> 4GFE>DE<=7, D>D<<D>64=<5 EFD4F57<G5E><E 4?LO=E>6, F4><5 

?D>F5EEO, >4> E?<O=<5 < ?>7?>M5=<5 < F.4. �?O F>7> GF>5O =4<5>?55 MDD5>F<6=> 

?>6OE<FL >>=>GD5=F>E?>E>5=>EFL >><?4=<<, =5>5E>4<<> ?>?L7>64FLEO 

<=D>D<4F<>==>->><<G=<>4F<>==O<< F5E=>?>7<O<<.  �74<<>45=EF6<5 E> 
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ED54EF64<< <4EE>6>= <=D>D<4F<< O6?O5FEO =5>5E>4<<O< 6 45OF5?L=>EF< ?N5>7> 

?D54?D<OF<O, ?>F><G GF> <<5==> >=> >55E?5G<645F =4?46<64=<5 >>=F4>F4 E 

D47=>>5D47=O<< >4F57>D<O<< ?<F, 6 G<E?5 >>F>DOE [17]: 

3 7>EG44DEF65==O5 <=EF<FGFO;  

3 4>F<>=5DO; 

3 ?4DF=5DO; 

3 >?<5=FO, <<5NM<5EO < ?>F5=F<4?L=O5 < ?D. 

 '5< 5>?LL5 < ?>?G?OD=55 ?D54?D<OF<5, F5< 4>F<6=55 < G4M5 >=> 4>?6=> 

674<<>45=EF6>64FL E> ED54EF64<< <4EE>6>= <=D>D<4F<<.   �4<5>?55 646=>= <O 

EG<F45< >><<G=<>4F<N 4?O D476<64NM<EEO >D74=<74F<=, >>F>DO< =5>5E>4<<> 

746>564FL E>>F65FEF6GNMGN D5?GF4F<N < ?D<6?5GL ?>FD55<F5?5=. �?>E?54EF6<< 

F>64D, ?D><76>4<<O= F4>>= >><?4=<5=, 4>?65= 74=OFL E6>N =<LG =4 44==>< 

DO=>5. �><?4=<O >?>65M45F ?>F5=F<4?L=OE ?>FD55<F5?5= > E6>5< F>64D5 < 

6O5<D45F F5?56GN 4G4<F>D<N, 6 >>F>DGN 6E>4OF ?N4<, 74<=F5D5E>64==O5 6 MF>< 

F>64D5. �D><5 F>7>, =5>5E>4<<> >?D545?<FL, >4><5 ED54EF64 >><<G=<>4F<< 

=5>5E>4<<> 7445=EF6>64FL 44==>= >><?4=<<. 

�5>5E>4<<> >55E?5G<FL <=D>D<4F<>==GN ?D>7D4G=>EFL 6 >F=>L5=<< 

DG=>F<>=<D>64=<O >D74=<74F<< 6 F5?><. � G4EF=>EF<, =5>5E>4<<> >?>65M4FL 

?>FD55<F5?5= > 45=EF6GNM<E F5=4E, > ?D>6>4<<OE 4>F<OE, ?D54GE<>FD5==OE 

E><4>4E, D4EE>47O64FL > =>6>EFOE >><?4=<< < ?D. �5>5E>4<<> =4?44<FL 

>5D4F=GN E6O7L E ?>FD55<F5?O<< 6 G4EF< >4G5EF64 F>64D4 <?< ?D54>EF46?5==>= 

GE?G7<. %?54G5F ?D54>EF46<FL ?>FD55<F5?O< >EF46?OFL E6>< >F7O6O < 

D5>><5=44F<< ?> G?GGL5=<N F>= <?< <=>= ?D>4G>F<<, ?D><76>4<<>= 

>><?4=<5=. %?54G5F ?>445D6<64FL E6>= EF4FGE < D5?GF4F<N, ?>6OL4FL <E, 

?>445D6<64FL 674<<>E6O7L E G65 =4D45>F4==>= E5FLN >?<5=F>6, 746>56O64FL 

=>6OE, ?>EF>O==> D4EL<DOFL >?<5=FE>GN 547G [19]. 

�D<6545==O= E?<E>> =5?>?=O=, <O G>474?< 6 =5< ?<LL >E=>6=O5 < E4<O5 

646=O5 =4?D46?5=<O, >FD464NM<5 674<<>E6O7L <564G ?D54?D<=<<4F5?LEF6>< < 
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>><<G=<>4F<5=, %��, D47=OE ?G5?<>4F<= 6 <744=<OE. �5?L7O =5 E>474FL > 

?>?>6<F5?L=>< 6?<O=<< 65?F>= ?D5EEO =4 D476<F<5 ?D54?D<=<<4F5?LE>>= 

45OF5?L=>EF<. �=4 E?>E>5EF6G5F D>EFG G65 DG=>F<>=<DGNM<E >D74=<74F<=, 

?>76>?O5F EF4FL 5>?55 <765EF=O<< =>6O< EG5N5>F4< ?D54?D<=<<4F5?LE>>= 

45OF5?L=>EF<. �F4>, <>6=> E45?4FL 6O6>4, GF> <=D>D<4F<>==>-

>><<G=<>4F<6=O5 F5E=>?>7<< O6?ONFEO >4=<< <7 >E=>6=OE ED54EF6 ?>6OL5=<O 

>>=>GD5=F>E?>E>5=>EF< >D74=<74F<< < =5D47DO6=> E6O74=O E> 6E5<< >5?4EFO<< 

>5M5EF65==>= 6<7=545OF5?L=>EF<. $47G<55FEO, >=< F4>65 6 5>?LL>= EF5?5=< 

6>745=EF6GNF =4 D476<F<5 ?D54?D<=<<4F5?LEF64, >4> 6 =4L5= EFD4=5, F4> < 6 

4DG7<E 7>EG44DEF64E. ��& <>7GF <><5=F4?L=> D4E?D>EFD4=<FL FD55GNM<5EO 

E6545=<O. � 746<E<<>EF< >F E4D4>F5D4 MF<E E6545=<= >D74=<74F<< 74E64FOF 

?>7<F<6=O5 <?<, =4?D>F<6, =574F<6=O5 F5=45=F<< 6 E6>5= 45OF5?L=>EF< < 

D476<F<<. �?O ?>6OL5=<O >>=>GD5=F>E?>E>5=>EF< <>7GF 5OFL <E?>?L7>64=O 

E?54GNM<5 E?>E>5O:  

3 E?54G5F ?>6OL4FL >4G5EF6> ?D>4G>F<<, E>>D4M4O <745D6><; 

3 =5>5E>4<<> <E?>?L7>64FL <==>64F<>==O5 4>EF<65=<O =4G>< < 

F5E=<><; 

3 E?54G5F ?D<6?5>4FL ?>44NM<E =44564O < >64?<D<F<D>64==OE 

E>FDG4=<>>6; 

3 =5>5E>4<<> D476<64FL >>D?>D4F<6=GN >G?LFGDG; 

3 E?54G5F <E?>?L7>64FL <=D>D<4F<>==>->><<G=<>4F<>==O5 

F5E=>?>7<< < F.4. 

�4 MDD5>F<6=>EFL =4764==OE <5D G>47O645F G65?<G5=<5 D>EF D<=4=E>6OE 

D57G?LF4F>6, 4 F4>65 ?>>474F5?5= F5>GM5= 45OF5?L=>EF< D47=OE GE?5L=OE 

?D54?D<OF<=. 

�>46>4O <F>7<, >F<5F<<, GF> 6 44==>< <EE?54>64=<< <O ?D>4=4?<7<D>64?< 

F5>D5F<G5E><5 4E?5>FO G?D46?5=<O >>=>GD5=F>E?>E>5=>EFLN >D74=<74F<<. �> 
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<F>74< 44==>7> <EE?54>64=<O <O <>65< 74>?NG<FL E?54GNM55: 

2 >>=>GD5=F>E?>E>5=>EFL >><?4=<< ?>4D47G<5645F G<5=<5 >><?4=<< 

>55E?5G<64FL ?D5<<GM5EF64 ?5D54 >>=>GD<DGNM<<< >><?4=<O<< < F4><< 

>5D47>< 4>EF<74FL >5>7=4G5==OE F5?5=; 

2 4?O F>7> GF>5O >F5=<FL >>=>GD5=F>E?>E>5=>EFL >><?4=<<, <E?>?L7G5FEO 

DO4 <5F>4>6, 6 G4EF=>EF<, MF> <5F>4, 6 >E=>65 >>F>D>7> ?564F 

ED46=<F5?L=O5 ?D5<<GM5EF64 >><?4=<<;  

2 <5F>4 D46=>65E<O >><?4=<< 6 44==>< E5>F>D5;  

2 <5F>4, 6 >E=>65 >>F>D>7> ?56<F DO=>G=4O ?>7<F<O >><?4=<<;  

2 <5F>4, ?>76>?ONM<= >F5=<FL >4G5EF6> F>64D4, ?D><76>4<<>7> 

>><?4=<5=, 4 F4>65 <4FD<G=O= <5F>4. 

&4><< >5D47><, =4 44==O= <><5=F 6 G?D46?5=<< >>=>GD5=F>E?>E>5=>EFLN 

>><?4=<< ?D<<5=O5FEO <=>65EF6> <5F>4>6, 6 D4<>4E >>F>DOE >><?4=<< 

>EGM5EF6?ONF >><??5>E F5E <?< <=OE <5D>?D<OF<=, >5GE?>6?5==OE <E 

>>=>GD5=F=>= EFD4F57<5=. � 74>?NG5=<5 <>6=> E45?4FL 6O6>4, GF> MDD5>F<6=4O 

E<EF5<4 557>?4E=>EF< 6 >>=F5>EF5 >55E?5G5=<O >>=>GD5=F>E?>E>5=>EF< <>65F 

5OFL ?>EFD>5=4 ?D< >><??5>E=>< ?>4E>45 > >D74=<74F<< ?D>F5EE4 74M<FO 

?D><76>4EF65==>-E>7O=EF65==>= < D<=4=E>6>= 45OF5?L=>EF< ?D54?D<OF<O. 
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2 �=4?<7 GE?>6<= < GD>6=O >>=>GD5=F>E?>E>5=>EF< >D74=<74F<= >4> 

<5E4=<7<4 >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF< =5DF5747>6>= 

>FD4E?< 

 

2.1 &5E=<>>-M>>=><<G5E>4O E4D4>F5D<EF<>4 >5N5>F>6 <EE?54>64=<O 

 

�=4?<7 GE?>6<= < GD>6=O >>=>GD5=F>E?>E>5=>EF< =5DF5747>6>7> 

>><??5>E4 5O? ?D>6545= 6 ED46=5=<< 3 >DG?=5=L<E ?D54?D<OF<= /<4?>-

=5=5F>>7> 46F>=><=>7> >>DG74: �� «$>E?4= �=F5D=5L=?», �� «%<5=5DF5747», 4 

F4>65 ��� «%565D=5DF5747?D><». �>FG4?L=>EFL 6O5D4==>7> D57<>=4 

>5GE?>6?5=4 F5<, GF> /��� O6?O5FEO F5=FD>< E>ED54>F>G5=<O 74?4E>6 =5DF< < 

7474 < >DG?=5=L<5 ?D54?D<OF<O =5DF5747>6>7> >><??5>E4 E>ED54>F>G5=O <<5==> 

745EL. $4EE<>FD<< E4D4>F5D<EF<>G ?D54EF46?5==OE ?D54?D<OF<=.  

�� «$>E?4= �=F5D=5L=?» 2 «>?5D4F>D D47D45>F>< �>EF>G=>-

'D5=7>=E>>7> < �>6>-'D5=7>=E>>7> 747>>>=45=E4F=OE <5EF>D>645=<= 6 /<4?>-

�5=5F>>< 46F>=><=>< >>DG75. �76?5>45<O5 74?4EO >F5=<64NFEO 6 891 <?D4 <3 

7474 < 133 <?= F 747>6>7> >>=45=E4F4. � 2002 7. &�� ?D<>5D5?4 44 % 57> 4>F<=, 4 

6 2004 7. EF4?4 54<=>?<G=O< 6?445?LF5<. � D4<>4E ?D>5>F4 6545FEO >E6>5=<5 

7?G5>>>74?574NM<E 74?4E>6 7474 64?4=6<=E><E < 4G<<>6E><E ??4EF>6 =4 

�>EF>G=>-'D5=7>=E>>< < �>6>-'D5=7>=E>>< ?<F5=7<>==OE 5?>>4E» [30]. 

$4EE<>FD<< >E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< ?D54?D<OF<O, 

?D54EF46?5==O5 6 F45?<F5 8. 

 
&45?<F4 8 3 �E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?<               
�� «$>E?4= �=F5D=5L=?» 74 2019-2021 77. 
 

�>>474F5?< 2019 7. 2020 7. 2021 7. 
&5<? ?D<D>EF4, % 

2020 7. > 
2019 7. 

2021 7. > 
2020 7. 

�ODGG>4 >F D54?<74F<< 
?D>4G>F<<, FOE. DG5. 

47975300 33719400 106534000 70,28 315,94 
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�D>4>?65=<5 F45?<FO 8 

�>>474F5?< 
 

2019 7. 
 

2020 7. 
 

2021 7. 
 

&5<? ?D<D>EF4, % 
2020 7. > 
2019 7. 

2021 7. > 
2020 7. 

%555EF><<>EFL D54?<7>64==>= 
?D>4G>F<<, FOE. DG5. 

32192800 24491000 43480500 76,08 177,54 

�4FD4FO =4 1 DG5. 6ODGG><, DG5. 0,67 0,73 0,41 108,24 56,19 

�4?>64O ?D<5O?L, FOE. DG5. 15782500 9228360 63053900 58,47 683,26 

�><<5DG5E><5 D4EE>4O, FOE. DG5. 894493 600203 541348 67,10 90,19 
'?D46?5=G5E><5 D4EE>4O, FOE. 
DG5. 

1814650 1792540 1806780 98,78 100,79 

�D<5O?L >F ?D>446, FOE. DG5. 13073300 6835620 60705800 52,29 888,08 
'<EF4O ?D<5O?L, FOE. DG5. 8777810 3471720 45298200 39,55 1304,78 
%D54=57>4>64O EF><<>EFL 
>E=>6=OE D>=4>6, FOE. DG5. 

186617000 208537500 228194500 111,75 109,43 

%D54=57>4>64O EF><<>EFL 
>5>D>F=OE ED54EF6, FOE. DG5. 

29371900 19892050 22550350 67,72 113,36 

$5=F455?L=>EFL ?D>446, % 27,25 20,27 56,98 -6,98 36,71 
%D54=5E?<E>G=4O G<E?5==>EFL 
>E=>6=OE ?D><76>4EF65==OE 
D45>G<E, G5?. 

700 705 707 100,71 100,28 

%D54=5E?<E>G=4O G<E?5==>EFL 
?D><OL?5==>-?D><76>4EF65==>7> 
?5DE>=4?4, G5?. 

1210 1212 1356 100,17 111,88 

�OD45>F>4, FOE. DG5./G5?. 209,03 141,66 448,47 67,77 316,59 
�D><76>4<F5?L=>EFL FDG44, FOE. 
DG5./G5?. 

33860,01 23071,55 65471,02 68,14 283,77 

$>=4 >??4FO FDG44, FOE. DG5. 943800 1018080 1220400 107,87 119,87 
%D54=5<5EOG=4O 74D45>F=4O ??4F4, 
DG5. 

65000 70000 75000 107,69 107,14 

$>=4>>F44G4 0,26 0,16 0,47 62,90 288,73 
$>=4>5<>>EFL 3,8899 6,1845 2,1420 158,99 34,63 
$>=4>6>>DG65==>EFL, FOE. DG5. 154 228,93 172 060,64 168 285,03 111,56 97,81 
�>MDD<F<5=F >5>D4G<645<>EF< 
>5>D>F=OE ED54EF6 

1,63 1,70 4,72 103,78 278,70 

 

�7 44==OE F45?<FO 8 <>6=> E45?4FL E?54GNM<5 6O6>4O:  

3 6ODGG>4 >F D54?<74F<< 6 >FG5F=>< 7>4G G65?<G<?4EL =4 315,94 %, GF> 

O6?O5FEO ?>?>6<F5?L=>= F5=45=F<5= < E6<45F5?LEF6G5F >5 G65?<G5=<< 

4>E>4>6 ?D54?D<OF<O >F >E=>6=>7> 6<44 45OF5?L=>EF<; 

3 E555EF><<>EFL D54?<7>64==>= ?D>4G>F<< G65?<G<?4EL 6 >FG5F=>< 7>4G 

=4 77,54 %, GF> >5GE?>6?5=> ?>6OL5=<5< F5= =4 <=>EFD4==>5 
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>5>DG4>64=<5 < >><??5>FGNM<5; 

3 =4 D>=5 ?D56OL5=<O F5<?>6 D>EF4 6ODGG>< =44 F5<?4<< D>EF4 

E555EF><<>EF<, 74FD4FO ?D54?D<OF<O E>>D4F<?<EL =4 43,81 % < E>EF46<?< 

0,41 DG5. =4 1 DG5?L 6ODGG><; 

3 D>EF 64?>6>= ?D<5O?< ?D54?D<OF<O 6 >FG5F=>< 7>4G O6?O5FEO 

E?54EF6<5< MDD5>F<6=>EF< ?D>446 >F >E=>6=>= 45OF5?L=>EF< =4 21,09 % 6 

2021 7>4G; 

3 G?D46?5=G5E><5 D4EE>4O ?D54?D<OF<O G65?<G<?<EL 6 >FG5F=>< 7>4G =4 

0,79%, GF> O6?O5FEO E?54EF6<5< D>EF4 74FD4F =4 >5GG5=<5 E>FDG4=<>>6, 4 

F4>65 G65?<G5=<5 D>=44 >??4FO FDG44 44<<=<EFD4F<6=>-G?D46?5=G5E>><G 

?5DE>=4?G, 4 E>>D4M5=<5 >><<5DG5E><E D4EE>4>6 =4 9,81 %, O6?O5FEO 

E?54EF6<5< E>>D4M5=<5< D<=4=E<D>64=<O =4 <4D>5F<=7>6GN 45OF5?L=>EFL 

?D54?D<OF<O; 

3 ?D<5O?L >F ?D>446 G65?<G<?4EL ?D4>F<G5E>< 6 8 D47, GF> O6?O5FEO 

?>?>6<F5?L=>= F5=45=F<5= < E6O74=> E G65?<G5=<5< MDD5>F<6=>EF< 

45OF5?L=>EF< ?D54?D<OF<O; 

3 D>EF ?D>G<E 4>E>4>6 ?D54?D<OF<O, ?D<65? > D>EFG G<EF>= ?D<5O?< 

?D4>F<G5E>< 6 13 D47; 

3 D>EF ED54=57>4>6>= EF><<>EF< >E=>6=OE D>=4>6 ?D54?D<OF<O 6 

>FG5F=>< 7>4G =4 9,43 % O6?O5FEO E?54EF6<5< <>45D=<74F<< >5N5>F>6 

>E=>6=OE ED54EF6 < 74>G?>< =>6>7> >5>DG4>64=<O; 

3 D>EF EF><<>EF< >5>D>F=OE ED54EF6 ?D54?D<OF<O 6 >FG5F=><G 7>4G =4 

13,36 %, O6?O5FEO E?54EF6<5< G65?<G5=<O ?D><76>4EF65==>= <>M< 

?D54?D<OF<O; 

3 D5=F455?L=>EFL ?D>446 6 >FG5F=>< 7>4G G65?<G<?4EL =4 36,71 % < 

E>EF46<?4 56,98 %, GF> E6<45F5?LEF6G5F > D>EF5 ?D<5O?< >F E5OF4 

?D>4G>F<<, E>>F65FEF65==> D5EGDEO ?D54?D<OF<O <E?>?L7GNFEO 
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MDD5>F<6=>; 

3 D>=4 >??4FO FDG44 6OD>E =4 19,87 %, GF> E6O74=> E G65?<G5=<5< 

ED54=5E?<E>G=>= G<E?5==>EF< ?5DE>=4?4 ED54=5<5EOG=>= 74D45>F=>= 

??4FO; 

3 D>=4>>F44G4 G65?<G<?4EL 6 >FG5F=>< 7>4G =4 188,73 %, GF> E6O74=> E 

MDD5>F<6=O< G?D46?5=<5< >4?<F4?>< ?D54?D<OF<O, D>=4>5<>>EFL 

E>>D4F<?4EL =4 65,37 % < E6<45F5?LEF6G5F > E>>D4M5=<< EF><<>EF< 

?D><76>4EF65==OE >E=>6=OE D>=4>6, ?D<E>4OMGNEO =4 1 DG5. ?D>4G>F<<; 

3 D>EF >>MDD<F<5=F4 >5>D4G<645<>EF< =4 178,7 % 6 >FG5F=>< 7>4G 

E6<45F5?LEF6G5F >5 MDD5>F<6=>< <E?>?L7>64=<< <>5<?L=OE 4>F<6>6 

?D54?D<OF<O. 

&4><< >5D47><, ?D54EF46?5==O= 4=4?<7 F5E=<>>-M>>=><<G5E><E 

?>>474F5?5= ?D54?D<OF<O E6<45F5?LEF6G5F >5 G4>6?5F6>D<F5?L=>< E>EF>O=<< 

?D54?D<OF<O, >F<5G5= D>EF >?NG56OE ?>>474F5?5= ?D54?D<OF<O. 

�4?55 D4EE<>FD<< ?D54?D<OF<5 �� «%<5=5DF5747». �� «%<5=5DF5747» 

>EGM5EF6?O5F D47D45>F>G �5D57>6>7> <5EF>D>645=<O < �OD5==>7> 

<5EF>D>645=<=, 4 F4>65 %44ODLOE<=E>>7> ?<F5=7<>==>7> GG4EF>4 =54D 

/���.  �4?L=5=L<= D>EF 4>5OG< 5G45F >55E?5G5= 6 D57G?LF4F5 D47D45>F>< 

=<6=<E 7>D<7>=F>6 �5D57>6>7> <5EF>D>645=<O, 4 F4>65 D54?<74F<< ?D>5>F>6 ?> 

?>445D64=<N 4>5OG< =4 45=EF6GNM<E <5EF>D>645=<OE. $4EE<>FD<< >E=>6=O5 

F5E=<>>-M>>=><<G5E><5 ?>>474F5?< ?D54?D<OF<O, ?D54EF46?5==O5 6 F45?<F5 9. 

 

&45?<F4 9 3 �E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< �� «%<5=5DF5747» 74 
2018-2020 77. 
 

�>>474F5?< 2018 7. 2019 7. 2020 7. 
&5<? ?D<D>EF4, % 

2019 7. > 
2018 7. 

2020 7. > 
2019 7. 

�ODGG>4 >F D54?<74F<< 
?D>4G>F<<, FOE. DG5. 

17026900 17855500 18157900 104,87 101,69 
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�D>4>?65=<5 F45?<FO 9 
 

�>>474F5?< 2018 7. 2019 7. 2020 7. 
&5<? ?D<D>EF4, % 

2019 7. > 
2018 7. 

2020 7. > 
2019 7. 

%555EF><<>EFL D54?<7>64==>= 
?D>4G>F<<, FOE. DG5. 

12538700 14496100 13576500 115,61 93,66 

�4FD4FO =4 1 DG5. 6ODGG><, DG5. 0,74 0,81 0,75 110,25 92,10 
�4?>64O ?D<5O?L, FOE. DG5. 4488220 3359360 4581420 74,85 136,38 
�><<5DG5E><5 D4EE>4O, FOE. DG5. 21927 19446 7667 88,69 39,43 
'?D46?5=G5E><5 D4EE>4O, FOE. 
DG5. 

591257 839737 901367 142,03 107,34 

�D<5O?L >F ?D>446, FOE. DG5. 3875030 2500180 3672390 64,52 146,89 
'<EF4O ?D<5O?L, FOE. DG5. 2552280 2314950 1715570 90,70 74,11 
%D54=57>4>64O EF><<>EFL 
>E=>6=OE D>=4>6, FOE. DG5. 

33892600 37275200 40123450 109,98 107,64 

%D54=57>4>64O EF><<>EFL 
>5>D>F=OE ED54EF6, FOE. DG5. 

4638765 6506670 4556770 140,27 70,03 

$5=F455?L=>EFL ?D>446, % 22,76 14,00 20,22 -8,76 6,22 
%D54=5E?<E>G=4O G<E?5==>EFL 
>E=>6=OE ?D><76>4EF65==OE 
D45>G<E, G5?. 

331 330 333 99,70 100,91 

%D54=5E?<E>G=4O G<E?5==>EFL 
?D><OL?5==>-?D><76>4EF65==>7> 
?5DE>=4?4, G5?. 

982 980 987 99,80 100,71 

�OD45>F>4, FOE. DG5./G5?. 162,83 181,94 164,01 111,74 90,14 
�D><76>4<F5?L=>EFL FDG44, FOE. 
DG5./G5?. 

15367,60 17154,13 15493,49 111,63 90,32 

$>=4 >??4FO FDG44, FOE. DG5. 753940 821436 923595 108,95 112,44 
%D54=5<5EOG=4O 74D45>F=4O ??4F4, 
DG5. 

63980 69850 77980 109,17 111,64 

$>=4>>F44G4 0,50 0,48 0,45 95,35 94,47 
$>=4>5<>>EFL 1,9905 2,0876 2,2097 104,88 105,85 
$>=4>6>>DG65==>EFL, FOE. DG5. 34 513,85 38 035,92 40 651,93 110,20 106,88 
�>MDD<F<5=F >5>D4G<645<>EF< 
>5>D>F=OE ED54EF6 

3,67 2,74 3,98 74,76 145,21 

 

&4><< >5D47><, <7 44==OE F45?<FO 9 <>6=> E45?4FL E?54GNM<5 6O6>4O:  

3 6ODGG>4 >F D54?<74F<< 6 >FG5F=>< 7>4G G65?<G<?4EL =4 1,69 %, GF> 

O6?O5FEO ?>?>6<F5?L=>= F5=45=F<5= < E6<45F5?LEF6G5F >5 G65?<G5=<< 

4>E>4>6 ?D54?D<OF<O >F >E=>6=>7> 6<44 45OF5?L=>EF<; 

3 E555EF><<>EFL D54?<7>64==>= ?D>4G>F<< E>>D4F<?4EL 6 >FG5F=>< 7>4G 
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=4 6,34 %, GF> >5GE?>6?5=> E>>D4M5=<5< >5N5<>6 5G4GM<E ?5D<>4>6; 

3 =4 D>=5 ?D56OL5=<O F5<?>6 D>EF4 6ODGG>< =44 F5<?4<< D>EF4 

E555EF><<>EF<, 74FD4FO ?D54?D<OF<O E>>D4F<?<EL =4 7,9 % < E>EF46<?< 0,75 

DG5. =4 1 DG5?L 6ODGG><; 

3 D>EF 64?>6>= ?D<5O?< ?D54?D<OF<O 6 >FG5F=>< 7>4G O6?O5FEO 

E?54EF6<5< MDD5>F<6=>EF< ?D>446 >F >E=>6=>= 45OF5?L=>EF< =4 36,38 % 6 

>FG5F=>< 7>4G; 

3 G?D46?5=G5E><5 D4EE>4O ?D54?D<OF<O G65?<G<?<EL 6 >FG5F=>< 7>4G =4 

7,34 %, GF> O6?O5FEO E?54EF6<5< D>EF4 74FD4F =4 >5GG5=<5 E>FDG4=<>>6, 4 

F4>65 G65?<G5=<5 D>=44 >??4FO FDG44 44<<=<EFD4F<6=>-G?D46?5=G5E>><G 

?5DE>=4?G, 4 E>>D4M5=<5 >><<5DG5E><E D4EE>4>6 =4 60,57 %, O6?O5FEO 

E?54EF6<5< E>>D4M5=<5< D<=4=E<D>64=<O =4 <4D>5F<=7>6GN 45OF5?L=>EFL 

?D54?D<OF<O, 4 F4>65 =4 <EE?54>64=<O 6 >5?4EF< ����$; 

3 ?D<5O?L >F ?D>446 G65?<G<?4EL =4 46,89 %, GF> O6?O5FEO 

?>?>6<F5?L=>= F5=45=F<5= < E6O74=> E G65?<G5=<5< MDD5>F<6=>EF< 

45OF5?L=>EF< ?D54?D<OF<O; 

3  D>EF ?D>G<E D4EE>4>6 ?D54?D<OF<O, E6O74==O= E ?>?GG5=<5< LFD4D>6 

< 66>4>< DO44 >7D4=<G5=<=, ?D<65? > E>>D4M5=<N G<EF>= ?D<5O?< 

>D74=<74F<< 25,89 %; 

3 D>EF ED54=57>4>6>= EF><<>EF< >E=>6=OE D>=4>6 ?D54?D<OF<O 6 

>FG5F=>< 7>4G =4 7,64 % O6?O5FEO E?54EF6<5< <>45D=<74F<< >5N5>F>6 

>E=>6=OE ED54EF6 < 74>G?>< =>6>7> >5>DG4>64=<O; 

3 E>>D4M5=<5 EF><<>EF< >5>D>F=OE ED54EF6 ?D54?D<OF<O 6 >FG5F=><G 

7>4G =4 29,97 %, O6?O5FEO E?54EF6<5< E>>D4M5=<O ?D><76>4EF65==>= <>M< 

?D54?D<OF<O; 

3 D5=F455?L=>EFL ?D>446 6 >FG5F=>< 7>4G G65?<G<?4EL =4 36,71 % < 

E>EF46<?4 6,22 %, GF> E6<45F5?LEF6G5F > D>EF5 5GE74?F5DE>>= ?D<5O?< 
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?D54?D<OF<O; 

3 D>=4 >??4FO FDG44 6OD>E =4 12,44 %, GF> E6O74=> E G65?<G5=<5< 

ED54=5E?<E>G=>= G<E?5==>EF< ?5DE>=4?4 =4 0,8 % < ED54=5<5EOG=>= 

74D45>F=>= ??4FO =4 11,64 %; 

3 D>=4>>F44G4 E>>D4F<?4EL 6 >FG5F=>< 7>4G =4 5,53 %, GF> E6O74=> E 

=5MDD5>F<6=O< G?D46?5=<5< >4?<F4?>< ?D54?D<OF<O, D>=4>5<>>EFL 

G65?<G<?4EL =4 5,85 % < E6<45F5?LEF6G5F > D>EF5 EF><<>EF< 

?D><76>4EF65==OE >E=>6=OE D>=4>6, ?D<E>4OMGNEO =4 1 DG5. ?D>4G>F<<; 

3  D>EF >>MDD<F<5=F4 >5>D4G<645<>EF< =4 45,21 % 6 >FG5F=>< 7>4G 

E6<45F5?LEF6G5F >5 MDD5>F<6=>< <E?>?L7>64=<< <>5<?L=OE 4>F<6>6 

?D54?D<OF<O. 

&4><< >5D47><, ?D54EF46?5==O= 4=4?<7 F5E=<>>-M>>=><<G5E><E 

?>>474F5?5= ?D54?D<OF<O E6<45F5?LEF6G5F >5 G4>6?5F6>D<F5?L=>< E>EF>O=<< 

?D54?D<OF<O, >4=4>> =45?N445FEO E=<65=<5 ?>>474F5?5= D>=4>>F44G<, 

E=<65=<5 G<EF>= ?D<5O?< ?D54?D<OF<O, 4 F4>65 E>>D4M5=<5 ?D><76>4EF65==>= 

<>M< ?D54?D<OF<O. 

��� «%565D=5DF5747?D><» 3 >4=> <7 >DG?=5=L<E 747>4>5O64NM<E 

?D54?D<OF<=, 6E>4OM<E 6 �DG??G «�47?D><». �>F<>=5D4<< >><?4=<< F4>65 

O6?ONFEO �<=F5DEE4?? �M4 �� (�5D<4=<O) < ��� ->E??>D5=L= M=4 �D>44>L= 

�<5% (�6EFD<O). $4EE<>FD<< >E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< 

?D54?D<OF<O, ?D54EF46?5==O5 6 F45?<F5 10. 

 

&45?<F4 10 3 �E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< 
��� «%565D=5DF5747?D><» 74 2019-2021 77. 
 

�>>474F5?< 2019 7. 2020 7. 2021 7. 
&5<? ?D<D>EF4, % 

2020 7. > 
2019 7. 

2021 7. > 
2020 7. 

�ODGG>4 >F D54?<74F<< 
?D>4G>F<<, FOE. DG5. 

51742300 44073300 44281500 85,18 100,47 
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�D>4>?65=<5 F45?<FO 10 
 

�>>474F5?< 2019 7. 2020 7. 2021 7. 
&5<? ?D<D>EF4, % 

2020 7. > 
2019 7. 

2021 7. > 
2020 7. 

%555EF><<>EFL D54?<7>64==>= 
?D>4G>F<<, FOE. DG5. 

40779700 34951900 34302000 85,71 98,14 

�4FD4FO =4 1 DG5. 6ODGG><, DG5. 0,79 0,79 0,77 100,62 97,68 
�4?>64O ?D<5O?L, FOE. DG5. 10962500 9121400 9979500 83,21 109,41 
'?D46?5=G5E><5 D4EE>4O, FOE. 
DG5. 

1355100 1379760 1508760 101,82 109,35 

�D<5O?L >F ?D>446, FOE. DG5. 9607410 7741630 8470740 80,58 109,42 
'<EF4O ?D<5O?L, FOE. DG5. 4408460 5950380 8456570 134,98 142,12 
%D54=57>4>64O EF><<>EFL 
>E=>6=OE D>=4>6, FOE. DG5. 

37864350 49843300 68688650 131,64 137,81 

%D54=57>4>64O EF><<>EFL 
>5>D>F=OE ED54EF6, FOE. DG5. 

16199900 16858850 18644350 104,07 110,59 

$5=F455?L=>EFL ?D>446, % 18,57 17,57 19,13 -1,00 1,56 
%D54=5E?<E>G=4O G<E?5==>EFL 
>E=>6=OE ?D><76>4EF65==OE 
D45>G<E, G5?. 

350 354 359 101,14 101,41 

%D54=5E?<E>G=4O G<E?5==>EFL 
?D><OL?5==>-?D><76>4EF65==>7> 
?5DE>=4?4, G5?. 

680 685 689 100,74 100,58 

�OD45>F>4, FOE. DG5./G5?. 461,10 412,65 425,37 89,49 103,08 
�D><76>4<F5?L=>EFL FDG44, FOE. 
DG5./G5?. 

66453,18 59711,36 62058,88 89,85 103,93 

$>=4 >??4FO FDG44, FOE. DG5. 509837 576880 636471 113,15 110,33 
%D54=5<5EOG=4O 74D45>F=4O ??4F4, 
DG5. 

62480 70180 76980 112,32 109,69 

$>=4>>F44G4 1,37 0,88 0,64 64,71 72,91 
$>=4>5<>>EFL 0,7318 1,1309 1,5512 154,54 137,16 
$>=4>6>>DG65==>EFL, FOE. DG5. 55 682,87 72 763,94 99 693,25 130,68 137,01 
�>MDD<F<5=F >5>D4G<645<>EF< 
>5>D>F=OE ED54EF6 

3,19 2,61 2,38 81,85 90,85 

 

&4><< >5D47><, <7 44==OE F45?<FO 10 <>6=> E45?4FL E?54GNM<5 6O6>4O:  

3 6ODGG>4 >F D54?<74F<< 6 >FG5F=>< 7>4G G65?<G<?4EL =4 0,47 %, GF> 

O6?O5FEO ?>?>6<F5?L=>= F5=45=F<5= < E6<45F5?LEF6G5F >5 G65?<G5=<< 

4>E>4>6 ?D54?D<OF<O >F >E=>6=>7> 6<44 45OF5?L=>EF<; 

3 E555EF><<>EFL D54?<7>64==>= ?D>4G>F<< E>>D4F<?4EL 6 >FG5F=>< 7>4G 

=4 1,86 %, GF> >5GE?>6?5=> E>>D4M5=<5< >5N5<>6 5G4GM<E ?5D<>4>6; 
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3 =4 D>=5 ?D56OL5=<O F5<?>6 D>EF4 6ODGG>< =44 F5<?4<< D>EF4 

E555EF><<>EF<, 74FD4FO ?D54?D<OF<O E>>D4F<?<EL =4 2,32 % < E>EF46<?< 

0,77 DG5. =4 1 DG5?L 6ODGG><; 

3 D>EF 64?>6>= ?D<5O?< ?D54?D<OF<O =4 9,41 % 6 >FG5F=>< 7>4G O6?O5FEO 

E?54EF6<5< MDD5>F<6=>EF< ?D>446 >F >E=>6=>= 45OF5?L=>EF< 6 >FG5F=>< 

7>4G; 

3 G?D46?5=G5E><5 D4EE>4O ?D54?D<OF<O G65?<G<?<EL 6 >FG5F=>< 7>4G =4 

9,35 %, GF> O6?O5FEO E?54EF6<5< D>EF4 74FD4F =4 >5GG5=<5 E>FDG4=<>>6, 4 

F4>65 G65?<G5=<5 D>=44 >??4FO FDG44; 

3 ?D<5O?L >F ?D>446 G65?<G<?4EL =4 9,42 %, 4 G<EF4O ?D<5O?L 

?D54?D<OF<O G65?<G<?4EL =4 42,12 % GF> O6?O5FEO ?>?>6<F5?L=>= 

F5=45=F<5= < E6O74=> E G65?<G5=<5< MDD5>F<6=>EF< 45OF5?L=>EF< 

?D54?D<OF<O; 

3 D>EF ED54=57>4>6>= EF><<>EF< >E=>6=OE D>=4>6 ?D54?D<OF<O 6 

>FG5F=>< 7>4G =4 37,81 % O6?O5FEO E?54EF6<5< <>45D=<74F<< >5N5>F>6 

>E=>6=OE ED54EF6 < 74>G?>< =>6>7> >5>DG4>64=<O; 

3 G65?<G5=<5 EF><<>EF< >5>D>F=OE ED54EF6 ?D54?D<OF<O 6 >FG5F=><G 

7>4G =4 10,59 %, O6?O5FEO E?54EF6<5< D>EF4 ?D><76>4EF65==>= <>M< 

?D54?D<OF<O; 

3 D5=F455?L=>EFL ?D>446 6 >FG5F=>< 7>4G G65?<G<?4EL =4 1,56 % < 

E>EF46<?4 6,22 %, GF> E6<45F5?LEF6G5F > D>EF5 5GE74?F5DE>>= ?D<5O?< 

?D54?D<OF<O; 

3 D>=4 >??4FO FDG44 6OD>E =4 10,33 %, GF> E6O74=> E G65?<G5=<5< 

ED54=5E?<E>G=>= G<E?5==>EF< ?5DE>=4?4 =4 2 % < ED54=5<5EOG=>= 

74D45>F=>= ??4FO =4 9,69 %; 

3 D>=4>>F44G4 E>>D4F<?4EL 6 >FG5F=>< 7>4G =4 27,9 %, GF> E6O74=> E 

=5MDD5>F<6=O< G?D46?5=<5< >4?<F4?>< ?D54?D<OF<O, D>=4>5<>>EFL 
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G65?<G<?4EL =4 37,16 % < E6<45F5?LEF6G5F > D>EF5 EF><<>EF< 

?D><76>4EF65==OE >E=>6=OE D>=4>6, ?D<E>4OMGNEO =4 1 DG5. ?D>4G>F<<; 

3  E>>D4M5=<5 >>MDD<F<5=F4 >5>D4G<645<>EF< =4 9,15 % 6 >FG5F=>< 

7>4G E6<45F5?LEF6G5F > =5MDD5>F<6=>< <E?>?L7>64=<< <>5<?L=OE 4>F<6>6 

?D54?D<OF<O. 

&4><< >5D47><, ?D54EF46?5==O= 4=4?<7 F5E=<>>-M>>=><<G5E><E 

?>>474F5?5= ?D54?D<OF<O E6<45F5?LEF6G5F >5 G4>6?5F6>D<F5?L=>< E>EF>O=<< 

?D54?D<OF<O, >4=4>> =45?N445FEO E=<65=<5 ?>>474F5?5= D>=4>>F44G< < 

<E?>?L7>64=<< >5>D>F=OE ED54EF6 ?D54?D<OF<O. 

� F5?>< ?D>6545==O= 4=4?<7 ?> 3 ?D54?D<OF<O< 7>6>D<F >5 MDD5>F<6=>EF< 

45OF5?L=>EF<: G65?<G5=<< 6ODGG>< < 4>E>4>6 >F >E=>6=>= =5DF5747>6>= 

45OF5?L=>EF<. 

� F5?OE ?D>6545=<O >F5=>< >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

?D54?D<OF<=, D4EE<>FD<< 74FD4FO ?D54?D<OF<= =4 ����$, F4> >4> >55E?5G5=<5 

>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= 74>?NG45FEO 6 74FD4F4E =4 <==>64F<>==>5 

D476<F<5 < ?4F5=FO («7G46<?»). &4> =4 D<EG=>5 6 ?D54EF46?5=4 4<=4<<>4 74FD4F 

��� «%565D=5DF5747?D><» =4 =5<4F5D<4?L=O5 4>F<6O < D47D45>F>< ����$. 

 

 
$<EG=>> 6 2 �4FD4FO =4 >55E?5G5=<5 >>=>GD5=F>E?>E>5=>EF< 

��� «%565D=5DF5747?D><» 
 

9232

120887

240915

47059 61188
91590

2019 7. 2020 7. 2021 7.

�5<4F5D<4?L=O5 4>F<6O $57G?LF4FO <EE?54>64=<= < D47D45>F>>
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�D54EF46?5==4O 4<47D4<<4 45<>=EFD<DG5F, GF> ?D54?D<OF<5 E >464O< 

7>4>< G65?<G<645F 74FD4FO =4 >55E?5G5=<5 >>=>GD5=F>E?>E>5=>EF<, ?D< MF>< 

>?NG564O D>?L >F6545=4 =5<4F5D<4?L=O< 4>F<64< 6 6<45 ?>?GG5=<O ?<F5=7<= < 

?4F5=F>6 6 >5?4EF< 4>5OG< =5DF< < 7474.  �4 D<EG=>5 7 ?D54EF46?5=4 4<=4<<>4 

74FD4F �� «%<5=5DF5747». 

 

 
$<EG=>> 7 2 �4FD4FO =4 >55E?5G5=<5 >>=>GD5=F>E?>E>5=>EF<  

�� «%<5=5DF5747» 
 

�D54EF46?5==4O 4<47D4<<4 45<>=EFD<DG5F, GF> ?D54?D<OF<5 �� 

«%<5=5DF5747» E >464O< 7>4>< E>>D4M45F 74FD4FO =4 <4F5D<4?L=O5 4>F<6O, ?D< 

MF>< 74FD4FO =4 ����$ 6>>5M5 >FEGFEF6GNF.  �4 D<EG=>5 8 ?D54EF46?5=4 

4<=4<<>4 74FD4F �� «$>E?4= �=F5D=5L=?». 

 

 

 

$<EG=>> 8 2 �4FD4FO =4 >55E?5G5=<5 >>=>GD5=F>E?>E>5=>EF<                                
�� «$>E?4= �=F5D=5L=?» 

2107660 2066930 2026690

2018 7. 2019 7. 2020 7.

�5<4F5D<4?L=O5 4>F<6O $57G?LF4FO <EE?54>64=<= < D47D45>F>>

566828 604114 740840

2019 7. 2020 7. 2021 7.

�5<4F5D<4?L=O5 4>F<6O $57G?LF4FO <EE?54>64=<= < D47D45>F>>
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%>7?4E=> ?D54EF46?5==><G D<EG=>G, EF><F >F<5F<FL, GF> �� «$>E?4= 

�=F5D=5L=?» 74FD4FO =4 ����$ =5 6545F, ?D< MF>< 74FD4FO =4 ?4F5=FO < 

?<F5=7<< F4>65 <<5NF F5=45=F<N > D>EFG, GF> >5GE?>6?5=> G65?<G5=<5< 

D47D45>F>> =4 F5E=>?>7<N 4>5OG< =5DF< < 7474. $4EE<4FD<64O >5MGN F5=45=F<N 

?D54EF46?5==OE ?D54?D<OF<=, EF><F >F<5F<FL, E>>D4M5=<5 <?< >FEGFEF6<5 74FD4F 

=4 D47D45>F>< ����$, GF> E=<645F >>=>GD5=F>E?>E>5=>EFL ?D54?D<OF<5 < >4> 

E?54EF6<5 E=<645F E<EF5<G >55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF< 

?D54?D<OF<O. $4EE<4FD<64O EFDG>FGDG G?D46?5=<O ?D54EF46?5==OE ?D54?D<OF<=, 

EF><F >F<5F<FL =4?<G<5 >F45?4 M>>=><<G5E>>= 557>?4E=>EF<, >4=4>> 

=45?N445FEO >FEGFEF6<5 >F45?4 <=D>D<4F<>==>= 557>?4E=>EF<, GF> ?>76>?O5F 

?>465D74FL ?D54EF46?5==O5 ?D54?D<OF<O G7D>74< ><55D4F4>, 654GM<< > ?>F5DO< 

>>=D<45=F<4?L=O= <=D>D<4F<< < >4> E?54EF6<5 ?>F5D< >>=>GD5=F>E?>E>5=>EF< 

?D54?D<OF<=.  

 

 2.2 �F5=>4 GE?>6<= D>D<<D>64=<O >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6OE >D74=<74F<= >4> <5E4=<7<4 >55E?5G5=<O M>>=><<G5E>>= 

557>?4E=>EF< 

 

�D< D>D<<D>64=<< GE?>6<= >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

>D74=<74F<=, EF><F ?D>65EF< 4=4?<7 ?>?<F<G5E><E, M>>=><<G5E><E, 

74>>=>44F5?L=OE < F5E=>?>7<G5E><E D4>F>D>6. 

$4EE<>FD<< 74>>=>44F5?L=O= D4>F>D.  � 2022 7>4G 74>>=>44F5?LEF6> $$ 

?D5F5D?5?> <7<5=5=<O, >>F>DO5 74FD>=GF D47?<G=O5 ED5DO 6<7=<. �5DF5747>64O 

>FD4E?L - =5 <E>?NG5=<5, =>6L5EF64 >>E=GFEO >4> ?D46>7> D57G?<D>64=<O, F4> < 

=4?>7>6OE <EG<E?5=<=. �4> >F<5F<? ?D54E544F5?L >><<F5F4 �>E4G<O ?> 

M=5D75F<>5 �465? �464?L=O=, MF>F 7>4 EF4? >4=<< <7 E4<OE E?>6=OE 6 ??4=5 

7=4G5=<O E6>56D5<5==>7> E>65DL5=EF6>64=<O 74>>=>44F5?LEF64 4?O 

?>445D64=<O EF45<?L=>EF< M>>=><<>< EFD4=O. �E57> 74 2022 7>4 �>E4G<4 
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$$ ?D<=O?4 653 74>>=4 2 MF> E4<>5 5>?LL>5 >>?<G5EF6> 74 6EN <EF>D<N D45>FO 

?4D?4<5=F4. �4=<< <7 E4<OE 65E><OE 4>>G<5=F>6 GE>4OM57> 7>44 EF4? 

5N465F>>5D47GNM<= 74>>=, >>F>DO=, 6 G4EF=>EF<, G65?<G<645F 6 2023-2025 

7>44E =4?>7>6GN =47DG7>G =4 747>6GN < =5DFO=GN >FD4E?< EFD4=O.  % 2023 

7>44 <5=O5FEO 5N465F=>5 ?D46<?>. �FE5G5=<O ?> =5DF< 5>?LL5 =5 5G45F. &5?5DL, 

?>4 547>6O<< =5DF5747>6O<< 4>E>44<< D545D4?L=>7> 5N465F4 ?>=<<45FEO 

D4EG5F=O= >5N5<, D46=O= 8000 <?D4 DG5. 5657>4=> 6 202332025 7>44E, 

?>4?564M<= 5657>4=>= <=45>E4F<< =4 4%, =4G<=4O E 2026 7>44.  

&4>65 «>= ?D54?>?4745F >>DD5>F<D>6>G E 1 O=64DO 2023 7>44 =4?>7>6>= 

EF46>< ?D< D4EG5F5 ���� =4 ?D<D>4=O= 747, 4 =5 E 1 <N?O, >4> ?D54GE<4FD<64?4 

D544>F<O ?5D6>7> GF5=<O. �5D6>=4G4?L=> ?D54?>?474?>EL, GF> E>6>>G?=> MF< 

<5DO ?>76>?OF G65?<G<FL ?>EFG??5=<O ?> ���� =4 747 74 FD< 7>44 5>?55 G5< =4 

2 FD<??<>=4 DG5?5=. �7<5=5=<O >4E4NFEO < M>E?>DF5D>6 E6<65==>7> ?D<D>4=>7> 

7474 (%��). �?O =<E 6 2023-2025 7>44E 74>>=>< ?>6OL45FEO =4?>7 4> 34%, GF> 

F4>65 G65?<G<F 4>E>4O D545D4?L=>7> 5N465F4 6 2023 7>4G. �D<G5< MF> >4E45FEO 

>D74=<74F<= 3 ?D><76>4<F5?5= %��, >>F>DO5 4> >>=F4 2022 7>44 >EGM5EF6<?< 

M>E?>DF E>FO 5O >4=>= ?4DF<< F4>>7> 7474. �>6OL5=<5 =4?>7>6>= =47DG7>< =4 

=5DF54>5O64NM<5 >D74=<74F<< 4>?6=> G65?<G<FL ?>EFG??5=<O 6 5N465F >F 

���� =4 =5DFL 6 2023-2025 7>44E EG<<4D=> =4 629 <<??<4D4>6 DG5?5=. � 

6D5<5==>5 G65?<G5=<5 (E 1 O=64DO ?> 31 <4DF4 2023 7>44) EF46>> ���� =4 380 

DG5?5= 74 F>==G =4 6E5 <4D>< G7?O, >D><5 5GD>7>, 44EF 4>?>?=<F5?L=> 5N465FG 

?>DO4>4 30 <<??<4D4>6 DG5?5=, ?D54GE<4FD<64?>EL 74>>=>?D>5>F><» [33]. 

�4D4??5?L=O= <<?>DF D47D5L5= 4?O D47?<G=OE >4F57>D<= F>64D>6, 6 F>< 

G<E?5 4?O <>F>D=>7> F>??<64, =5DF5?D>4G>F>6 < E<47>G=OE <4F5D<4?>6, 

46F><>5<?5=, <7>F>?>6, D54>>75<5?L=OE <5F4??>6, ?D>4G>F>6 E<<<G5E>>7> 

?D><76>4EF64, M?5>FD>=<><, ?D54<5F>6 D>E>>L< < ?D>G55. � E6O7< E >FEGFEF6<5< 

?D54?>EO?>> 4?O E=OF<O 4=F<D>EE<=E><E E4=>F<=, 74>>= 5G45F 45=EF6>64FL < 6 
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2023 7>4G. &4><< >5D47><, 6?<O=<5 74>>=>44F5?L=>7> D4>F>D4 EF><F >F<5F<FL, 

>4> =574F<6=>5. 

%?54GNM<< D4EE<>FD<< M>>=><<G5E><= D4>F>D. � =4G4?5 >>FO5DO 2022 

7>44 �% GF65D4<? 8-= ?4>5F E4=>F<=, E=O6L<= E 5 45>45DO 2022-7>/5 D56D4?O 

2023-7> 74?D5F =4 DD4EF < EFD4E>64=<5 <>DE><E ?>EF46>> =5DF</=5DF5?D>4G>F>6 

(44?55 ��) <7 $$ ?> F5=5 =<65 F5=>6>7> ?>F>?>4 (price cap). % 5 45>45DO F5=>6>= 

?>F>?>> =4 =5DFL E>EF46?O5F $60 74 54DD5?L < =5 6>?NG45F DD4EF, EFD4E>6>G, 

=4?>7< < ?D>G<5 E5>DO, F> 5EFL O6?O5FEO F5=>= >F7DG7>< <7 ?>DF4 $$. � 2021 7>4G 

=4 ?>EF46>< EODLO <>D5< 6 �% ?D<L?>EL ~70% M>E?>DF4. %<5L<64FL =5DFL E 

EODLU< <7 4DG7<E EFD4= 74?D5M5=>, => <>6=> ?5D5D454FO64FL 4?O ?D>446<. �?O 

=5DF<, ?>7DG65==>= 4> 5 45>45DO 2022-7>, 5EFL ?5D5E>4=O= ?5D<>4 4> 19 O=64DO 

2023-7>. �>F>?>> GEF4=46?<645FEO <<=<<G< =4 5% =<65 D4>F<G5E>>= EF><<>EF< 

D>EE<=E>>7> EODLO, ?> 44==O< �564G=4D>4=>7> M=5D75F<G5E>>7> 475=FEF64 

(�-�), < ?5D5E<4FD<645FEO >464O5 2 <5EOF4. �5D6O= ?5D5E<>FD ??4=<D>64?EO 6 

O=64D5, => 5O? >F?>65= EFD4=4<< G7 4> <4DF4 (D<EG=>> 9). 
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�>E?5 >>D>F>>7> ?D>64?4 6 =4G4?5 2022 7>44 $$ ?5D5=4?D46<?4 M>E?>DF 

=5DF< =4 4?LF5D=4F<6=O5 DO=><, 4 %��, 5>?55 <O7><= E?44 ��� < E=<65=<5 

>?F>6OE F5= ?>445D64?< ?>FD55?5=<5 =5DF5?D>4G>F>6 6 $$. �>MF><G 6 2022-< 

4>5OG4 =5DF< 6OD>E?4 =4 2% 4> 535 <?= F, 4 M>E?>DF 3 =4 7% 4> 247 <?= F. 

�>DE><5 ?>EF46>< =5DF</�� 6 �% ?> <F>74< 2022 7>44 3 >5NU<O ?>4 D<E>>< 

M<54D7>/F5=>6>7> ?>F>?>4 3 7DG5> >F5=<645< 6 65-70 <?= F/50 <?= F. 

�5>>F>DO5 M>E?5DFO (4=4?<F<>< JP Morgan) G>47O64?< =4 4>EF4F>G=>EFL 

F4=>5D=>7> D?>F4 $$, �<F4O < �=4<< < E>5EF65==>= EFD4E>6>=/D<=4=E>6>= 

<=DD4EFDG>FGDO 4?O E>ED4=5=<O ?>EF46>> =5DF< =4 <<D>6>= DO=>> ?D< GE?>6<< 

<7<5=5=<O F5?>G5> ?>EF46>>. $47D5LU==4O F>D7>6?O ��, ?>?GG5==O<< <7 

D>EE<=E>>= =5DF<, 3 F4>65 646=O= D4>F>D. �>?4745<, =>6O5 EE5<O ?>EF46>> 

5G4GF =4?465=O, 6>?D>E 74>?NG45FEO ?<LL 6> 6D5<5=< < F5=5. �5D6O5 F<DDO ?> 

>F7DG7>4< =5DF< 6 =4G4?5 2023 7>44, «75>7D4D<<» F4=>5D=>7> D?>F4 (D>EF4 G<E?4 

EG4>6 <7 $$ < E>65DL5==> =>6OE 4?O =4E EFD4=) < M>E?>DF=O< F5=4< MF> 

?>4F65D644NF. �> =5DFL ?5D5=4?D46<FL ?D>M5, 6 F. G. <7-74 D47D5L5=<O =4 5U 

?5D5D45>F>G. % =5DF5?D>4G>F4<< E?>6=55 3 �<F4= < �=4<O 74<=F5D5E>64=O 6 5U 

?5D5D45>F>5. &. 5. E?44 ?> �� <>65F 5OFL 5>?LL5, 4 ?> =5DF< 3 <5=LL5, G5< 

<>6=> 5O?> ?D54?>?>6<FL (D<EG=>> 10). 
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�4> <<5==> <7<5=OFEO ?>EF46>< EODLO 6 2023 7>4G, 4465 M>E?5DF4< E>474FL 

E?>6=>. �>MF><G <O D4EE<>FD<< FD< EF5=4D<O: 

ý >?F<<<EF<G=O= 3 M>E?>DF =5DF< < �� E=<645FEO =4 3% (-150 FOE. 

54DD./EGF><) < 9% (?>F5DO 25% ?>EF46>> 6 �%), E=<64O 4>5OGG =5DF< =4 

3,7% (-400 FOE. 54DD./EGF><); 

ý ED54=<= 3 M>E?>DF =5DF< < �� E=<645FEO =4 5% (-250 FOE. 

54DD./EGF><) < 17% (?>F5DO 50% ?>EF46>> 6 �%), E=<64O 4>5OGG =5DF< =4 

7% (-750 FOE. 54DD./EGF><); 

ý ?5EE<<<EF<G=O= 3 M>E?>DF =5DF< < �� E=<645FEO =4 8% (-400 FOE. 

54DD./EGF><) < 35% (?>F5DO 6E5E ?>EF46>> 6 �%), E=<64O 4>5OGG =5DF< =4 

13% (-1,4 <?= 54DD./EGF><). 

� 547>6>< EF5=4D<< =4 2023 7>4 6?4EF< 64GF +3%/-13% ?> M>E?>DFG 

=5DF</�� < -5% ?> 4>5OG5, 4 6 >>=E5D64F<6=>< 3 -21%/-27% < -21%. �<F5-

?D5<L5D �>64> 4>?GE>4? 6D5<5==O= ?D>64? 4>5OG< =4 500-700 FOE. 54DD./EGF>< 

E ~11 <?= 54DD./EGF>< 6 =>O5D5-45>45D5 2022 7>44. � =4EF>OM<= <><5=F F>G=O= 

GD>65=L F5= >?D545?<FL E?>6=> <7-74 <7<5=5=<O 75>7D4D<< ?>EF46>> < 

=4?>65==OE =4 $$ E4=>F<=: >><?4=<O< =5F E<OE?4 45?<FLEO E >FD4E?56O<< 

475=FEF64<< MF>= <=D>D<4F<5=, 4 <4D64 <7-74 ?>EF46>> <>65F >E544FL =4 

<=>EFD4==OE EG5F4E ?5D56>7G<>>6 </<?< ?>ED54=<>>6, 4DD<?<D>64==OE E 

=5DFO=O<< >><?4=<O<<. -F< 45=L7< <O <>65< G6<45FL G5D57 M>E?>DF GE?G7 <?< 

?D<F>> >4?<F4?4 ?> D<=4=E>6><G EG5FG, >4> D4=LL5 ?D<F>> <7 >DL>D>6. �> >=< 

<>7GF >EF464FLEO < 74 DG556><, GEG7G5?OO 6?<O=<5 =4 5N465F, M>>=><<>G < 

=4E5?5=<5. &4><< >5D47 6?<O=<5 M>>=><<G5E>>7> D4>F>D4, F>65 EF><F >F5=<FL, 

>4> =574F<6=>5. 

�4?55 D4EE<>FD<< ?>?<F<G5E><= D4>F>D. «�D>F<6 $>EE<< 6 2022 7>4G 5O?> 

66545=> D5>>D4=>5 >>?<G5EF6> E4=>F<=. �4<5>?55 5>?57=5==O5 74?D5FO >4E4?<EL 

M>E?>DF4 =5DF< >4> >4=>7> <7 7?46=OE <EF>G=<>>6 ?>?>?=5=<O 5N465F4. %4<4 

�6D>?4 EF>?>=G?4EL E <4>E<<4?L=O< >7D4=<G5=<5< ?>EF46>> 7474 <7 $>EE<<, 
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>>F>DO5 6> <=>7>< 5O?< >E=>6>= 55 M>>=><<G5E>>= <>M<. �4 < =4LG =5DFL �% 

5G45F 74<5=<FL =5?D>EF>. �?O EFD4= %F4D>7> %65F4 ?>?=>5 ?D5>D4M5=<5 ?>EF46>> 

=4L57> EODLO 5G45F >7=4G4FL ?<5> 45D<F<F F>??<64, F5??4 < M?5>FD>M=5D7<<, 

?<5>, 5E?< 74<5=4 <<?>DFG <7 $>EE<< 5G45F =4=45=4, E<?L=>5 ?>4>D>64=<5 

>><<G=4?L=OE GE?G7, FD4=E?>DF4 < ?>GF< 6E5E F>64D>6, F> 5EFL 7<?5D<=D?OF<N 

< M>>=><<G5E><= E?44. �?O $>EE<< ?D5>D4M5=<5 M>E?>DF4 =4 �4?44 =5 F4> 

D4F4?L=>, M=5D7>D5EGDEO >F MF>7> G =4E =5 <EG57=GF, => 4>E>4O 5N465F4 >F 

=5DF5747>6>= >FD4E?< E=<7OFEO, 4 >=< E>EF46?ONF 4> 40% 6E5E ?>EFG??5=<= 6 

>47=G» [35].  

�4<5>?55 «E?>6=4O E<FG4F<O E =5DF5?D>4G>F4<<. $>EE<O ?D><76>4<F <E 6 

464 D474 5>?LL5, G5< ?>FD55?O5F. �5EL M>E?>DF E>EF46<? 6 2021 7>4G 144 <?= F>==, 

<7 >>F>DOE 6 �6D>?G 5O?> >F?D46?5=> 88 <?= F>==, 4 6 %565D=GN �<5D<>G - 6 

<?= F>==. �?O ED46=5=<O: 6 EFD4=O �&$ 5O?> M>E?>DF<D>64=> 6E57> 20 <?= F>==. 

%4<4O E?>6=4O E<FG4F<O E 4<75?L=O< F>??<6><, 5>?55 FD5F< >5N5<>6 

?D><76>4EF64, >>F>D>7> ?D54=47=4G4?>EL 4?O �6D>?O. � 2021 7>4G =4 �4?44 5O?> 

>F?D46?5=> 5>?55 33 <?= F>==. � �&$ >=< =5 =G6=O, G =<E E6>< <>M=>EF<, =4< 

>EF45FEO ?D>4464FL 4<75?L E >G5=L 5>?LL>= E><4>>= <?< E=<64FL ?D><76>4EF6> 

<, E>>F65FEF65==>, 4>5OGG =5DF<. � MF> >?OFL E=<65=<5 =4?>7>6OE ?>EFG??5=<=, 

?D<>EF4=>6>4 D54?<74F<< =>6OE ?D>5>F>6, < EF47=4F<O =4 DO=>5 FDG44. �4F> E 

55=7<=>< ?D>M5, >= 6>EFD55>64= 6 �&$ < EFD4=4E %��, > F><G 65 M>E?>DF<D>64?< 

<O 57> =5 5>?55 10% >F 6E57> ?D><76>4EF64. �>F5D< D>EE<=E>>= 4>5OG< 6 2023 7. 

<>7GF E>EF46<FL >F 0,5 4> 1,5 <?= 5/E 6 746<E<<>EF< >F F>7>, =4E>>?L>> 

?D>5?5<=O< 4?O >FD4E?< >>465FEO <5E4=<7< ?>F>?>4 F5=» [38]. 

�, =4>>=5F, D4EE<>FD<< F5E=>?>7<G5E><= D4>F>D. �5DF5747>6O= E5>F>D 

74=<<45F 654GM55 <5EF> 6 >F5G5EF65==>= M>>=><<>5. �>?LL4O G4EFL 5N465F4 

EFD4=O D>D<<DG5FEO <7 ?>EFG??5=<= ?D54?D<OF<= MF>= ED5DO. �D<>D<F5F=O<< 

=4?D46?5=<O<< D476<F<O >FD4E?< O6?ONFEO: 

2 G45D64=<5 F5>GM57> GD>6=O 4>5OG<; 
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2 ?>6OL5=<5 >?5D4F<>==>= MDD5>F<6=>EF< E5>F>D4; 

2 4>EF<65=<5 6OE>><E ?5D545?>6 =5DF5?5D5D45>F>< < =5DF5E<<<<; 

2 G65?<G5=<5 >5N5<4 M>E?>DF4 ?D>4G>F<< ?5D5D45>F>< E 6OE>>>=  

4>546?5==>= EF><<>EFLN. 

�D><5 F>7>, =5DF5747>6O= E5>F>D >E64FO64NF <=>65EF6> 4DG7<E >FD4E?5=. 

�D54?D<OF<O< &-� =5>5E>4<<4 4??4D4FGD4, E=4DO65=<5, D5475=FO, 

>5>DG4>64=<5 4?O EFD><F5?LEF64. �?47>44DO D>EFG =5DF5747>6>7> E5>F>D4, 

E>744NFEO >?F<<4?L=O5 GE?>6<O 4?O GE>>D5==>7> D476<F<O 6 4DG7<E ED5D4E 

?D><76>4EF64: D47D454FO64NFEO 5>?55 45L56O5 < MDD5>F<6=O5 <4F5D<4?O, 

?>O6?ONFEO =>6O5 F5E=>?>7<< <E ?D<<5=5=<O. �4?D<<5D, 6 �4L>>DF>EF4=5 <4GF 

D45>FO ?> ??4=O ?> ?D5>5D47>64=<N =5DF5E<<<G5E><E 746>4>6. � E?<E>5 

?D<>D<F5F>6 D5E?G5?<>< 16 ?D>5>F>6 ?> =5DF5?5D5D45>F>5, 6 EG<<5 

E>EF46?ONM<E >4?<F4? 6 200 <<??<4D4>6 DG5?5=. �5DF54>5O64NM<5 >><?4=<< 

6E5 G4M5 ?D<5574NF > ?><>M< <EE?54>64F5?5=. &4>, «%��'$ %>?4<=7» 

74D57<EFD<D>64? >><?4=<N ���%& 6 &><E>>= ->>=><<G5E>>= >5?4EF<, >>F>D4O, 

6 EGM=>EF<, O6?O5FEO R&D-F5=FD>< ?D54?D<OF<O. 

�5DF5747>6O5 «<==>64F<< < F5E=>?>7<< =4?D46?5=O =4 >55E?5G5=<5 

>FD4E?< E>6D5<5==O< >5>DG4>64=<5< =4 6E5E EF44<OE, >F ?D>5>F<D>64=<O, 

?>EF46>< < <>=F464 4> ?>?=>= F5E=<G5E>>= ?>445D6>< 6> 6D5<O D45>FO. 

%>6D5<5==O5 D47D45>F>< =4?D46?5=O =4 <>45D=<74F<N EF4D>7> >5>DG4>64=<O, 

>?F<<<74F<N EF><<>EF<, ED>>>6 ?>EF46>< < E>5?N45=<5 ?D<D>4>>ED4==OE 

FD55>64=<=. &5E=>?>7<G5E><5 <==>64F<< ?>76>?ONF 65EF< 4>5OGG <7 

<5EF>D>645=<=, D47D45>F>4 >>F>DOE 5M5 =5E>>?L>> ?5F =4744 >474?4EL 

=56>7<>6=>= (=4?D<<5D, 5GD>6O5 =4 L5?LD5 < =5DF5=>E=OE ?5E>4E). 

�>?LL<=EF6> ?D54?D<OF<= 654GF >?5D4F<>==GN 45OF5?L=>EFL 6 GE?>6<OE 

?>6OL5==>= >?4E=>EF<. �>MF><G <==>64F<>==O5 D5L5=<O 6 >5?4EF< >ED4=O 

FDG44, ?D><76>4EF65==>7> >>=FD>?O, <>=<F>D<=74 >5>DG4>64=<O 646=O 4?O 

>55E?5G5=<O 557>?4E=>EF< >>DG64NM5= ED54O < 74>D>6LO D45>F=<>>6» [19]. 
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%GM5EF6G5F =5E>>?L>> MDD5>F<6=OE <>45?5= <==>64F<>==OE D5L5=<=: 

2 E>FDG4=<G5EF6> E 6=5L=<<< ?4DF=5D4<<; 

2 F6>DG5E><= ?><E> =>64F>DE><E <45=; 

2 >>D?>D4F<6=O5 65=GGD=O5 D47D45>F><; 

2 5<7=5E-<=>G54F>DO. 

�D< «6=54D5=<< =>6OE F5E=>?>7<= >4=>= <7 7?46=OE 7444G >EF45FEO F>G=4O 

>F5=>4 MDD5>F<6=>EF< <==>64F<=. �5 <5=55 646=O< O6?O5FEO ?><E> 

6OE>>>>64?<D<F<D>64==OE >44D>6 < ?4DF=5D>6 ?> E>FDG4=<G5EF6G. � 2023 7>4G 

<>65F ?D><7>=F< D57><= D>EF 74?GE>4 < 6=54D5=<O D>EE<=E><E �&-D5L5=<= 6 

F>??<6=>-M=5D75F<G5E>>< E5>F>D5. �5>>F>DO5 F4><5 ?D>4G>FO D4=55 G65 

?>EFG?<?< =4 DO=>>. �4<= <7 =<E - «$�-�$��». -F> D>EE<=E><= E<<G?OF>D 

7<4D>D47DO64 ??4EF4 (�$�) =>6>7> ?>>>?5=<O, ?>76>?ONM<= <4>E<<4?L=> F>G=> 

>?<EO64FL E?>6=GN 75><5FD<N FD5M<=O, 6>7=<>4NM5= 6 ?>D>45 ?D< 

?D>6545=<< �$�. �4 2021-2022 77. 6 «�D5=5GD7=5DF<» E<>45?<D>64=> 240 

4<74==>6 �$�, 4 74?GE>=>= 455<F (>5N5< =5DF<, ?>EFG?4NM5= 6 54<=<FG 

6D5<5=<) >F >?5D4F<= 7<4D>D47DO64 6 ED54=5< 5O? G65?<G5= 646>5. �DG74O 

>F5G5EF65==4O D47D45>F>4 6 >5?4EF< �� 3 7<4D>4<=4<<G5E><= E<<G?OF>D «$�-

���», ?>76>?ONM<= E>74464FL «F<DD>6O5 46>==<><» =5DF5747>6OE 

<5EF>D>645=<=» [33].  

-F> «�� F4>65 E?>E>5=> <>45?<D>64FL 6E5 646=5=L<5 ?D>F5EEO, 

?D><EE>4OM<5 6 ??4EF5 ?D< 4>5OG5 =5DF< < 7474. -F> E?54G5F <7 E54L<>7> 

<564G=4D>4=>7> >FG5F4 Accenture > F<DD>6OE F5E=>?>7<OE 6 =5DF5747>6>= 

>FD4E?< (Accenture Upstream Oil and Gas Digital Trends Survey 2019), >E=>64==>7> 

=4 >?D>E5 255 ?D>D5EE<>=4?>6 >FD4E?<, 6>?NG4O F>?-<5=5465D>6, 

DG=>F<>=4?L=OE ?<45D>6 < F5E=<G5E><E E?5F<4?<EF>6. �5 MF>< 14 D56D4?O 2020 

7>44 E>>5M<?< 6 Accenture. %D54< =4?D46?5=<= F<DD>6OE <=65EF<F<= 

D5E?>=45=FO G4M5 6E57> G?><<=4?< ><55D557>?4E=>EFL: 55 >F<5F<?< 61% 

>?D>L5==OE, GF> 6 5 D47 6OL5, G5< 6 2017 7>4G (12%). � >FG5F5 F4>65 >F<5G45FEO, 
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GF> <=65EF<F<< 6 MFG ED5DG D57>> 6>7D>E?< <7-74 EFD5<?5=<O =5DFO=OE >><?4=<= 

74M<F<FL E6>< 4>F<6O < D5?GF4F<N. �><<<> MF>7>, ED54< 6E5E F<DD>6OE 

F5E=>?>7<= <<5==> ><55D557>?4E=>EFL 5O?4 >F<5G5=4 =4<5>?LL<< >>?<G5EF6>< 

D5E?>=45=F>6 (16% ?D>F<6 9% 6 2017 7>4G) >4> >>47O64NM4O <4>E<<4?L=>5 

6?<O=<5 =4 MDD5>F<6=>EFL 5<7=5E4. �5E<>FDO =4 6>7D>EL<5 <=65EF<F<< 6 

><55D557>?4E=>EFL, ?<LL 5% >?D>L5==OE EG<F4NF GO76<<>EFL 

> ><55D4F4>4< E4<O< 5>?LL<< D<E>>< =54>EF4F>G=>7> D<=4=E<D>64=<O 6 

>5?4EF< F<DD>6OE F5E=>?>7<= 2 MF> ?<LL FD5FL >F GD>6=O 2017 7>44 (18%). 

�>7<>6=>, MF> >5NOE=O5F, ?>G5<G ?<LL 35% D5E?>=45=F>6 ??4=<DGNF 

<=65EF<D>64FL 6 <=D>D<4F<>==GN 557>?4E=>EFL 6 F5G5=<5 5?<64=L<E FD5E-?OF< 

?5F» [31]. 

% «<4DF4 2022 7>44 6 $>EE<< ?>O6<?<EL FDG4=>EF< E <<?>DF>< 

>5>DG4>64=<O. �5E<>FDO =4 MF>, E>ED4=O5FEO D>EF DO=>4 AR/VR-D5L5=<= =4 31% 

6 7>4, < <E ?>F5=F<4? D4EL<DO5FEO. �E?< 6 2020 7>4G >>D?>D4F<< F>?L>> <7GG4?< 

6>7<>6=>EF< AR/VR =4 6>?=5 ?4=45<<<, F> F5?5DL >=< 6=54DONF 

<E 6 ?D><76>4EF65==O5 ?D>F5EEO» [31]. 

AR/VR-F5E=>?>7<< F>G5G=> <E?>?L7GNFEO 6 7>EE5>F>D5, 74D46>>ED4=5=<< 

< ED5D5 D476?5G5=<=. �4=4>> 5>?LL5 ?>?>6<=O D5L5=<= ?D<<5=ONF <<5==> 

6 &-� < =4 ?D><76>4EF65==OE ?D54?D<OF<OE. &5E=>?>7<< AR/VR ?><>74NF 

6<7G4?<7<D>64FL «F<DD>6OE 46>==<>>6» 4?O <<<F4F<< ?D><76>4EF65==>= ED54O, 

G44?5==> 674<<>45=EF6>64FL E?5F<4?<EF4< =4 D47=OE ?>>4F<OE, 4464FL 

F<DD>6O5 <=EFDG>F<< < G?D46?OFL 45=EF6<O<< >?5D4F<>==>7> ?5DE>=4?4. 

&4><< >5D47><, F5E=>?>7<G5E><= D4>F>D >>47O645F 46>==>5 6?<O=<5 =4 

D476<F<5 >>=>GD5=F>E?>E>5=>EF< <EE?54>64==OE ?D54?D<OF<=, 6 GE?>6<OE 

E4=>F<=. �D>6545==>5 <EE?54>64=<5 ?>76>?<?> ED>D<<D>64FL ?D54EF46?5=<5 > 

6?<O=<< >?NG56OE D4>F>D>6, >55E?5G<64NM<E >>=>GD5=F>E?>E>5=>EFL 

=5DF5747>6OE >D74=<74F<< E GG5F>< 6?<O=<O =4 <E M>>=><<G5E>GN 557>?4E=>EFL, 

D57G?LF4FO >FD465=O 6 F45?<F5 11. 
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&45?<F4 11 2 �?<O=<5 D4>F>D>6 >>=>GD5=F>E?>E>5=>EF< =4 <EE?54G5<O5 
?D54?D<OF<O 
 

$4>F>D �?<O=<5 (+/ 2) 

�4>>=>44F5?L=O= 2 
�>?<F<G5E><= 2 
->>=><<G5E><= 2 
&5E=>?>7<G5E><= +/ 2 
�>?<F<G5E><= 2 

 

&4><< >5D47><, ?D54EF46?5==O5 D4>F>DO 6 E6>5< 5>?LL<=EF65 >>47O64NF 

=574F<6=>5 6?<O=<5 =4 D476<F<5 >>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE 

>D74=<74F<=, ?D< MF>< ?>465D74O <EE?54G5<O5 ?D54?D<OF<O G7D>74< 

M>>=><<G5E>>= 557>?4E=>EF<. 

 

2.3 ->E?5DF=4O >F5=>4 >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<O 

 

%>6>>G?=4O >>=>GD5=F>E?>E>5=>EFL >D74=<74F<< >?<D45FEO =4 

>><??5>E=GN E<EF5<G ?>>474F5?5= 6 D4<>4E 46GE 5?>>>6: 

>>=>GD5=F>E?>E>5=>EFL 5<7=5E-?D>F5EE>6 < >>=>GD5=F>E?>E>5=>EFL ?D>4G>F<<. 

'G<FO64O E?5F<D<>G 45OF5?L=>EF< ?D54?D<OF<=, 5>?55 4>FG4?L=O< O6?O5FEO 

>>=>GD5=F>E?>E>5=>EFL 5<7=5E-?D>F5EE>6, >>F>D>5 < ?>76>?O5F G?GGL<FL 

E>EF>O=<5 M>>=><<G5E>>= 557>?4E=>EF< ?D54?D<OF<=. 

->E?5DF=4O «>F5=>4 D4>F>D>6 >>=>GD5=F>E?>E>5=>EF< >><?4=<= 5G45F 

6O?>?=5=4 =4<< ?GF5< 4=>5F=>7> >?D>E4 M>E?5DF>6 E D4=6<D>64=<5< 

?>>474F5?5= >>=>GD5=F>E?>E>5=>EF< < 6OO6?5=<5< <E 65E><>EF<.  ->E?5DF4<< 6 

44==>< E?GG45 O6?O?<EL 3 E>FDG4=<>>6 (M>>=><<EF>6) ?>4DO4=OE >><?4=<= 

6OL5 <EE?54>64==OE ?D54?D<OF<=, >>F>DO5 <<5NF 45=EF6GNM<5 4>7>6>DO E 

?D54?D<OF<O<< ED>>>< 5>?55 1 7>44.  $4=6<D>64=<5 M>E?5DFO ?D>6>4OF 

E4<>EF>OF5?L=>, >?<D4OEL =4 E6>= >?OF < 6>7<>6=O5 <7<5=5=<O >5EF4=>6>< 6 

5G4GM5<. �?O ?D>6545=<O M>E?5DF=>= >F5=>< D4>F>D>6 >>=>GD5=F>E?>E>5=>EF< 
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=4 ?D<<5D5 >><?4=<= =5DF5747>6>= >FD4E?< >><4=45 M>E?5DF>6 5O?< D>744=O 

>F5=>G=O5 5?4=><. �??4D4F «>F5=>< 5G45< 6OEFD4<64FL ?> E?54GNM<< 

?4D4<5FD4<: 

2 0 3 =G?56>= GD>65=L >>=>GD5=F>E?>E>5=>EF< ?> 7444==><G D4>F>DG 

>?D545?5==>= >4F57>D<< >>=>GD5=F>E?>E>5=>EF<;  

2 25 3 =<7><= GD>65=L >>=>GD5=F>E?>E>5=>EF< 7444==>7> D4>F>D4;  

2 50 3 ED54=<= GD>65=L;  

2 75 3 6OE>><= GD>65=L >>=>GD5=F>E?>E>5=>EF< D4>F>D4;  

2 100 3 >G5=L 6OE>><=, 45E>?NF=O= GD>65=L >>=>GD5=F>E?>E>5=>EF<, 

D46=O= 1 ?> >F=>L5=<N > 7444==><G >5D47FG, 7<?>F5F<G5E>><G MF4?>=G 

<?< 7=4G5=<N 4=4?>7<G=>7> ?>>474F5?O >>=>GD5=F4» [29]. 

&4> 4?O <EE?54>64=<O M>E?5DF=>= >F5=>< >>=>GD5=F>E?>E>5=>EF< 5O?< 

67OFO D57G?LF4FO 6=5L=5= < 6=GFD5==5= ED54O ?D54?D<OF<O. 

� F45?<F4E 12 3 14 ?D54EF46?5=O >F5=>< M>E?5DF>6 ?> D4>F>D4< 6=5L=5= 

ED54O D476<F<O >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<=. �7 ?D54EF46?5==>7> 

4=4?<74 EF><F >F<5F<FL, GF> =4<5>?55 ?5DE?5>F<6=O< O6?O5FEO ?D54?D<OF<5      

��� «%565D=5DF5747?D><», F5< E4<O< 44==>5 ?D54?D<OF<5 <<55F =4<5>?55 

GEF>=G<6GN E<EF5<G M>>=><<G5E>>= 557>?4E=>EF< E 6=5L=5= ?>7<F<<. 

 

&45?<F4 12 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=5L=5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= �� «$>E?4= �=F5D=5L=?» 
 

$4>F>DO >>=>GD5=F>E?>E>5=>EF< 

�F5=>4 
M>E?5DF>6 

%D.7=4G. 
>F5=>>, 

�i? 

 
�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 

1 2 3 

->>=><<G5E><= D4>F>D 35 40 45 40 0,2 8 
�4>>=>44F5?L=O= D4>F>D 50 55 50 51,667 0,2 10,33 
�>?<F<G5E><= D4>F>D 45 40 35 40 0,3 12 
&5E=>?>7<G5E><= D4>F>D 45 50 55 50 0,3 15 
�F>7> 175 185 185 181,667 1 45,33 
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&45?<F4 13 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=5L=5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= �� «%<5=5DF5747» 
 

$4>F>DO >>=>GD5=F>E?>E>5=>EF< �F5=>4 
M>E?5DF>6 

%D.7=4G. 
>F5=>>, 

�i? 

 
�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 

1 2 3 

->>=><<G5E><= D4>F>D 40 40 40 40 0,2 8 
�4>>=>44F5?L=O= D4>F>D 45 50 55 50 0,2 10 
�>?<F<G5E><= D4>F>D 40 45 40 41,667 0,3 12,5 
&5E=>?>7<G5E><= D4>F>D 35 30 35 33,333 0,3 10 
�F>7> 160 165 170 165 1 40,5 

 

&45?<F4 14 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=5L=5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= ��� «%565D=5DF5747?D><» 
 

$4>F>DO >>=>GD5=F>E?>E>5=>EF< �F5=>4 
M>E?5DF>6 

%D.7=4G. 
>F5=>>, 

�i? 

�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 

1 2 3 

->>=><<G5E><= D4>F>D 55 60 55 56,667 0,2 11,33 
�4>>=>44F5?L=O= D4>F>D 55 60 65 60 0,2 12 
�>?<F<G5E><= D4>F>D 50 55 60 55 0,3 16,5 
&5E=>?>7<G5E><= D4>F>D 60 65 75 66,667 0,3 20 
�F>7> 220 240 255 238,334 1 59,83 

 

�F5=>G 6?<O=<O 6=GFD5==<E D4>F>D>6 ?D>6545< ?> EF4=44DF<7<D>64==>= 

>F5=>5 >>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<=: <E?>?L7GO ?>>474F5?< D<=4=E>6>= 

GEF>=G<6>EF<, ?<>6<4=>EF<, GD>6=O 74FD4F =4 ����$ < =5<4F5D<4?L=O5 4>F<6O, 

GD>6=O ><55D557>?4E=>EF< (F45?<FO 15-17), 4?O MF>7> 5O?4 <E?>?L7>64=4 

5GE74?F5DE>4O >FG5F=>EFL ?D54?D<OF<O (?D<?>65=<5 �, F45?<FO �.1-�.6). 

 
&45?<F4 15 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=GFD5==5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= �� «$>E?4= �=F5D=5L=?» 
 

$4>F>DO 
>>=>GD5=F>E?>E>5=>EF< 

�F5=>4 M>E?5DF>6 %D.7=4G. 
>F5=>>, 

�i? 

�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 1 2 3 

�>>474F5?L 45E>?NF=>= 
?<>6<4=>EF< 

35 30 25 30 0,05 1,5 
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�D>4>?65=<5 F45?<FO 15 
 

$4>F>DO 
>>=>GD5=F>E?>E>5=>EF< 

�F5=>4 M>E?5DF>6 %D.7=4G. 
>F5=>>, 

�i? 

�46=>EFL 
?>>474F5?O 

 

�=F57D4?L=4O 
>F5=>4 1 2 3 

�>>474F5?L E>5EF65==>= 
??4F565E?>E>5=>EF< 

10 10 30 16,667 0,1 1,7 

�>>474F5?L 
744>?65==>EF< 

30 30 40 33,333 0,1 3,3 

�>>474F5?L D<=4=E>6>= 
GEF>=G<6>EF< 

45 45 50 46,667 0,05 2,3 

'D>65=L 74FD4F =4 
����$ 

0 0 0 0 0,2 0,0 

'D>65=L 74FD4F =4 
=5<4F5D<4?L=O5 4>F<6O 

20 20 20 20 0,2 7,3 

'D>65=L 
><55D557>?4E=>EF< 

40 45 50 45 0,3 13,0 

�F>7> 180 180 215 191,667 1 29,2 
 

&45?<F4 16 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=GFD5==5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= �� «%<5=5DF5747» 
 

$4>F>DO 
>>=>GD5=F>E?>E>5=>EF< 

�F5=>4 M>E?5DF>6 %D.7=4G. 
>F5=>>, 

�i? 

�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 1 2 3 

�>>474F5?L 45E>?NF=>= 
?<>6<4=>EF< 

20 20 20 20 0,05 1,0 

�>>474F5?L 
E>5EF65==>= 
??4F565E?>E>5=>EF< 

30 20 20 23,333 0,1 2,3 

�>>474F5?L 
744>?65==>EF< 

60 55 60 58,333 0,1 5,8 

�>>474F5?L D<=4=E>6>= 
GEF>=G<6>EF< 

60 60 60 60 0,05 3,0 

'D>65=L 74FD4F =4 
����$ 

0 0 0 0 0,2 0,0 

'D>65=L 74FD4F =4 
=5<4F5D<4?L=O5 
4>F<6O 

40 40 40 40 0,2 11,2 

'D>65=L 
><55D557>?4E=>EF< 

45 40 35 40 0,3 20,0 

�F>7> 255 235 235 241,666 1 43,3 
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&45?<F4 17 2 �F5=>4 M>E?5DF>6 ?> D4>F>D4< 6=GFD5==5= ED54O D476<F<O 
>>=>GD5=F>E?>E>5=>EF< ?D54?D<OF<= ��� «%565D=5DF5747?D><» 
 

$4>F>DO 
>>=>GD5=F>E?>E>5=>EF< 

�F5=>4 M>E?5DF>6 %D.7=4G. 
>F5=>>, 

�i? 

�46=>EFL 
?>>474F5?O  

�=F57D4?L=4O 
>F5=>4 1 2 3 

�>>474F5?L 45E>?NF=>= 
?<>6<4=>EF< 

60 65 70 65 0,05 3,3 

�>>474F5?L E>5EF65==>= 
??4F565E?>E>5=>EF< 

60 60 60 60 0,1 6,0 

�>>474F5?L 
744>?65==>EF< 

60 60 60 60 0,1 6,0 

�>>474F5?L D<=4=E>6>= 
GEF>=G<6>EF< 

65 60 65 63,333 0,05 3,2 

'D>65=L 74FD4F =4 
����$ 

30 35 35 33,333 0,2 6,7 

'D>65=L 74FD4F =4 
=5<4F5D<4?L=O5 4>F<6O 

35 40 35 36,667 0,2 21,8 

'D>65=L 
><55D557>?4E=>EF< 

60 60 65 61,667 0,3 37,7 

�F>7> 370 380 390 380 1 84,6 
 

� D57G?LF4F5 ?D>6545==>7> 4=4?<74 6=GFD5==<E D4>F>D>6 EF><F >F<5F<FL, 

GF> ��� «%565D=5DF5747?D><» O6?O5FEO =4<5>?55 GE?5L=O<. 

�> «<F>74< ?D>6>4<<>= M>E?5DF<7O <O <>65< G6<45FL =5 F>?L>> 

?D>5?5<=O5 >5?4EF< >4> 6=GFD< >D74=<74F<<, F4> < 6=5 55, ED46=<FL ?>>474F5?< 

E> 7=4G5=<O<< >?NG56OE >>=>GD5=F>6, => F4>65, <EE>4O <7 M>E?5DF=>7> 

D4=6<D>64=<O D4>F>D>6 >>=>GD5=F>E?>E>5=>EF<, >?D545?<FL EF5?5=L 

?D<>D<F5F=>EF< >464>7> <7 =<E 4?O >55E?5G5=<O >5M5= >>=>GD5=F>E?>E>5=>EF< 

>D74=<74F<<» [24]. 

&4> ?D54EF46?5==O= 4=4?<7 G>474? =4 =4?<G<5 ?D>5?5< E <==>64F<>==>= 

45OF5?L=>EFLN ?D54?D<OF<=, >55E?5G5=<5< ><55D557>?4E=>EF< ?D54?D<OF<=, GF> 

>>47O645F =574F<6=>5 6?<O=<5 =4 E>EF>O=<5 E<EF5<O M>>=><<G5E>>= 

557>?4E=>EF< ?D54?D<OF<=. 
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3 �5E4=<7< E>65DL5=EF6>64=<O 45OF5?L=>EF< =5DF5747>6OE >><?4=<= 

4?O >55E?5G5=<O <E >>=>GD5=F>E?>E>5=>EF< 

 

3.1 $47D45>F>4 <5F>4<G5E><E ?>?>65=<= ?> >?D545?5=<N GE?>6<= < 

<5E4=<7<>6 E>65DL5=EF6>64=<O 45OF5?L=>EF< =5DF5747>6OE >><?4=<= 

4?O >55E?5G5=<O <E >>=>GD5=F>E?>E>5=>EF< 

 

�4 E>6D5<5==>< MF4?5 E GG5F>< 66545==OE E4=>F<= < >7D4=<G5=<= 4?O 

=5DF5747>6>7> >><??5>E4, 4>EF<65=<5 >>=>GD5=F>E?>E>5=>EF< 4>?6=> 

4>EF<74FLEO ?>ED54EF6>< ?>EF>O==>7> 6=GFD5==57> E>FDG4=<G5EF64 <564G 

?D54?D<OF<O<< =5DF5747>6>7> >><??5>E4 $$ < 674<<>45=EF6<O E 6=5L=<< 

DO=>>< ?>ED54EF6>< ?D54?D<OF<=, =5 ?>?46L<= 6 E?<E>> E4=>F<>==OE 4?O 

�6D>E>N74. �4=4>> ?5D6>EF5?5==> =5>5E>4<<> ?>=OFL ?> ?D>6545==><G 4=4?<7G, 

GF> 7=4G<F 4?O =5DF5747>6>7> >><??5>E4 ?>6OL5=<5 >>=>GD5=F>E?>E>5=>EF<. 

�D>6545==>5 <EE?54>64=<5 < 6OO6?5==O5 ?D>5?5<O ?>76>?<?> ED>D<<D>64FL 

46F>DE>>5 ?>=OF<5 >>=>GD5=F>E?>E>5=>EF< =5DF5747>6>= >FD4E?< 6 F5?OE 

>55E?5G5=<O M>>=><<G5E>>= 557>?4E=>EF<. 

&4><< >5D47><, >>=>GD5=F>E?>E>5=>EFL =5DF5747>6>= >FD4E?< 

?D54EF46?O5F E>5>= E>EF>O=<5 F5E=<>>-<==>64F<>==>= < <=65EF<F<>==>= 

4>F<6=>EF< ?D54?D<OF<=, ?D54>EF46?ONM5= >>=>GD5=F=O5 ?D5<<GM5EF64 

>D74=<74F<<. 

�5D6>EF5?5==> =4 >E=>64=<< ?D>6545==>7> 4=4?<74 3 >DG?=5=L<E 

=5DF5747>6OE >><?4=<= =5>5E>4<<> D47D45>F4FL EFD4F57<N ?>6OL5=<O 

>>=>GD5=F>E?>E>5=>EF<. � =4L5< ?>=<<4=<<, EFD4F57<O ?>6OL5=<O 

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6>7> >><??5>E4 ?D54EF46?O5F E>5>= >><??5>E 

<5D>?D<OF<=, =4?D46?5==OE =4 D476<F<5 =5DF5747>6>= >FD4E?<, =4G<=4O >F 

D>D<G?<D>6>< F5?5=, ?>EFD>5=<O E<EF5<O >>>?5D4F<>==OE E6O75= 6=GFD< 

>FD4E?<, >F >?D545?5=<O >?F<<4?L=>= ?D><76>4EF65==>= <=DD4EFDG>FGDO 4> 
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D47D45>F>< < D54?<74F<N ?D>5>F>6 ?> E>744=<N =>6OE >5D47F>6 ?D><OL?5==>= 

?D>4G>F<<, =>6OE ?D><76>4EF65==OE F5E=>?>7<=, D54?<74F<< E5OF>6>=, 

<4D>5F<=7>6>= < D5>?4<=>= ?>?<F<><. 

�E=>6=O5 MF4?O D47D45>F>< EFD4F57<< ?>6OL5=<O >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6>7> >><??5>E4 ?D54EF46?5=O =4 D<EG=>5 11. 

 

 

 
$<EG=>> 11 2 -F4?O D47D45>F>< EFD4F57<< ?>6OL5=<O  

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6>7> >><??5>E4 
 

%?54G5F >F<5F<FL, GF> EFD4F57<N ?>6OL5=<O >>=>GD5=F>E?>E>5=>EF< 

<4L<=>EFD><F5?L=>7> >?4EF5D4 F5?5E>>5D47=> D47D454FO64FL =4 5 ?5F. 

�7 ?D54?4745<>= EFD4F57<< EF><F >F<5F<FL, GF> >E=>6=4O D>?L 6 44==>= 

�D>6545=<5 4=4?<74 D4>F>D>6 
6=5L=5= < 6=GFD5==5= ED54O 
=5DF5747>6>7> ?D54?D<OF<O

$>D<G?<D>6>4 
EFD4F57<G5E><E F5?5= 

?>6OL5=<O
>>=>GD5=F>E?>E>5=>EF<

$47D45>F>4 < >F5>D 
EFD4F57<G5E><E 

4?LF5D=4F<6 
D>D<<D>64=<O < 

D476<F<O 
>>=>GD5=F=OE 
?D5<<GM5EF6  
=5DF5747>6>7> 
?D54?D<OF<O

�?D545?5=<5 
F5?56OE 

?>>474F5?5= >F5=>< 
4>EF<65=<O 

GEF4=>6?5==OE 
?4D4<5FD>6

�O5>D ?D<>D<F5F=OE ?D>5>F>6 
(=4?D<<5D, ?D>6545=<5 
<>45D=<74F<<, D476<F<5 

?D><76>4EF65==>= 
<=DD4EFDG>FGDO, D47D45>F>G 
=>6OE F5E=>?>7<G=OE 6<4>6 

?D>4G>F<< 6 D4<>4E 
E?5F<4?<74F<<)

�D>6545=<5 >?F<<<74F<< 
45OF5?L=>EF< < 

D>D<<D>64=<5 >?F<<4?L=OE 
4<65DE<D<F<D>64==OE 

?D>4G>F>6OE ?>DFD5?5= 
?D54?D<OF<= =5DF5747>6>7> 

>><??5>E4

$47D45>F>4 E<EF5<O 
>>>D4<=4F<< 

674<<>45=EF6<O 6=GFD< 
>FD4E?< 4?O ?>6OL5=<O 

MDD5>F<6=>EF< 
45OF5?L=>EF< 6E5E 

GG4EF=<>>6

�>=<F>D<=7 < >>=FD>?L 
D54?<74F<< EFD4F57<< 

?>6OL5=<O 
>>=>GD5=F>E?>E>5=>EF<
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EFD4F57<< >F6>4<FEO =5?>ED54EF65==> <=65EF<F<>==>= < <==>64F<>==>-

F5E=>?>7<G5E>>= E>EF46?ONM5=. &4> 6 >4G5EF65 ?D>4>?65=<O 44==>= EFD4F57<< 

< =4 >E=>64=<< ?D>6545==>7> 4=4?<74 ?D54?4745FEO D47D45>F>4 EFD4F57<G5E>>= 

>4DFO D476<F<O, ?D54EF46?5==>= =4 D<EG=>5 12. 

 

 
 

$<EG=>> 12 2 %FD4F57<G5E>4O >4DF4 D476<F<O <==>64F<>==OE  
?D>F5EE>6  =4 =5DF5747>6OE ?D54?D<OF<OE 

 

&4> ?D54?4745<4O >4DF4 O6?O5FEO D4>F>D>< 4?O >55E?5G5=<O 

M>>=><<G5E>>= 557>?4E=>EF< =5DF5747>6OE ?D54?D<OF<= ?>ED54EF6>< 

>55E?5G5=<O < E>65DL5=EF6>64=<O 6E5E 55 E>EF46?ONM<E: D<=4=E>6OE, 

'65?<G5=<5 

<==>64F<>==>= 

?D>4G>F<<  

�D<D>EF 

>4?<F4?4  

  

�>6OL5=<5 

MDD5>F<6=>EF<  

�44D>64O 

E>EF46?ONM4O  

&5E=>?>7<G5E>4O 

E>EF46?ONM4O 

�=D>D<4F<>==4O 

E>EF46?ONM4O 

�=65EF<F<>==4O 

E>EF46?ONM4O 

->>=><<G5E>4O 

E>EF46?ONM4O  

�5GG5=<5 < <>F<64F<O E>FDG4=<>>6 

'E<?5=<5 ><55D557>?4E=>EF< =4 ?D54?D<OF<OE 
=5DF5747>6>7> >><??5>E4, <E?>?L7>64=<5 

F<DD>6OE F5E=>?>7<=  

�>EG44DEF65==4O ?>445D6>4 <=65EF<F<>==OE 
?D>5>F>6 

%>65DL5=EF6>64=<5 6>EFD55>64==>EF< 
?D>4G>F<<, 6=5L=<5 DO=>< 

  

%>65DL5=EF6>64=<5 <4F5D<4?L=>-?D><76>4EF65==>= 
547O 

�
�
�
% 
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<=D>D<4F<>==OE, F5E=>?>7<G5E><E, >44D>6OE < <<=65EF<F<>==OE. 

%F><F >F<5F<FL F>F D4>F, GF> 6 E>6D5<5==OE D54?<OE EGM5EF6G5F 3 F<?4 

6>E?D<=<<45<>EF< <==>64F<>==OE EFD4F57<G5E><E ?D>5>F>6, ?D<G5< 

G=<>4?L=>EFL DO=>G=>7> ?D54?>65=<O >F=>E<FEO > FDG4=> D54?<7G5<O<.  

�D>4>?64O «<45N EFD4F57<G5E>>= >4DFO, EF><F >F<5F<FL, GF> 

?D54?4745<O= ?>4E>4 > >F5=>5 <==>64F<>==OE 6>7<>6=>EF5= ?D54?D<OF<O, 

>E=>64==O= =4 <7<5D5=<< <==>64F<>==>7> ?>F5=F<4?4 >4> D5EGDE=>= 

E>EF46?ONM5= < >?D545?5=<< F<?4 <==>64F<>==>= 6>E?D<=<<45<>EF< 

D54?<7G5<OE ?D54?D<OF<5< ?D>5>F>6, >F65G45F FD55>64=<O< E<EF5<=>EF< < 

445>64F=>EF< < 6>?NG45F E?54GNM<5 MF4?O» [32] (D<EG=>> 13). 

 

 

 

$<EG=>> 13 2 �>4E>4 > >F5=>5 <==>64F<>==OE 6>7<>6=>EF5= ?D54?D<OF<O 

 

�5F>4>?>7<O, D47D45>F4==4O 4?O >F5=>< EFD4F57<G5E><E <==>64F<>==OE 

6>7<>6=>EF5= =5DF5747>6OE >><?4=<=, >F?<G45FEO >F EGM5EF6GNM<E <5F>4>6: 

�O5>D ?>>474F5?5= 
<==>64F<>==>7> ?>F5=F<4?4 ?> 

G5FOD5< E>EF46?ONM<<

�7<5D5=<5 >F45?L=OE ?>>474F5?5= 
(?>>474F5?O<, >>F>DO5 =5 <>7GF 
5OFL <7<5D5=O >>?<G5EF65==>, 

445FEO >4G5EF65==4O >F5=>4)

�?D545?5=<5 ?> <5F>4G 
D4EEF4=>6>< ?D<>D<F5F>6 

7=4G<<>EF< E>EF46?ONM<E 
<==>64F<>==>7> ?>F5=F<4?4 < 

?>>474F5?5= 6=GFD< >464>= 
E>EF46?ONM5=

$4EG5F GD>6=O <==>64F<>==>7> 
?>F5=F<4?4 ?D54?D<OF<O

�?D545?5=<5 F<?4 <==>64F<>==>= 
6>E?D<=<<45<>EF< ?D>5>F>6 

?D54?D<OF<5< =4 >E=>65 
M>E?5DF=>= >F5=>< D54?<7G5<OE 

<==>64F<>==OE ?D>5>F>6 ?> 
>?4EE<D<>4F<>==O< ?D<7=4>4<

�?D545?5=<5 <==>64F<>==OE 
6>7<>6=>EF5= <==>64F<>==>= 

6>E?D<=<<45<>EF< D54?<7G5<OE 
?D54?D<OF<5< ?D>5>F>6
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ý 6 ?D54?4745<>= <5F>4<>5 <E?>?L7GNFEO >>?<G5EF65==O5 < 

>4G5EF65==O5 ?>>474F5?<, ?>76>?ONM<5 >><??5>E=> >F5=<FL 

<==>64F<>==O= ?D>F5EE 6 >><?4=<< (4>?7>ED>G=O5 <=65EF<F<<, 

<==>64F<>==O= >?<<4F, >4?<F4?L=O5 74FD4FO 2 F5E=<G5E><5 ?>>474F5?<; 

G<EF4O ?D<5O?L, 74D45>F=4O ??4F4, EFD4E>6O5 67=>EO 2 D<=4=E>6O5 

?>>474F5?<; EG5E<4<<, GG55=O5 >GDEO, DD4=L<7O 2 <=F5??5>FG4?L=O5 

?>>474F5?<; <=65EF<F<< 6 74?4EO, =57465DL5==>5 EFD><F5?LEF6> 2 

F5E=<G5E><5 ?>>474F5?<);  

ý <7<5=5=<5 E>EF464 D4EE<4FD<645<OE ?>>474F5?5= 4?O 444?F4F<< 

?D54?4745<>= <5F>4<>< > D54?<O< =5DF5747>6OE >><?4=<=; 

ý 6>7<>6=>EFL D47D45>F>< D5>><5=44F<= 4?O DG>>6>4EF64 ?> 5>?55 

MDD5>F<6=><G <E?>?L7>64=<N EFD4F57<G5E>>7> 4?LF5D=4F<6=>7> 

<==>64F<>==>7> ?>F5=F<4?4 >><?4=<< =4 >E=>65 6O5>D4 ?D<>D<F5F=OE 

=4?D46?5=<= <==>64F<>==>7> D476<F<O. 

� >>=5G=>< <F>75, 7=4G5=<O, ?>?GG5==O5 6 D57G?LF4F5 >F5=>< 

<==>64F<>==>= ?D<6?5>4F5?L=>EF< >><?4=<<, =5 F>?L>> >?D545?ONF 7>F>6=>EFL 

>><?4=<< > <==>64F<>==>= 45OF5?L=>EF<, => < ?>76>?ONF ?>F5=F<4?L=O< 

<=65EF>D4< ED46=<FL ?>F5=F<4? D47?<G=OE >><?4=<= 4?O >EGM5EF6?5=<O 

<==>64F<>==>= 45OF5?L=>EF<. �=GFD< >><?4=<< MF4 >F5=>4 6OO6?O5F E<?L=O5 < 

E?45O5 EF>D>=O <==>64F<>==>= ?D<6?5>4F5?L=>EF< >><?4=<< <, E4<>5 7?46=>5, 

>?D545?O5F «?D>55?O», =44 >>F>DO<< =5>5E>4<<> G?>D=> D45>F4FL, GF>5O 

?>6OE<FL GD>65=L <==>64F<>==>= ?D<6?5>4F5?L=>EF<. 

�> <F>74< ?D>6545==>7> 4=4?<74, EF><F >F<5F<FL, GF> F>?L>> >4=> 

?D54?D<OF<5 ��� «%565D=5DF5747?D><», 6E>4OM55 6 EFDG>FGDG ��� «�47?D><» 

=5 ?>?4445F ?>4 E5>F<>==O5 <5D>?D<OF<O �6D>E>N74. �4 >E=>64=<< 

?D>6545==>7> <EE?54>64=<O >>=>GD5=F>E?>E>5=>EF< =4 6=5L=5< DO=>5, 5O?4 

>?D545?5=4 =5>5E>4<<>EFL ?>7?>M5=<O 74DG556=>7> DO=>4 6 F5?OE GE<?5=<O 

D>EE<=E>>7> =5DF5747>6>7> E5>F>D4. �4=<< <7 =4?D46?5=<= ?>6OL5=<O 
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>>=>GD5=F>E?>E>5=>EF< 4?O �� «%<5=5DF5747» < �� «$>E?4= �=F5D=5L=?» < 

?>6OL5=<O 4>EFG?=>EF< 6=5L=<E DO=>>6 <>65F EF4FL >5N54<=5=<5 GE<?<= E 

>4=>= <7 >><?4=<=->>=>GD5=F>6 ?> EE5<5, ?D54EF46?5==>= =4 D<EG=>5 14. 

 

 

 
$<EG=>> 14 3 �5E4=<7< >5N54<=5=<O >>=>GD5=F=OE GE<?<=                                 

��� «%565D=5DF5747?D><» < >><?4=<=->>=>GD5=F>6 
 

�D54?4745<O= «<5E4=<7< >5N54<=5=<O GE<?<= <>65F 5OFL D54?<7>64= 

E?54GNM<< >5D47><:  

ý <<5O 5>?55 6OE>><= GD>65=L 4>EFG?4 > <5EF=><G (4?O ��� 

«%565D=5DF5747?D><» 3 6=5L=5<G DO=>G), >><?4=<O->>=>GD5=F <>65F 

?D<=<<4FL EGM5EF65==> 5>?LL55 G<E?> 74>47>6 4?O D45>FO =4 DO=>5 ��� 

«%565D=5DF5747?D><», F4> >4> E<>65F ?>7<F<>=<D>64FL E55O, >4> 

>><?4=<N, <<5NMGN >?OF D45>FO E 44==>= >><?4=<5= < 7=4=<5 

>E>55==>EF5= DO=>4;  

��� «%565D=5DF5747?D><» �� «$>E?4= �=F5D=5L=?» 
�� «%<5=5DF5747» 

 

�?<5=FO 

$O=>> ��� «%565D=5DF5747?D><» 
 

�=5L=<= DO=>>  
��� «%565D=5DF5747?D><» 

�5D544G4 
G4EF< 

?D<5O?< 
�??4F4 
74>474  

$47<5M5=<5 
74>474  

$45>F4 =4 DO=>5 ��� «%565D=5DF5747?D><» 
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ý 44==O5 >>=>GD5=F=O5 ?D5<<GM5EF64 5G4GF 4>EF<7=GFO ?GF5< 

674<<>45=EF6<O E ��� «%565D=5DF5747?D><» - ?> ?D<=F<?G 4GFE>DE<=74 

?D<=<<4O =4 E55O <E?>?=5=<5 44==OE 74>47>6;  

ý ?> <E?>?=5=<N 74>474 < ?>?GG5=<N >??4FO ��� 

«%565D=5DF5747?D><» 5G45F 6O??4G<64FL GEF4=>6?5==GN =>D<G <4D6< 

(?D<5O?<) >><?4=<<-?4DF=5DG» [22].  

�D54?>65==O= <5E4=<7< 5G45F 6O7>45= 4?O 6E5E FD5E >><?4=<=, 6>7<>6=> 

?>?GG5=<5 E<=5D75F<G5E>>7> MDD5>F4. 

�4 >E=>64=<< ?D>6545==>7> D4=55 4=4?<74 5O?< 6OO6?5=O =54>EF4F><, 

>5N54<=ONM<5 6E5 FD< >><?4=<<, > =<< >F=>EOFEO: 

2 =<7><= GD>65=L 74FD4F =4 ����$; 

2 =54>EF4F>G=O5 6?>65=<O 6 =5<4F5D<4?L=O5 4>F<6O; 

2 <7=>L5==>EFL >5N5>F>6 >E=>6=OE ED54EF6. 

� >4G5EF65 >D<F5D<56 >F5=>< 4>EF<65=<O EFD4F57<< ?>6OL5=<O 

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE ?D54?D<OF<= <>65F <E?>?L7>64FLEO 

E?54GNM4O E>6>>G?=>EFL ?>>474F5?5=, >>F>DO5 <>7GF 5OFL D4745?5=O =4 465 

7DG??O: >E=>6=O5 < 4>?>?=<F5?L=O5 (D<EG=>> 15). 

�5F>4 D4EG5F4 7=4G5=<= F5?56OE <=4<>4F>D>6 4>?65= >E=>6O64FLEO =4 

>F5=>5 < <=F5D?D5F4F<< ?5D6<G=OE 44==OE, ?>?GG5==OE 6 D57G?LF4F5 4=4?<74 

6>7<>6=>EF5= < ?5DE?5>F<6 >><?4=<=. 

�D< >?D545?5=<< >>=65=5D4 ?D>5>F>6 ?D<>D<F5F 4>?65= >F4464FLEO 

?D>5>F4<, =4?D46?5==O< =4 ?<>6<44F<N F5E=<G5E>>= < F5E=>?>7<G5E>>= 

>FEF4?>EF< =5DF5747>6OE >><?4=<=, 6>?NG4O <>45D=<74F<N ?D><76>4EF65==OE 

4>F<6>6 < ?D><76>4EF65==>= <=DD4EFDG>FGDO. � F> 65 6D5<O =5 <5=55 646=O 

?D>5>FO, =4?D46?5==O5 =4 D47D45>F>G < ?D><76>4EF6> ?5DE?5>F<6=>7> < 

F5E=>?>7<G=>7> ?D><OL?5==>7> >5>DG4>64=<O, ?D54=47=4G5==>7> 4?O 

G4>6?5F6>D5=<O ?>FD55=>EF5= ?D<>D<F5F=OE ?>FD55<F5?5= < >5?444NM57> 

6OE>><< M>E?>DF=O< ?>F5=F<4?><.   
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$<EG=>> 15 2 �>>474F5?< >F5=>< 4>EF<65=<O >>=>GD5=F>E?>E>5=>EF< 

 

$47D45>F>4 < D54?<74F<O <==>64F<>==>= EFD4F57<< E>?DO65=4 E 

>?D545?5==>= EF5?5=LN D<E>4. �>MF><G ?N5>= ?D>F5EE 4>?65= 5OFL 7<5><< < 

GG<FO64FL DO4 D4>F>D>6, 6?<ONM<E =4 >><?4=<N < DO=>>. �N54O 

D5EFDG>FGD<74F<O < D5>D74=<74F<O >><?4=<< FD55G5F 4>?>?=<F5?L=>7> ??4=4, 

>>F>DO= ?>76>?<F 6O65EF< >><?4=<N =4 =>6O= >4G5EF65==O= GD>65=L. �5DO, 

>>F>DO5 =5>5E>4<<> ?D54?D<=OFL =4 >E=>65 4=4?<74 EGM5EF6GNM<E ?D>5?5<: 

4) =5>5E>4<<> 6=54D<FL ?D>7D4G=O= 4=4?<F<G5E><= ?>4E>4 > 

??4=<D>64=<N ?D>5>F>6 (?D<=F<?O: >?D545?5=<5 ?>FD55=>EF5= ?> 

M?5<5=F4< ?D><76>4EF64, ??4=<D>64=<5 ?D>5>F>6 < D45>F ?> 7D4D<>G, 

??4=<D>64=<5 74FD4F =4 >E=>65 54<=>= <5F>4>?>7<<). �=54D5=<5 

4=4?<F<G5E><E <5F>4>6 ??4=<D>64=<O 4>?6=> 6>?NG4FL E?54GNM<5 MF4?O:  

1) >?D545?5=<5 <5F>44 4=4?<F<G5E>>7> ??4=<D>64=<O 4?O >464>= 

DG=>F<>=4?L=>= >5?4EF<;  

2) D47D45>F>4 <=EFDG<5=F>6;  

�E=>6=O5

" E>6>>G?=4O 6ODGG>4 ?D54?D<OF<=, 
<?D4 DG5.

" >>?<G5EF6> =>6OE D45>G<E <5EF, 
54.

" >5N5< ?D<6?5G5==OE <=65EF<F<=, 
<?D4,DG5.

" 4>?O <==>64F<>==OE F<?>6 
>5>DG4>64=<O < ?D><OL?5==>= 
?D>4G>F<< 6 >5M5< >5N5<5 
?D><76>4EF64,%

" >5N5< ?D<6?5G5==OE <=65EF<F<=, 
<?D4.DG5.

" 4>?O M>E?>DF=>= ?D>4G>F<<, %

�>?>?=<F5?L=O5

" F5<?OG65?<G5=<O EF><<>EF< 
?D><76>4EF65==OE D>=4>6, %

" F5<?O D>EF4 ED54=5= 74D45>F=>= 
??4FO, %

" F5<?O D>EF4 ?D><76>4<F5?L=>EF< 
FDG44, %

" F5<?O D>EF4 D4EE>4>6 =4 ����$, 
% >F >5M57> >5>D>F4

" >>?<G5EF6> ?>?GG5==OE =>6OE 
?4F5=F>6 < 74>?NG5==OE 
?<F5=7<>==OE E>7?4L5=<=, 54.

" F5<?O D>EF4 >5N5<>6 ?D>4G>F<<, 
?D><76545==>= E <E?>?L7>64=<5< 
<5E4=<7<>6 4GFE>DE<=74 < 
EG5>>=FD4>F4F<<, %
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3) >5GG5=<5 ?5DE>=4?4;  

4) D4E?D545?5=<5 >5O74==>EF5=;  

5) D>D<4?<74F<O <5F>4>?>7<<; 

6) E>65DL5=EF6>64=<5 G?D46?5=G5E>>= >FG5F=>EF< 4?O 

G4>6?5F6>D5=<O FD55>64=<= 6E5E GD>6=5= G?D46?5=<O (&$�); 

5) =5>5E>4<<> 6=54D5=<5 ?D>F54GD <>=<F>D<=74 =4 >E=>65 G?D46?5=G5E><E 

>FG5F>6, ?>47>F>6?5==OE E D47?<G=O<< GD>6=O<< 4=4?<74 < <>=<F>D<=74 

4?O D47?<G=OE F<?>6 ?D>5>F>6:  

7)  >?D545?5=<5  <  74>D5??5=<5  D>?5=  <   >5O74==>EF5=  GG4EF=<>>6               

     ?D>F5EE4;  

8) <>=<F>D<=7: >EGM5EF6?5=<5 <>=<F>D<=74, ?D>6>4<<>7> 

�><<EE<5=, 6 G4EF=>EF< D54?<74F<O >>DD5>F<DGNM<E 45=EF6<= < 

<>=<F>D<=7 <E MDD5>F<6=>EF<; 

9) D476<F<5 M>E?5DF=OE 7=4=<= ?5DE>=4?4. 

'5F>>5 D4745?5=<5 74FD4F =4 ?>EF>O==O5 < ?5D5<5==O5 =5>5E>4<<> 4?O 

7<5>>7> 5N465F<D>64=<O. �>EF>O==O5 74FD4FO ?<5> ?>EF>O==O, ?<5> 

>>DD5>F<DGNFEO E GG5F>< <=D?OF<<.  

�5D5<5==O5 74FD4FO D4EEG<FO64NFEO 6 746<E<<>EF< >F >>=>D5F=>7> 

?>>474F5?O (?D>446< <?< 74>G?><, D45>G55 6D5<O >?D545?5==OE >4F57>D<= 

E>FDG4=<>>6, E>?44E><5 ??>M44< < F.4.). %>>F65FEF6<5 <?< =5E>>F65FEF6<5 

44==>= EF4FL5 5N465F4 <>65F 5OFL >?D545?5=> F>?L>> ?GF5< ED46=5=<O 

D4>F<G5E><E D4EE>4>6 E> E>>DD5>F<D>64==O< ??4=><, 4 =5 E ?5D6>=4G4?L=> 

74??4=<D>64==O<< D4EE>44<<. 

�><<<> ?5D5E<>FD4 F5?56OE ?>>474F5?5= D4EE>4>6, ?5D5E<4FD<64NFEO 

F4>65 ?>>474F5?< 74?4E>6, ?>F>>>6, 455<F>DE>>= < >D54<F>DE>>= 744>?65==>EF<. 

&5?56O5 7=4G5=<O MF<E ?>>474F5?5= ?5D5EG<FO64NFEO =4 >E=>65 

74??4=<D>64==OE ?>F>>>6. &>?L>> ED46=<6 D4>F<G5E><5 ?>>474F5?< E 

?5D5E<>FD5==O<<, <>6=> >?D545?<FL, 5O? ?< 6O?>?=5= ??4=.  
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�4 >E=>64=<< D57G?LF4F>6 4=4?<74 D47=<FO <564G D4>F<G5E><<< < 

??4=>6O<< 7=4G5=<O<< 5N465F=OE ?>>474F5?5= ??4= <>65F >>DD5>F<D>64FLEO 

565<5EOG=> 6 E>>F65FEF6<< E D5L5=<5< �N465F=>7> >><<F5F4 E F5?LN 

4>EF<65=<O 7>4>6>7> ??4=4 (>?NG56OE ?>>474F5?5=). � E?GG45 E<EF5<4F<G5E>>7> 

=54>EF<65=<O (6 F5G5=<5 >4=>7> >64DF4?4) 7>4>6>= ??4= <>65F 5OFL 

E>>DD5>F<D>64=, 4 EFD4F57<O <7<5=5=4 6 E>>F65FEF6<< E D5L5=<5< �N465F=>7> 

>><<F5F4. 

&4><< >5D47><, ?D54EF46?5==4O EFD4F57<O >55E?5G5=<O 

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6OE ?D54?D<OF<= 547<DG5FEO =4 D476<F<< 

<==>64F<>==>7>, F5E=>?>7<G5E>>7> < <=65EF<F<>==>7> ?>F5=F<4?4 ?D54?D<OF<= 

?>ED54EF6>< E>6<5EF=>7> E>FDG4=<G5EF64 < ?D>46<65=<O =4 6=5L=<5 DO=><. 

�D< MF>< ?D54?>65==4O EFD4F57<O 6> 7?465 >>F>D>= EF><F EFD4F57<G5E>4O >4DF4 

>>=>GD5=F>E?>E>5=>EF< ?>ED54EF6>< <==>64F<>==>7> D476<F<O ?D54?D<OF<= 

?>76>?O5F >55E?5G<FL 6OE>><= GD>65=L >55E?5G5=<O M>>=><<G5E>>= 

557>?4E=>EF< ?D54?D<OF<=. 

 

3.2 �F5=>4 M>>=><<G5E>>= MDD5>F<6=>EF< 6=54D5=<O 6 45OF5?L=>EFL 

=5DF5747>6OE >D74=<74F<= D47D45>F4==OE <5F>4<G5E><E ?>?>65=<= 

 

�D<G<=4<< 4>F<6=>7> D476<F<O =>6OE F5E=>?>7<= 6 4>5O64NM5< < 

?5D5D454FO64NM5< E5>F>D5 O6?ONFEO GEG4L5=<5 E>EF>O=<O D5EGDE=>= 547O < 

GE<?5=<5 >>=>GD5=F<< =4 <<D>6OE DO=>4E. 

�5EOFL ?5F «E?GEFO F<DD>6O5 D5L5=<O 6E5 7?G565 ?D>=<>4NF 6 5<7=5E-

?D>F5EEO =5DF5747>6OE >><?4=<=, < E5>F>D 4>F<6=> E>FDG4=<G45F E IT-

>><?4=<O<< < E>7445F E>5EF65==O5 F5=FDO ?5D54>6>7> >?OF4 6 MF>= >5?4EF<.  

-F>F ?D>F5EE O6?O5FEO D57G?LF4F>< =>6>= F5E=>?>7<G5E>>= D56>?NF<< ?>4 

=4764=<5< �=4GEFD<O 4.0, =5?>ED54EF65==>= G4EFLN >>F>D>= O6?O5FEO 

F<DD>6<74F<O E5>F>D4. � =5DF54>5OG5 >=4 ?D54?>?4745F D476<F<5 < 6=54D5=<5 
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D5L5=<= ?> E?54GNM<< >?NG56O< F5E=>?>7<G5E><< =4?D46?5=<O<:  

3 5>?LL<5 44==O5 (6>?NG4O <E>GEEF65==O= <=F5??5>F < <4L<==>5 

>5GG5=<5) 2 <=EFDG<5=FO < <5F>4O 4?O >D74=<74F<<, ED4=5=<O, >5D45>F><, 

4>EFG?4 < 6OG<E?5=<O >7D><=OE <4EE<6>6, 44==OE; 

3 ?D><OL?5==O= �=F5D=5F 65M5= (IoT) 2 E<EF5<4 674<<>E6O74==OE 

E5F5= ?5D544G< 44==OE < 674<<>E6O74==OE D<7<G5E><E >5N5>F>6 (65M5=) 

E> 6EFD>5==O<< 44FG<>4<< < ?D>7D4<<=O< >55E?5G5=<5< 4?O E5>D4 < 

>5<5=4 44==O<<, E 6>7<>6=>EFLN G44?5==>7> <>=<F>D<=74 < G?D46?5=<O 6 

46F><4F<7<D>64==>< ?D>EFD4=EF65; 

3 D>5>FO < 55E?<?>F=<><, >>F>DO5 ?><>74NF 46F><4F<7<D>64FL 

?D>F5EEO, 6O?>?=OFL >?4E=O5 D45>FO < ?D>6>4<FL 6<7G4?L=O5 

<EE?54>64=<O 6 FDG4=>4>EFG?=OE <5EF4E, =4?D<<5D, 6 <5EF4E ?>46>4=>= 

4>5OG< ?>?57=OE <E>>?45<OE; 

3 F<DD>6O5 46>==<>< 2 <>45?L <5EF>D>645=<O, E>646<=O, >5N5>F4 <?< 

<=DD4EFDG>FGDO, >>F>DGN <>6=> <E?>?L7>64FL 4?O F5EF<D>64=<O < 

?D>7=>7<D>64=<O 6>745=EF6<O 4?LF5D=4F<6/D5L5=<= < 6<7G4?<74F<< 

D57G?LF4F>6 6 G4>5=>= 4?O ?>?L7>64F5?O D>D<5. �=< G4EF> E>G5F4NFEO E 

<=EFDG<5=F4<< 4>?>?=5==>= D54?L=>EF<. 

3 G<=O5 <4F5D<4?O 2 MF> >?4EE <4F5D<4?>6 E D47?<G=O<< 47D574F=O<< 

E>EF>O=<O<<, >>F>DO5 E>ED4=ONF <?< ?D<>5D5F4NF >?D545?5==O5 

D<7<G5E><5 < E<<<G5E><5 E6>=EF64 ?D< <7<5=5=<< 6=5L=<E GE?>6<=, 4465 

6 M>EFD5<4?L=OE GE?>6<OE» [36]. 

� 7>D=>4>5O64NM5= ?D><OL?5==>EF< 3D-?5G4FL <E?>?L7G5FEO 4?O 

E>744=<O ?D>F>F<?>6 ?D>5>F>6 D476<F<O < ?D>7D4<< D47D45>F>< ?>4L<?=<>>6, 4 

F4>65 4?O ?D><76>4EF64 =>6OE 45F4?5= 4?O 44FG<>>6 < E<EF5< G?D46?5=<O, 

=4E>E>6 < 4DG7>7> =57454D<F=>7> >5>DG4>64=<O. 

$4E?D545?5==O= D55EFD (5?>>G5==) 2 MF> D4E?D545?5==>5 < ?G5?<G=>5 
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?D<?>65=<5, >>F>D>5 ?>76>?O5F >EGM5EF6?OFL D57<EFD4F<N < >55E?5G<645F 

6OE>><= GD>65=L 557>?4E=>EF< E<EF5<O. 

% «F>G>< 7D5=<O ?>F5=F<4?L=OE M>>=><<G5E><E 6O7>4 4?O =5DFO=>= 

?D><OL?5==>EF< =4<5>?55 ?5DE?5>F<6=O<< O6?ONFEO �>?LL<5 44==O5, 

�=F5D=5F 65M5= < F<DD>6O5 46>==<><.  �46=> ?>=<<4FL, GF> F<DD>6O5 

F5E=>?>7<< 2 MF> 6 >E=>6=>< D5L5=<O 6 >5?4EF< <=D>D<4F<>==OE F5E=>?>7<=. 

�57 =<E D47654>4 < 4>5OG4 EODLO =5 ?D5>D4F<?<EL 5O, => >=< <>7GF 7=4G<F5?L=> 

?>6OE<FL MDD5>F<6=>EFL ?D><76>4EF65==OE ?D>F5EE>6 >><?4=<< 74 EG5F 

>?F<<<74F<< < 4=4?<74 44==OE. �>MF><G 6?<O=<5 F<DD>6<74F<< =56>7<>6=> 

>F5=<FL 557 GG5F4 >5M<E F5E=>?>7<G5E><E F5=45=F<= 6 >FD4E?<» [42].  

 %>G5F4=<5 D476<F<O F<DD>6OE D5L5=<= < ?D><76>4EF65==OE F5E=>?>7<= 

?D54EF46?O5F E>5>= F<DD>6GN FD4=ED>D<4F<N E5>F>D4. �5 6?<O=<5, >>F>D>5 G65 

74<5F=> 6 >>=>D5F=OE E?GG4OE, 74>?NG45FEO 7?46=O< >5D47>< 6 G65?<G5=<< 

F5E=<G5E>< ?D<7>4=OE 74?4E>6. �>-6F>DOE, EF><<>EFL =>6>7> ?D><76>4EF64 

EF4=5F 45L56?5. � D57G?LF4F5 >D<64O ?D54?>65=<O =5DF< 4>?6=4 5G45F 

E<5EF<FLEO.  

&4> «6 >FG5F5 Technology Outlook Update ?D>7=>7<DG5FEO G65?<G5=<5 

F5E=<G5E>< <76?5>45<OE 74?4E>6 =5DF< 5>?55 G5< =4 1 FD<??<>= 54DD5?5= > 2050 

7>4G < E=<65=<5 E555EF><<>EF< 6 ED54=5< =4 30%. �>E?54EF6<O F4>>7> E46<74 

<>7GF 5OFL >7D><=O<< 4?O >FD4E?<. -F>, 6 E6>N >G5D54L, ?D<6545F > E=<65=<N 

F5= =4 =5DFL» [43]. 

 �4?D<<5D, «5E?< ?D54?>?>6<FL, GF> F5E=<G5E>< <76?5>45<O5 74?4EO 

6OD4EFGF =4 30% 6 E>>F65FEF6<< E >6<44=<O<<, 4 74FD4FO E=<7OFEO =4 30% > 2030-

2035 7>44<, F> F>G>4 557G5OF>G=>EF< 4?O 74>DOF>7> ?>EF46M<>4 6 2035 7>4G 

E>EF46<F 100-115 <<??<>=>6 54DD5?5= 6 45=L ?D< F5=5 40-50 4>??4D>6 74 54DD5?L.  

-F> 6 E6>N >G5D54L =5 F>?L>> 6O446<F G4EFL ?>EF46M<>>6 E DO=>4, => < G65?<G<F 

<56F>??<6=GN >>=>GD5=F<N, 6 F.G. E ��-» [40].  

% F>G>< 7D5=<= >><?4=<= < 7>EG44DEF64 646=4 =5 4>5OG4 =5DF<, 4 
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M>>=><<G5E><= MDD5>F >F =55. � =4EF>OM55 6D5<O 4<E>>=F<D>64==O5 4>E>4O 

7>EG44DEF64 ?> 5>?LL5= G4EF< E>EF>OF <7 6O??4F ���� < M>E?>DF=>= ?>L?<=O, 

>>F>DO5 E<?L=> 746<EOF >F >>F<D>6>> =4 =5DFL. �E >E>55==>EFL E>EF><F 6 F><, 

GF> ?D< D>EF5 F5=O 7>EG44DEF6> <7O<45F 5>?LLGN 4>?N 6 6<45 =4?>7>6. �>MF><G 

6>7<>6=>5 ?445=<5 =5DFO=OE >>F<D>6>> <7-74 7?>54?L=>= F<DD>6>= 

FD4=ED>D<4F<< E>>D4F<F >5N5< ?>EFG??5=<= =4 18 %, <?< =4 9,4 FD?= DG5. 6 

D54?L=>< 6OD465=<< 74 2018-2035 77. ?> ED46=5=<N E >?F<<<EF<G5E><< 

EF5=4D<5< �D>5>F4 -=5D7>EFD4F57<< $$. �><?5=E<D>64FL 35 %, <?< 3 FD?= DG5. 

>F 6O?444NM<E D54?L=OE 4>E>4>6 7>EG44DEF64, ?>76>?<F ?D<D>EF >5N5<>6 

4>5OG< =5DF< 6 EF5=4D<< «F<DD>64O FD4=ED>D<4F<O» (D<EG=>> 16) [45]. 

 

 

 
$<EG=>> 16 2 $4>F>D=O= 4=4?<7 =4>>??5==>7> 4<E>>=F<D>64==>7> 4>E>44 

7>EG44DEF64 (���)* 6 D54?L=>< 6OD465=<< 74 2018-2035 77., FD?= DG5. 
 

�FD4E?56>= «MDD5>F 5G45F 5>?55 7=4G<F5?L=O<, E>FO E=<65=<5 F5= =4 

=5DFL E> 100 4>??/54DD ?D< E>ED4=ONM<EEO >5N5<4E F4>65 >>465F =574F<6=O= 

MDD5>F, -19 %, <?< 2,4 FD?= DG5. 6 D54?L=>< 6OD465=<< >F >5M57> G<EF>7> 
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?D<6545==>7> 4>E>44 >FD4E?< (NPV). �>?>6<=G ?>F5=F<4?L=> =54>?>?GG5==>= 

6O7>4O E<>65F ?>>DOFL ?D<D>EF >5N5<>6 4>5OG<» [43].  

�> >E=>6=>= ?>?>6<F5?L=O= MDD5>F 4?O >FD4E?< ?D><7>=45F G5D57 

E>>D4M5=<5 >?5D4F<>==OE < >4?<F4?L=OE 74FD4F. -F> ?D<=5E5F >><?4=<O< 

4>?>?=<F5?L=O5 2,2 FD?= DG5. NPV, GF> ?>?=>EFLN ?>>D>5F 6O?444NM<5 4>E>4O 

>F ?445=<O F5= =4 =5DFL 6 2018-2035 77. (D<EG=>> 17). 

 

 

 
$<EG=>> 17 2 $4>F>D=O= 4=4?<7 G<EF>= ?D<6545==>= EF><<>EF< 

=5DF54>5O64NM5= >FD4E?< (NPV) 6 D54?L=>< 6OD465=<< 74 2018-2035 77.,  
FD?= DG5. 

 

&4><< >5D47><, =5?L7O =5 >F<5F<FL G65?<G5=<5 G<EF>= ?D<5O?< ?D< 

6=54D5=<< F<DD>6OE F5E=>?>7<= 6 D4<>4E ?D54EF46?5==>7> 4=4?<74. &4> 4?O 

<EE?54G5<OE ?D54?D<OF<= >D4==5 4>FG4?L=O< 5G45F <E?>?L7>64=<5 ?D<?>65=<O 

>>=FD>?O < 4=4?<74 <5EF>D>645=<= «$�-���» (D<EG=>> 18). '?D46?5=<5 

D47D45>F>>= =5DF5747>6OE <5EF>D>645=<= ?>76>?O5F: 

2 65EF< >?5D4F<6=O= <>=<F>D<=7 >5N5>F>6 D47D45>F>< =5DFO=OE 

<5EF>D>645=<=; 

2 ?D>6>4<FL 4=4?<7 D47D45>F>< =5DFO=OE <5EF>D>645=<=; 
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2 D>D<<D>64FL 54<=GN 547G 75>?>7<<, 4>5OG<, 75>?>7>-F5E=<G5E><E 

<5D>?D<OF<= < <EE?54>64=<= E>646<=, 4>EFG?=GN 4?O 6E5E E?5F<4?<EF>6. 

 

 

 
$<EG=>> 18 2 �=F5DD5=E ?D<?>65=<O >>=FD>?O < 4=4?<74 <5EF>D>645=<=          

«$�-���» 
 

�>F5=F<4?L=> 7=4G<F5?L=>5 6?<O=<5 F<DD>6>= FD4=ED>D<4F<< =4 

=5DF5747>6O5 ?D54?D<OF<O FD55G5F 5?47>?D<OF=>7> <=65EF<F<>==>7> >?<<4F4, 6 

F>< G<E?5 ?>ED54EF6>< D57G?<D>64=<O < 7>EG44DEF65==>7> EF<<G?<D>64=<O. �>-

?5D6OE, =5>5E>4<<> E>744FL >?D545?5==GN «5?47>?D<OF=GN ED54G» 4?O 

4>F<6=>7> <E?>?L7>64=<O =>6OE F5E=>?>7<=, 6 F>< G<E?5:  

2 >55E?5G5=<5 <=D>D<4F<>==>= 557>?4E=>EF< < ><55D557>?4E=>EF<; 

2 E>744=<5 =>D<4F<6=>-?D46>6>= 547O 4?O =>6OE F5E=>?>7<=, 6 G4EF=>EF<, 

6 G4EF< EF4=44DF<74F<< < F5E=<G5E>>7> D57G?<D>64=<O; 

2 E>744=<5 >E=>6O 4?O =>6>= E<EF5<O >5GG5=<O ?5DE>=4?4, 

?>47>F>6?5==>7> 4?O D45>FO E =>6O<< F5E=>?>7<O<<; 
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2 D476<F<5 <=DD4EFDG>FGDO 4?O =>6OE F5E=>?>7<= (F<DD>6O5 F5=FDO 

>5D45>F>< 44==OE, 55E?D>6>4=O5 E5F< =>6>7> ?>>>?5=<O < F.4.). 

�E5 MF< M?5<5=FO 4>?6=O 5OFL 7>F>6O > F<DD>6>= FD4=ED>D<4F<< =5 

F>?L>> =5DF5747>6>= >FD4E?<, => < D>EE<=E>>= M>>=><<>< 6 F5?><. �>MF><G 6 

E>>F65FEF6<< E <564G=4D>4=>= ?D4>F<>>= 28 <N?O 2017 7>44 D4E?>DO65=<5< 

�D46<F5?LEF64 $$ 7 1632-D 5O?4 GF65D645=4 ?D>7D4<<4 «&<DD>64O M>>=><<>4 

$>EE<=E>>= $545D4F<<». �=4 D>D<<DG5F >D<5=F<DO < 7444G<, >>F>DO5 

=5>5E>4<<> D54?<7>64FL 4?O 6O?>?=5=<O 74O6?5==OE ??4=>6 F<DD>6>= 

FD4=ED>D<4F<< $>EE<<. � E>>F65FEF6<< E <<D>6>= ?D4>F<>>=, >464O= MF4? 

4>?65= >F65G4FL >?D545?5==O< GE?>6<O< 4?O 4>EF<65=<O GE?5E4. 

-DD5>F<6=>EFL ����$ 746<E<F >F =4?<G<O 5N465F=OE ED54EF6 =4 

<EE?54>64=<O, MDD5>F<6=OE =4?>7>6OE EF<<G?>6 4?O 5<7=5E4 6 ED5D5 ����$, 

E>744=<O ??4FD>D< 4?O E>FDG4=<G5EF64 =4G>< < 5<7=5E4, ?>445D6>< 

G=<65DE<F5F>6. � MF>< >>=F5>EF5 >E=>6=O<< 54DL5D4<< =4 ?GF< 

F5E=>?>7<G5E>>7> D476<F<O < F<DD>6>= FD4=ED>D<4F<<, >>F>DO5 =5>5E>4<<> 

GEFD4=<FL 6 =5DFO=>< E5>F>D5, O6?ONFEO E?54GNM<5: 

2 =54>EF4F>G=O5 5N465F=O5 D5EGDEO =4 <EE?54>64=<O < =5MDD5>F<6=O5 

=4?>7>6O5 ?L7>FO 4?O >><?4=<= 6 ED5D5 ����$;  

2 =54>EF4F>G=>5 E>FDG4=<G5EF6> <564G =4GG=O<< >DG74<< < 

?D><OL?5==>EFLN, GF> ?D<6>4<F > >7D4=<G5==>= >D<5=F4F<< 

<EE?54>64=<= =4 >><<5DG5E><5 ?D>5>FO;  

2 =5D476<F>EFL <=65EF<F<>==OE DO=>>6 < 74>>=>44F5?LEF64 > ?D464E 

<=F5??5>FG4?L=>= E>5EF65==>EF< ?>4DO64NF E?>E>5=>EFL ?D<6?5>4FL 

ED54EF64 4?O 5>?55 D<E>>64==OE MF4?>6 ����$ < <EE?54>64=<=; 

2 =54>EF4F>G=4O «?>445D6>4 <4?OE =5DF5E5D6<E=OE >><?4=<= E=<645F 

>>=>GD5=F<N 6 E5>F>D5 <, E?54>64F5?L=>, EF<<G?O 4?O F5EF<D>64=<O =>6OE 

F5E=>?>7<=» [35];  

2 44<<=<EFD4F<6=O5 «54DL5DO, E6O74==O5 E =54D>?>?L7>64=<5< < 
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F5E=<G5E><< D57G?<D>64=<5<, ?>5G644NF >><?4=<< ?>>G?4FL 7>F>6GN 

?D>4G>F<N 74 DG556>< 6<5EF> F>7>, GF>5O D47D454FO64FL 55 

E4<>EF>OF5?L=>» [39]. 

�FEGFEF6<5 ?D<>D<F5F>6 D476<F<O F5E=>?>7<= 6 D>EE<=E>>= =5DFO=>= 

>FD4E?< E=<645F MDD5>F<6=>EFL 7>EG44DEF65==OE EF<<G?>6 < >E?45?O5F <=F5D5E 

=5DFO=>= >FD4E?< > 4>?7>ED>G=O< <=65EF<F<O<, 6 F>< G<E?5 <=65EF<F<O< 6 

F<DD>6O5 D5L5=<O. �>MF><G D>?L 6?4EF5= 6 F<DD>6>= FD4=ED>D<4F<< 

=5DF5747>6>= >FD4E?< 74>?NG45FEO 6 GEFD4=5=<< EGM5EF6GNM<E 

44<<=<EFD4F<6=OE 54DL5D>6 < E>744=<< E<EF5<O EF<<G?>6 ?> 6E5= F5?>G>5 

D476<F<O F5E=>?>7<= 2 >F <EE?54>64=<= < D47D45>F>> 4> 4>5OG<. -F> 

?>4D47G<5645F, 6 G4EF=>EF<, ?5D5E>4 >F ?D>EF>7> EF<<G?<D>64=<O >FD4E?< 

=5DF54>5OG< > E>744=<N =>6>= M>>E<EF5<O, E?>E>5EF6GNM5= <==>64F<O< 6 

>FD4E?< [46]. &4><< >5D47><, =4 >E=>64=<< ?D>6545==>7> <EE?54>64=<O, 5O?< 

6OO6?5=O >?NG56O5 =54>EF4F>< 6 D476<F<< >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6>7> E5>F>D4. &4> 46F>D>< 5O?> ?D54?>65=> E>5EF65==>5 >?D545?5=<5 

>>=>GD5=F>E?>E>5=>EF< =5DF5747>6>7> >><??5>E4 E GG5F>< F5>GM<E F5=45=F<=. 

� D45>F5 D47D45>F4=4 EFD4F57<O ?>6OL5=<O >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6OE ?D54?D<OF<O < D47D45>F4=4 EFD4F57<G5E>4O >4DF4 =4 >E=>65 

<==>64F<>==>7> ?>F5=F<4?4. �O?< ?D54?>65=O ?>>474F5?< >F5=>< 

>>=>GD5=F>E?>E>5=>EF< E GG5F>< 6OO6?5==OE ?D>5?5< =4 >E=>65 <>45D=<74F<< 

F5E=>?>7<G5E>>=, <=65EF<F<>==>= < <==>64F<>==>= E>EF46?ONM5=. �4> <F>7 

?D>6545==>7> <EE?54>64=<O >?D545?5=4 7=4G<<>EFL F<DD>6OE F5E=>?>7<= 4?O 

E5>F>D4 4>5OG< < D47654><.  $47D45>F4==O= 4?7>D<F< < ?D54EF46?5==O5 

<5D>?D<OF<O ?>76>?OF >55E?5G<FL 6OE>><= GD>65=L >>=>GD5=F>E?>E>5=>EF< 

=5DF5747>6>= >FD4E?< < >55E?5G<FL 6OE>><= GD>65=L E<EF5<O M>>=><<G5E>>= 

557>?4E=>EF< 44==>7> E5>F>D4 <, >4> E?54EF6<5, 6E5= EFD4=O 6 F5?><. 
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�4>?NG5=<5                                                                         

                                                                                    

�4 E>6D5<5==>< MF4?5 E GG5F>< 66545==OE E4=>F<= < >7D4=<G5=<= 4?O 

=5DF5747>6>7> >><??5>E4, 4>EF<65=<5 >>=>GD5=F>E?>E>5=>EF< 4>?6=> 

4>EF<74FLEO ?>ED54EF6>< ?>EF>O==>7> 6=GFD5==57> E>FDG4=<G5EF64 <564G 

?D54?D<OF<O<< =5DF5747>6>7> >><??5>E4 $$ < 674<<>45=EF6<O E 6=5L=<< 

DO=>>< ?>ED54EF6>< ?D54?D<OF<= =5 ?>?46L<= 6 E?<E>> E4=>F<>==OE 4?O 

�6D>E>N74. 

% ?>7<F<< 46F>D4, >>=>GD5=F>E?>E>5=>EFL =5DF5747>6>= >FD4E?< 

?D54EF46?O5F E>5>= E>EF>O=<5 F5E=<>>-<==>64F<>==>= < <=65EF<F<>==>= 

4>F<6=>EF< ?D54?D<OF<=, ?D54>EF46?ONM5= >>=>GD5=F=O5 ?D5<<GM5EF6 

>D74=<74F<<. 

�5D6>EF5?5==> =4 >E=>64=<< ?D>6545==>7> 4=4?<74 3 >DG?=5=L<E 

=5DF5747>6OE >><?4=<= =5>5E>4<<> D47D45>F4FL EFD4F57<N ?>6OL5=<O 

>>=>GD5=F>E?>E>5=>EF<. � =4L5< ?>=<<4=<<, EFD4F57<O ?>6OL5=<O 
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$2.2300 
�D<5O?L (G5OF>>) 4> 
=4?>7>>5?>65=<O 

5578440 7487800 10635100 2358560 

$2.2410 &5>GM<= =4?>7 =4 ?D<5O?L -2116370 -1537390 -2178350 1075180 

$2.2430 
�7<5=5=<5 >F?>65==OE =4?>7>6OE 
>5O74F5?LEF6 

79899 0 0 414437 

$2.2450 
�7<5=5=<5 >F?>65==OE =4?>7>6OE 
4>F<6>6 

866490 0 0 142447 

$2.2460 �D>G55 -1 -31 -163 -155 

$2.2400 '<EF4O ?D<5O?L (G5OF>>)  4408460 5950380 8456570 1840110 
 
 

 

 

 


